CAAP010790-MCE SOCIETY		019Pa 11ege	Pune-411 ttern Ledger	007 (CRED (Oct-	IT P/ -2020	ATTERN)			18-Jun-2021
CARDIO JO MEL SOCIETI	ADEDA INAM		PUNE .		221)	ARTS, SCIL	INCE AND		
INT Min 012 Max 030	028 0 070 0	15	PR 014 035	INT 000 000	Tot	Crd	Grd Gr Pr	rd Crd nt Pnt	
PRN: 1341910604 Seat	no.: 733			~~~~ TEF Al	~~~ HMED	ABDULLAH	AL SHAM	-~ ~~~ 1I Mother −	FAOZIA
FUNDAMENTALS OF COMPUTE BCA-111 P 012	RS * 070 -				082	4	A+	9 36	
PROBLEM SOLVING AND C P BCA-112 P 012	ROGRAMMING P 028 -				040	4	D	4 16	
APPLIED MATHEMATICS BCA-113 P 012	P 028 -				040	4	D	4 16	
BUSINESS COMMUNICATION BCA-114 P 023	P 028 -				051	4	В	6 24	
FUNDAMENTALS OF COMPUTE BCA-115	RS LABORATO		027		037	1.5	A	8 12	
C PROGRAMMING LABORATOR BCA-116	Y P 0	06 P	014		020	1.5	D	4 6	
APPLIED MATHEMATICS LAB BCA-117	ORATORY P 0	10 P	023		033	1.5	A	8 12	
BUSINESS COMMUNICATION BCA-118		14 P	023		037	1.5	A	8 12	
First Semester SGPA Total Credit Points: 1		edits	Earned,	/Tota	1:2	2/22			
COMPUTER ORGANIZATION BCA-121 P 014	* 028 - \$				042	4	D	4 16	
ADVANCED C PROGRAMMING BCA-122 P 013	* 057 -				070	4	A	8 32	
OPERATING SYSTEMS CONCE BCA-123 P 012	PTS * 062 -				074	4	A	8 32	
DATABASE MANAGEMENT SYS BCA-124 P 013	TEMS-I * 070 -				083	4	A+	9 36	
COMPUTER ORGANIZATION L BCA-125	ABORATORY P 0	10 P	031		041	1.5	A+	9 13.5	
ADVANCED C PROGRAMMING BCA-126	LABORATORY P 0	12 P	028		040	1.5	A+	9 13.5	
OPERATING SYSTEMS LABOR BCA-127	ATORY P 0	10 P	031		041	1.5	A+	9 13.5	
DATABASE MANAGEMENT SYS BCA-128	TEMS - I LA P 0		022		031	1.5	A	8 12	
Second Semester SGP Total Credit Points: 1	A : 7.659 C 68.5	redits	Earne	d/Tota	al :	22/22			
First Year Total Credit	s Earned :	44/44							
FIELD VISITS; STUDY TOU 13419-GR8VA-A			SITS;	PARTI	CIPAT "C"	ION IN CU	IRRICULA	AR; COCURRICU	J

13419-GR8VA-A --- --- --- "C" 1 PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1 --- --- "B+" 2 \$ 0.1

### Savitribai Phule Pune University Pune-411 007

BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~~ ~~~ ~~~ ~~~  $\sim \sim \sim \sim$ ~~~~  $\sim \sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1341910605 NAME: AL HUSSAIN SANAD ABDULLAH MOHSEN Seat no.: 737 Mother - GANIA FUNDAMENTALS OF COMPUTERS BCA-111 P 012 P 028 \_\_\_ \_\_\_ 040 4 D 4 16 \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING P 015 P 034 049 4 5 20 BCA-112 \_\_\_ \_ \_ \_ С APPLIED MATHEMATICS P 015 P 028 4 BCA-113 043 D 4 16 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION BCA-114 P 018 P 029 047 4 С 5 20 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY P 027 037 1.5 8 12 --- P 010 А BCA-115 ---\_ \_ \_ C PROGRAMMING LABORATORY P 008 \_\_\_ P 020 028 1.5 7 10.5 BCA-116 \_\_\_ \_\_\_ B+ APPLIED MATHEMATICS LABORATORY P 008 025 9 BCA-117 \_\_\_ ---P 017 \_\_\_ 1.5 В 6 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- P 011 P 026 \_\_\_ 037 1.5 А 8 12 First Semester SGPA : 5.250 Credits Earned/Total : 22/22 Total Credit Points: 115.5 COMPUTER ORGANIZATION BCA-121 P 015 \* 031 046 4 С 5 20 ADVANCED C PROGRAMMING P 018 P 028 046 4 С 5 20 BCA-122 \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS 4 P 013 P 029 042 4 16 D BCA-123 \_ \_ \_ \_\_\_ \_\_\_ DATABASE MANAGEMENT SYSTEMS-I P 012 \* 070 082 4 9 36 BCA-124 \_\_\_ \_ \_ \_ A+ \_ \_ \_ COMPUTER ORGANIZATION LABORATORY --- Р 014 Р 029 BCA-125 \_\_\_ \_\_\_ 043 1.5 A+ 9 13.5 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ --- P 012 P 022 \_\_\_ 034 1.5 A 8 12 OPERATING SYSTEMS LABORATORY --- P 008 P 033 041 9 13.5 BCA-127 ---\_\_\_ 1.5 A+ DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- Р 010 Р 026 --- 036 1.5 A 8 12 BCA-128 Second Semester SGPA : 6.500 Credits Earned/Total : 22/22 Total Credit Points: 143 First Year Total Credits Earned : 44/44 ONLINE CERTIFICATE COURSES/MOOC COURSES/ CAREER ADVANCEMENT COURSE UP TO "C" 13419-GR9VA-A 4 \_\_\_ \_\_\_ \_\_\_ \_\_\_ \_ \_ \_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- "A" 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ \_\_\_ 

CAAP010790-MCE	SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEGE	OF	ARTS	SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
				PUNE	. (022	21)							

				PUNE .	()	)ZZI)				
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	
PRN: 1341910608		<b>b.:</b> 743					~ ~~~ r – SH4			~~~ \
FUNDAMENTALS OF BCA-111		5 028				040	4	D	4	16
PROBLEM SOLVING BCA-112		GRAMMIN * 042	G			054	4	в	6	24
APPLIED MATHEMAT BCA-113		o 044				056	4	B+	7	28
BUSINESS COMMUNI BCA-114		o 039				051	4	В	6	24
FUNDAMENTALS OF BCA-115	COMPUTERS			025		031	1.5	A	8	12
C PROGRAMMING LA BCA-116	BORATORY	P	006 P	014		020	1.5	D	4	6
APPLIED MATHEMAT BCA-117	ICS LABOR	-	006 P	014		020	1.5	D	4	6
BUSINESS COMMUNI BCA-118	CATION LA			025		031	1.5	A	8	12
First Semest Total Credit Po			Credits	Earne	d/Tota	1 : 22/	22			
COMPUTER ORGANIZ BCA-121		* 029				044	4	D	4	16
ADVANCED C PROGR BCA-122	-	o 029				045	4	С	5	20
OPERATING SYSTEM BCA-123		rs 2 045				060	4	A	8	32
DATABASE MANAGEM BCA-124	IENT SYSTE P 012					074	4	A	8	32
COMPUTER ORGANIZ BCA-125	ATION LAE			029		035	1.5	A	8	12
ADVANCED C PROGR BCA-126	AMMING LA			022		034	1.5	A	8	12
OPERATING SYSTEM BCA-127	IS LABORAT		010 P	025		035	1.5	А	8	12
DATABASE MANAGEM BCA-128	IENT SYSTE			ORY 020		029	1.5	B+	7	10.5
Second Semes Total Credit Po			Credit	s Earn	ed/Tot	al : 22	/22			
First Year Total	Credits	Earned	: 44/44							
PHYSICAL EDUCATI G-1	ON (GROUF	P-I, SEM 	-II) 			"A"	2			

CAAP010790-MCE SOCIETY	′ ABEDA INAMDAF	<b>SENIOR</b>	COLLEGE OF	ARTS, SCIENCE	AND	COMMERCE AZAM	CAMPUS				
		PUNE	. (0221)								

					PUNE .	(0.	221)				
Min Max	INT 012 030	TH 028 070	015		PR 014 035	INT 000 000	Tot	Crd		_	Crd Pnt
PRN: 1341910611			~~~~~ 44 NAM				J FAIYAJ		her		~~~ AIN
FUNDAMENTALS OF BCA-111	COMPUTE P 017	-					045	4	с	5	20
PROBLEM SOLVING BCA-112	AND C F P 017						047	4	с	5	20
APPLIED MATHEMA BCA-113	FICS P 016	P 033					049	4	с	5	20
BUSINESS COMMUN BCA-114	CATION P 018	P 033					051	4	в	6	24
FUNDAMENTALS OF BCA-115	COMPUTE	ERS LAB	ORATORY P 010	Ρ	027		037	1.5	А	8	12
C PROGRAMMING LA BCA-116	ABORATO	RY 	p 011	Ρ	028		039	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LAN	BORATOR		Ρ	014		024	1.5	с	5	7.5
BUSINESS COMMUN BCA-118			P 011		025		036	1.5	А	8	12
First Semest Total Credit Po			64 Credi	its	Earned,	/Tota	1 : 22/2	2			
COMPUTER ORGANIZ BCA-121	ZATION P 020	* 032					052	4	в	6	24
ADVANCED C PROGE BCA-122	RAMMING P 023	* 038					061	4	А	8	32
OPERATING SYSTEM BCA-123	IS CONCE P 020						055	4	B+	7	28
DATABASE MANAGEM BCA-124		STEMS-I * 063					077	4	A+	9	36
COMPUTER ORGANIZ BCA-125	ZATION I	ABORAT		Ρ	033		048	1.5	0	10	15
ADVANCED C PROGE BCA-126	RAMMING	LABORA	TORY P 015	Ρ	030		045	1.5	0	10	15
OPERATING SYSTEM BCA-127	IS LABOR	RATORY 	P 011	Ρ	035		046	1.5	0	10	15
DATABASE MANAGEM BCA-128	IENT SYS	STEMS - 			ORY 033		043	1.5	A+	9	13.5
Second Semes Total Credit Po			114 Crea	lit	s Earne	d/Tota	al : 22/2	22			
First Year Tota											
ONLINE CERTIFICA 13419-GR9VA-A	ATE COUP					R ADV		COURS 4	E UP	т0	
PHYSICAL EDUCATI G-1	CON (GRO	OUP-I, 2	SEM-II) 				"в+"	2			

### Savitribai Phule Pune University

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT TOT INT ΤН INT PR Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim \sim$ ~~~ ~~~~ ~~~ ~~~ ~~~  $\sim \sim \sim \sim$  $\sim \sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1341910614 Seat no.: 745 NAME: BANDAL TEJAS HEMESH Mother - JAYASHREE FUNDAMENTALS OF COMPUTERS BCA-111 P 016 P 028 \_\_\_ \_\_\_ \_\_\_ 044 4 D 4 16 PROBLEM SOLVING AND C PROGRAMMING P 013 P 028 041 4 16 BCA-112 \_\_\_ \_\_\_ D 4 APPLIED MATHEMATICS P 012 \* 045 4 BCA-113 057 B+ 7 28 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 021 P 045 BCA-114 066 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY P 028 043 1.5 9 13.5 BCA-115 --- P 015 ---\_ \_ \_ A+C PROGRAMMING LABORATORY P 013 P 014 9 \_\_\_ 027 1.5 в 6 BCA-116 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY P 011 P 019 030 BCA-117 \_\_\_ \_\_\_ \_\_\_ 1.5 A 8 12 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- P 013 P 030 \_\_\_ 043 1.5 A+ 9 13.5 First Semester SGPA : 6.364 Credits Earned/Total : 22/22 Total Credit Points: 140 COMPUTER ORGANIZATION BCA-121 P 015 P 033 048 4 С 5 20 ADVANCED C PROGRAMMING P 017 \* 048 065 4 8 32 BCA-122 А \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS 4 P 017 P 044 061 8 32 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ Δ DATABASE MANAGEMENT SYSTEMS-I P 012 \* 070 082 4 9 36 BCA-124 \_\_\_ \_ \_ \_ A+ \_ \_ \_ COMPUTER ORGANIZATION LABORATORY --- Р 013 Р 029 BCA-125 ---\_\_\_ 042 1.5 A+ 9 13.5 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ --- Р 012 Р 035 \_\_\_ 047 1.5 0 10 15 OPERATING SYSTEMS LABORATORY --- Р 011 Р 035 046 10 15 BCA-127 ---\_\_\_ 1.5 0 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- Р 010 Р 035 ------ 045 1.5 0 10 15 BCA-128 Second Semester SGPA : 8.114 Credits Earned/Total : 22/22 Total Credit Points: 178.5 First Year Total Credits Earned : 44/44 ONLINE CERTIFICATE COURSES/MOOC COURSES/ CAREER ADVANCEMENT COURSE UP TO "0" 13419-GR9VA-A 4 \_\_\_ \_\_\_ \_\_\_ \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- "A" 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ \_\_\_ 

		College									
CAAP010790-MCE SOC	CIETY ABEDA IN		ENIOR C PUNE .		e of a 221)	RTS,SCI	ENCE A	ND (	COMMERCE	AZAM C	AMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	000 000	Tot	Crd	Grd	Pnt	Pnt		
PRN: 1341910619	Seat no.: 747		DANGE			~~ ~~~ TAGIR	~~~ Mothe		~~~ SAMINA		
FUNDAMENTALS OF COM BCA-111 P	4PUTERS 013 P 034				047	4	с	5	20		
PROBLEM SOLVING AND BCA-112 P	D C PROGRAMMIN 015 P 029	IG 			044	4	D	4	16		
APPLIED MATHEMATICS BCA-113 P	5 012 р 030				042	4	D	4	16		
BUSINESS COMMUNICAT BCA-114 P	FION 016 P 038				054	4	В	6	24		
FUNDAMENTALS OF COM BCA-115			033		045	1.5	0	10	15		
C PROGRAMMING LABOF BCA-116		У 011 Р	014		025	1.5	В	6	9		
APPLIED MATHEMATICS BCA-117	5 LABORATORY F	<b>9 010</b> р	017		027	1.5	В	6	9		
BUSINESS COMMUNICAT BCA-118		кү Р 012 Р	027		039	1.5	A+	9	13.5		
First Semester Total Credit Point		Credits	Earned	/Tota	1:22	/22					
COMPUTER ORGANIZATI BCA-121 P	EON 022 * 028 #				050	4	В	6	24		
ADVANCED C PROGRAMM BCA-122 P					052	4	В	6	24		
OPERATING SYSTEMS C BCA-123 P	CONCEPTS 021 P 047				068	4	A	8	32		
DATABASE MANAGEMENT BCA-124 P	Г SYSTEMS−I 021 P 036				057	4	B+	7	28		
COMPUTER ORGANIZATI BCA-125			031		046	1.5	0	10	15		
ADVANCED C PROGRAMM BCA-126			021		036	1.5	A	8	12		
OPERATING SYSTEMS L BCA-127		<b>9 010</b> р	033		043	1.5	A+	9	13.5		
DATABASE MANAGEMENT BCA-128					045	1.5	0	10	15		
Second Semester Total Credit Point		2 Credit	s Earne	d/Tot	al : 2	2/22					
First Year Total Cr	redits Earned	: 44/44									
ONLINE CERTIFICATE 13419-GR9VA-A	COURSES/MOOC	COURSES	/ CAREE	R ADV		NT COURS	SE UP	то			
PHYSICAL EDUCATION G-1	(GROUP-I, SEM	1-II) 			AAA F	FF 2					
# O.4											
••••••		• • • • • • • •		• • • • •	• • • • • •	• • • • • • • •		• • • •	• • • • • • • • •	• • •	

### Savitribai Phule Pune University

Pune-411 007 18-Jun-2021 BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT TOT INT ΤН INT PR Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~  $\sim \sim \sim \sim$ ~~~~  $\sim \sim \sim \sim$  $\sim \sim \sim \sim$ PRN: 1341910625 NAME: GUDAKUWALA QURESHI ZEESHAN SHAKEEL Mother - SHAGUFTA Seat no.: 753 FUNDAMENTALS OF COMPUTERS BCA-111 P 015 P 028 \_\_\_ \_\_\_ \_\_\_ 043 4 D 4 16 PROBLEM SOLVING AND C PROGRAMMING P 013 P 048 061 4 8 32 BCA-112 \_\_\_ \_ \_ \_ А APPLIED MATHEMATICS P 016 P 047 4 BCA-113 063 А 8 32 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 022 P 038 BCA-114 060 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY P 030 040 1.5 9 13.5 BCA-115 --- P 010 \_\_\_ \_ \_ \_ A+C PROGRAMMING LABORATORY P 006 P 014 \_\_\_ 020 1.5 4 6 BCA-116 \_\_\_ \_\_\_ D APPLIED MATHEMATICS LABORATORY P 007 027 9 BCA-117 \_\_\_ ---P 020 \_\_\_ 1.5 В 6 BUSINESS COMMUNICATION LABORATORY BCA-118 ------ P 010 P 022 \_\_\_ 032 1.5 А 8 12 First Semester SGPA : 6.932 Credits Earned/Total : 22/22 Total Credit Points: 152.5 COMPUTER ORGANIZATION BCA-121 P 021 P 053 074 4 А 8 32 ADVANCED C PROGRAMMING P 027 P 030 057 4 B+ 7 28 BCA-122 \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS 082 P 023 P 059 4 9 36 BCA-123 \_\_\_ \_\_\_ \_\_\_ A+ DATABASE MANAGEMENT SYSTEMS-I P 012 \* 070 082 4 9 36 BCA-124 \_\_\_ \_ \_ \_ A+ \_ \_ \_ COMPUTER ORGANIZATION LABORATORY --- Р 015 Р 029 BCA-125 \_\_\_ \_\_\_ 044 1.5A+ 9 13.5 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ --- Р 014 Р 029 \_\_\_ 043 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- Р 012 Р 027 039 BCA-127 ---\_\_\_ 1.5 A+ 9 13.5 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- P 011 P 018 --- 029 1.5 B+ 7 10.5 BCA-128 Second Semester SGPA : 8.318 Credits Earned/Total : 22/22 Total Credit Points: 183 First Year Total Credits Earned : 44/44 ONLINE CERTIFICATE COURSES/MOOC COURSES/ CAREER ADVANCEMENT COURSE UP TO "A" 13419-GR9VA-A 4 \_\_\_ \_\_\_ \_\_\_ \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- "B+" 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ \_\_\_ 

a		College									
CAAP010790-MCE SOCI	EIY ABEDA IN		ENIOR CO PUNE .		e of ar 221)	TS, SCI	LENCE A	ND (	COMMERCE	AZAM (	CAMPUS
Min O	NT TH 12 028 30 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Crd Pnt		
PRN: 1341910630 Se	at no.: 755		KAMBLE						~~~ KALPANA		
FUNDAMENTALS OF COMP BCA-111 P 0					042	4	D	4	16		
PROBLEM SOLVING AND BCA-112 P 0		IG 			047	4	с	5	20		
APPLIED MATHEMATICS BCA-113 P 0	016 P 038				054	4	В	6	24		
BUSINESS COMMUNICATI BCA-114 P 0					064	4	A	8	32		
DEA III	F		028		041	1.5	A+	9	13.5		
C PROGRAMMING LABORA BCA-116 -		Р 013 Р	014		027	1.5	В	6	9		
APPLIED MATHEMATICS BCA-117 -		Р 012 Р	016		028	1.5	B+	7	10.5		
BUSINESS COMMUNICATI BCA-118 -			025		039	1.5	A+	9	13.5		
First Semester S Total Credit Points	GPA : 6.295 : 138.5	Credits	Earned,	/Tota	1:22/	22					
COMPUTER ORGANIZATIO BCA-121 P 0					058	4	B+	7	28		
ADVANCED C PROGRAMMI BCA-122 P 0					050	4	В	6	24		
OPERATING SYSTEMS CO BCA-123 P 0					057	4	B+	7	28		
DATABASE MANAGEMENT BCA-124 P 0	SYSTEMS-I 16 * 059				075	4	A+	9	36		
COMPUTER ORGANIZATIO BCA-125 -			027		042	1.5	A+	9	13.5		
ADVANCED C PROGRAMMI BCA-126 -			030		045	1.5	0	10	15		
OPERATING SYSTEMS LA BCA-127 -		Р 012 Р	033		045	1.5	0	10	15		
DATABASE MANAGEMENT BCA-128 -		LABORAT 014 P			044	1.5	A+	9	13.5		
Second Semester Total Credit Points		l Credit	s Earne	d/Tot	al : 22	/22					
First Year Total Cre	dits Earned	: 44/44									
ONLINE CERTIFICATE C 13419-GR9VA-A -	OURSES/MOOC	COURSES	/ CAREEI	R ADV		T COUF	RSE UP	то			
PHYSICAL EDUCATION ( G-1 -	GROUP-I, SEN	1-II) 			"A"	2					
								•••			

CAAP010790-MCE SO	CIETY ABEDA	INAMDAR S		COLLEG			ENCE A	ND (	COMMERCE AZAM (	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt	
	Seat no.: 75					SUKUMAR			- PURNIMA	
FUNDAMENTALS OF CON BCA-111 P	MPUTERS 012 P 039				051	4	в	6	24	
PROBLEM SOLVING AND BCA-112 P	D C PROGRAMM 012 P 039	ING 			051	4	В	6	24	
APPLIED MATHEMATICS BCA-113 P	s 013 p 028				041	4	D	4	16	
BUSINESS COMMUNICA BCA-114 P	TION 021 P 050				071	4	A	8	32	
FUNDAMENTALS OF COM BCA-115	MPUTERS LABO		o22		032	1.5	A	8	12	
C PROGRAMMING LABO BCA-116	RATORY	P 007 F	o 026		033	1.5	A	8	12	
APPLIED MATHEMATICS BCA-117	S LABORATORY		o 019		028	1.5	B+	7	10.5	
BUSINESS COMMUNICA BCA-118	TION LABORAT	ORY P 011 F	o 019		030	1.5	A	8	12	
First Semester Total Credit Poin		7 Credits	5 Earne	d/Tota	1:2	22/22				
COMPUTER ORGANIZAT: BCA-121 P	ION 014 * 036				050	4	В	6	24	
ADVANCED C PROGRAMM BCA-122 P	MING 017 * 055				072	4	A	8	32	
OPERATING SYSTEMS O BCA-123 P	CONCEPTS 012 * 053				065	4	A	8	32	
DATABASE MANAGEMEN BCA-124 P	T SYSTEMS-I 012 * 063				075	4	A+	9	36	
COMPUTER ORGANIZAT: BCA-125	ION LABORATO		o29		043	1.5	A+	9	13.5	
ADVANCED C PROGRAMM BCA-126	MING LABORAT		• 031		043	1.5	A+	9	13.5	
OPERATING SYSTEMS I BCA-127			• 033		043	1.5	A+	9	13.5	
DATABASE MANAGEMEN BCA-128		P 009 F	o 35				A+	9	13.5	
Second Semester Total Credit Poin	ts: 178			ed/Tot	al :	22/22				
First Year Total C										
ONLINE CERTIFICATE 13419-GR9VA-A			S/ CARE	ER ADV	ANCEN "A"	IENT COURS 4	SE UP	то		
PHYSICAL EDUCATION G-1	(GROUP-I, S	EM-II) 			"A"	2				
								•••		

CAAP010790-MCE S	OCTETY		-	-							СЛМР	us
CAAFUIU790-MCE S	OCIEII	ABEDA	INAMDAR	PUNE		221)	3,3CIE	INCE /			CAMP	03
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1341910633		~~~~~ no.: 70	62 NAME		FAIZAN				~~~ SAYRA	~~~ BANO		
FUNDAMENTALS OF CO BCA-111		rs p 046				058	4	B+	7	28		
PROBLEM SOLVING A	ND C P P 016	ROGRAMM P 031	/ING 			047	4	с	5	20		
APPLIED MATHEMATI BCA-113	CS P 014	* 034				048	4	с	5	20		
BUSINESS COMMUNIC BCA-114		р 046				066	4	А	8	32		
FUNDAMENTALS OF CO BCA-115	OMPUTE	RS LABO		Р 024		032	1.5	А	8	12		
C PROGRAMMING LAB BCA-116	ORATOR	Y	P 008	P 018		026	1.5	в	6	9		
APPLIED MATHEMATIO BCA-117	CS LAB	ORATOR		P 029		037	1.5	А	8	12		
BUSINESS COMMUNIC BCA-118	ATION	LABORA		P 025		035	1.5	А	8	12		
First Semeste Total Credit Poi			01 Credit	s Earne	ed/Tota	1 : 22/2	22					
COMPUTER ORGANIZA BCA-121		* 034				048	4	с	5	20		
ADVANCED C PROGRAM BCA-122	MMING P 016	* 041				057	4	B+	7	28		
OPERATING SYSTEMS BCA-123		РТS Р 048				063	4	А	8	32		
DATABASE MANAGEME BCA-124		TEMS-I * 057				075	4	A+	9	36		
COMPUTER ORGANIZA BCA-125	TION L	ABORATO		P 031		046	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	MMING	LABORA		P 032		047	1.5	0	10	15		
OPERATING SYSTEMS BCA-127	LABOR	ATORY 	P 009	P 033		042	1.5	A+	9	13.5		
DATABASE MANAGEME BCA-128			i labora p 010			045	1.5	0	10	15		
Second Semest Total Credit Poi			932 Credi	ts Earı	ned/Tota	al : 22/	22					
First Year Total	Credit	s Earne	ed : 44/4	4								
ONLINE CERTIFICAT 13419-GR9VA-A	E COUR	SES/MOO	DC COURSE	S/ CARI	EER ADV		COURS	E UP	то			
PHYSICAL EDUCATIO	N (GRO	UP-I, 9	SEM-II) 			"в+"	2					

		College	-			-					
CAAP010790-MCE SO	CIETY ABEDA 1	INAMDAR S	SENIOR PUNE .		e of art 221)	S,SCI	ENCE A	AND C	OMMERCE	AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt			
	Seat no.: 763				N SAMEER		her -	· SHA	~~~ BIYA		
FUNDAMENTALS OF COM BCA-111 P	4PUTERS 012 P 031				043	4	D	4	16		
PROBLEM SOLVING AND BCA-112 P	D C PROGRAMMI 013 P 034	ING 			047	4	с	5	20		
APPLIED MATHEMATICS BCA-113 P	5 014 р043				057	4	B+	7	28		
BUSINESS COMMUNICAT BCA-114 P	FION 019 p 038				057	4	B+	7	28		
FUNDAMENTALS OF COM BCA-115	MPUTERS LABOR		029		037	1.5	А	8	12		
C PROGRAMMING LABOF BCA-116	RATORY	P 006 F	• 020		026	1.5	В	6	9		
APPLIED MATHEMATICS BCA-117	5 LABORATORY	P 008 F	019		027	1.5	В	6	9		
BUSINESS COMMUNICAT BCA-118	FION LABORATO		<b>01</b> 4		024	1.5	с	5	7.5		
First Semester Total Credit Point		6 Credits	Earne	ed/Tota	1 : 22/2	2					
COMPUTER ORGANIZATI BCA-121 P	EON 016 * 039				055	4	B+	7	28		
ADVANCED C PROGRAMM BCA-122 P	MING 019 * 050				069	4	A	8	32		
OPERATING SYSTEMS O BCA-123 P	CONCEPTS 018 * 067				085	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 P	г SYSTEMS-I 014 * 069				083	4	A+	9	36		
COMPUTER ORGANIZATI BCA-125	ION LABORATOR		033		045	1.5	0	10	15		
ADVANCED C PROGRAMM BCA-126	ING LABORATO		027		042	1.5	A+	9	13.5		
OPERATING SYSTEMS L BCA-127	_ABORATORY	P 010 F	033		043	1.5	A+	9	13.5		
DATABASE MANAGEMENT BCA-128		I LABORAT P 010 F			045	1.5	0	10	15		
Second Semester Total Credit Point		01 Credit	s Earr	ned/Tot	al : 22/	22					
First Year Total C	redits Earned	1 : 44/44	ŀ								
ONLINE CERTIFICATE 13419-GR9VA-A	COURSES/MOOD	COURSES	G/ CARE		ANCEMENT "A+"	COURS 4	SE UP	т0			
PHYSICAL EDUCATION G-1	(GROUP-I, SE	EM-II) 			"A"	2					

CAAP010790-MCE SOC	CIETY ABEDA			COLLEG	E OF A		NCE A	ND C	COMMER	CE AZAM	CAMPUS
	INT TH	INT	PUNE PR		221) Tot	Crd	Grd	Grd	Crd		
Min Max	012 028 030 070	015	014 035	000 000				Pnt			
	Seat no.: 7						D AAM			Mother	-
FUNDAMENTALS OF COM BCA-111 P	4PUTERS 012 P 028				040	4	D	4	16		
PROBLEM SOLVING AND					040	4	D	4	10		
	012 P 028				040	4	D	4	16		
APPLIED MATHEMATICS BCA-113 P	5 012 * 045				057	4	B+	7	28		
BUSINESS COMMUNICAT BCA-114 P	FION 013 P 028				041	4	D	4	16		
FUNDAMENTALS OF COM BCA-115	IPUTERS LAB		P 032		040	1.5	A+	9	13.5		
C PROGRAMMING LABOR BCA-116		P 006	P 015		021	1.5	D	4	6		
APPLIED MATHEMATICS BCA-117	LABORATOR		р 015		023	1.5	с	5	7.5		
BUSINESS COMMUNICAT BCA-118		TORY P 010	P 016		026	1.5	в	6	9		
First Semester Total Credit Point		91 Credit	s Earne	ed/Tota	1 : 22	2/22					
COMPUTER ORGANIZATI BCA-121 P	CON 017 * 042				059	4	B+	7	28		
ADVANCED C PROGRAMM BCA-122 P	/ING 017 * 055				072	4	А	8	32		
OPERATING SYSTEMS O BCA-123 P	CONCEPTS 013 * 059				072	4	А	8	32		
DATABASE MANAGEMENT BCA-124 P	Г SYSTEMS-I 012 * 070				082	4	A+	9	36		
COMPUTER ORGANIZATI BCA-125	ION LABORAT		Р 029		035	1.5	А	8	12		
ADVANCED C PROGRAMM BCA-126	ING LABORA		Р 024		039	1.5	A+	9	13.5		
OPERATING SYSTEMS L BCA-127	ABORATORY	Р 007	P 033		040	1.5	A+	9	13.5		
DATABASE MANAGEMENT BCA-128	SYSTEMS -	I LABORA P 007			040	1.5	A+	9	13.5		
Second Semester Total Credit Point		205 Credi	ts Earr	ned/Tot	al : 2	2/22					
First Year Total Cr	redits Earn	ed : 44/4	4								
ONLINE CERTIFICATE 13419-GR9VA-A	COURSES/MC		S/ CARE	EER ADV	ANCEME "A"	NT COURS	E UP	т0			
PHYSICAL EDUCATION G-1	(GROUP-I,	SEM-II)			"A"	2					

			-	je Leag						
CAAP010790-MCE SC	OCIETY	ABEDA	INAMDAR	SENIOR PUNE		GE OF 0221)	ARTS,SCI	ENCE AN	ID (	COMMERCE AZAM CAMPUS
Min	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd G P		Crd Pnt
						~~~	~~~ ~~~	~~~ ~	~~	~~~
PRN: 1341910636	Seat r	10.: 76	9 NAME	E: KHAN	MOHD	FALHA	AKHLAK	Mother	-	SHAHISTA
FUNDAMENTALS OF CO BCA-111 F	OMPUTER P 016					046	4	С	5	20
PROBLEM SOLVING AN BCA-112 F	ND C PF > 013	ROGRAMM P 028	ING 			041	4	D	4	16
APPLIED MATHEMATIC BCA-113 F	cs 9 012	* 042				054	4	В	6	24
BUSINESS COMMUNICA BCA-114 F	ATION P 024	Р 039				063	4	A	8	32
FUNDAMENTALS OF CO BCA-115		RS LABO		р 027		037	1.5	A	8	12
C PROGRAMMING LABO BCA-116	DRATORY	(	P 009	р 014		023	1.5	с	5	7.5
APPLIED MATHEMATIC BCA-117	S LABO	DRATORY	P 008	р 015		023	1.5	с	5	7.5
BUSINESS COMMUNICA BCA-118	ATION L	ABORAT		р 020		031	1.5	A	8	12
First Semester Total Credit Poir			5 Credit	s Earn	ed/Tota	al : 2	22/22			
COMPUTER ORGANIZAT BCA-121 F		* 029				041	4	D	4	16
ADVANCED C PROGRAM BCA-122 F		* 041				055	4	B+	7	28
OPERATING SYSTEMS BCA-123 F		РТS Р 038				050	4	В	6	24
DATABASE MANAGEMEN BCA-124 F		ГЕМS-I * 069				081	4	A+	9	36
COMPUTER ORGANIZAT BCA-125	TION LA	ABORATO	ry p 006	р 029		035	1.5	A	8	12
ADVANCED C PROGRAM BCA-126	MMING L	ABORAT	ORY P 012	р 029		041	1.5	A+	9	13.5
OPERATING SYSTEMS BCA-127	LABORA	TORY	Р 007	р 033		040	1.5	A+	9	13.5
DATABASE MANAGEMEN BCA-128			I LABORA P 007			042	1.5	A+	9	13.5
Second Semeste Total Credit Poir			14 Credi	ts Ear	ned/Tot	tal :	22/22			
First Year Total C	redits	5 Earne	d : 44/4	14						
ONLINE CERTIFICATE 13419-GR9VA-A	E COURS	SES/MOO 	C COURSE	S/ CAR	EER AD		IENT COUR 4	SE UP T	0	
PHYSICAL EDUCATION G-1	N (GROL	JP-I, S 	EM-II) 			"в+'	' 2			

Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)

PUNE . (0221)												
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
~~ PRN: 1341910637		o.: 771					USMAN I		~~~ Motł		ZULEKHA	BEGUM
FUNDAMENTALS OF CO BCA-111 P	MPUTER 014					043	4	D	4	16		
PROBLEM SOLVING AN BCA-112 P		OGRAMMIN P 028	IG 			041	4	D	4	16		
APPLIED MATHEMATIC BCA-113 P	-	* 052				064	4	А	8	32		
BUSINESS COMMUNICA BCA-114 P	TION 025	Р 044				069	4	А	8	32		
FUNDAMENTALS OF CO BCA-115	MPUTER			026		038	1.5	A+	9	13.5		
C PROGRAMMING LABO BCA-116	RATORY		Р 006 Р	024		030	1.5	А	8	12		
APPLIED MATHEMATIC BCA-117	S LABO	RATORY	Р 008 Р	016		024	1.5	с	5	7.5		
BUSINESS COMMUNICA BCA-118	TION L			020		030	1.5	А	8	12		
First Semester Total Credit Poin			Credits	Earne	ed/Tota	1 : 22	2/22					
COMPUTER ORGANIZAT		* 021				0.4.2		-	4	10		
BCA-121 P ADVANCED C PROGRAM		* 031				043	4	D	4	16		
		* 043				056	4	B+	7	28		
OPERATING SYSTEMS BCA-123 P		тs Р 028				040	4	D	4	16		
DATABASE MANAGEMEN BCA-124 P		EMS-I * 064				076	4	A+	9	36		
COMPUTER ORGANIZAT BCA-125	ION LA			029		035	1.5	А	8	12		
ADVANCED C PROGRAM				021		022	1 5		0	10		
BCA-126 OPERATING SYSTEMS			Р 012 Р	021		033	1.5	A	8	12		
BCA-127		-	Р 009 Р	033		042	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128		F	Р 009 Р	035		044	1.5	A+	9	13.5		
Second Semeste Total Credit Poin			2 Credit	s Earr	ned/Tota	al : 2	22/22					
First Year Total C												
ONLINE CERTIFICATE 13419-GR9VA-A				/ CARE 	EER ADV	ANCEMI "C"	ENT COUR 4	RSE UP	то			
PHYSICAL EDUCATION G-1	(GROU	P-I, SEN 	1-II) 			"A"	2					
						•••••			••••			

College Ledger(O	-		_	
CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLL PUNE .	LEGE OF ARTS (0221)	,SCIEN	CE AND (	COMMERCE AZAM CAMPUS
Min 012 028 006 014 00	00 00		Grd Grd Pnt	Pnt
PRN: 1341910640 Seat no.: 774 NAME: KOKATE MU			er - ATI	
FUNDAMENTALS OF COMPUTERS BCA-111 P 017 P 033	050	4	в 6	24
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 014 P 034	048	4	C 5	20
APPLIED MATHEMATICS BCA-113 P 019 P 028	047	4	C 5	20
BUSINESS COMMUNICATION BCA-114 P 026 P 049	075	4	A+ 9	36
FUNDAMENTALS OF COMPUTERS LABORATORYBCA-115P013P032	045	1.5	0 10	15
C PROGRAMMING LABORATORY BCA-116	025	1.5	в 6	9
APPLIED MATHEMATICS LABORATORY BCA-117 P 012 P 023	035	1.5	A 8	12
BUSINESS COMMUNICATION LABORATORY BCA-118 P 013 P 030	043	1.5	A+ 9	13.5
First Semester SGPA : 6.795 Credits Earned/To Total Credit Points: 149.5	otal : 22/22			
COMPUTER ORGANIZATION BCA-121 P 017 P 031	048	4	C 5	20
ADVANCED C PROGRAMMING BCA-122 P 020 * 052	072	4	A 8	32
OPERATING SYSTEMS CONCEPTS BCA-123 P 023 P 062	085	4	A+ 9	36
DATABASE MANAGEMENT SYSTEMS-I BCA-124 P 018 P 034	052	4	в 6	24
COMPUTER ORGANIZATION LABORATORY BCA-125 P 014 P 014	028	1.5	B+ 7	10.5
ADVANCED C PROGRAMMING LABORATORY BCA-126 P 015 P 020	035	1.5	A 8	12
OPERATING SYSTEMS LABORATORY BCA-127 P 012 P 014	026	1.5	в 6	9
		1.5	в 6	9
Second Semester SGPA : 6.932 Credits Earned/1 Total Credit Points: 152.5	Total : 22/2	2		
First Year Total Credits Earned : 44/44				
ONLINE CERTIFICATE COURSES/MOOC COURSES/ CAREER A	ADVANCEMENT "O"	COURSE 4	υρ το	
PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1	"A"	2		
			•••••	

			-	dger(0							
CAAP010790-MCE S	OCIETY ABE	DA INAMDA			EGE OF (0221)		ENCE A	ND (	COMMERCE	AZAM	CAMPUS
Min Max	030 07	28 006 70 015	6 01 6 03	4 00 5 00	0			Pnt	Pnt		
~ PRN: 1341910642	Seat no.:					~~~ ~~~ SAMADI	Mothe		~~~ MALALAI		
FUNDAMENTALS OF C BCA-111	OMPUTERS P 013 P 03	37			- 050	4	В	6	24		
PROBLEM SOLVING A BCA-112	ND C PROGRA P 012 P 03				- 042	4	D	4	16		
APPLIED MATHEMATI BCA-113	CS P 012 * 00	63	·		- 075	4	A+	9	36		
BUSINESS COMMUNIC BCA-114	ATION P 016 P 04	47	·		- 063	4	А	8	32		
FUNDAMENTALS OF C BCA-115	OMPUTERS LA	ABORATORY P 008		5	- 043	1.5	A+	9	13.5		
C PROGRAMMING LAB BCA-116		Р 006	5 Р 01	4	- 020	1.5	D	4	6		
APPLIED MATHEMATI BCA-117	CS LABORATO	ORY P 006	5 Р 02	9	- 035	1.5	A	8	12		
BUSINESS COMMUNIC BCA-118		RATORY P 010	) р 02	4	- 034	1.5	A	8	12		
First Semeste Total Credit Poi		.886 Crea	lits Ea	rned/To	tal :	22/22					
COMPUTER ORGANIZA BCA-121	TION P 013 P 02	28			- 041	4	D	4	16		
ADVANCED C PROGRA BCA-122	MMING P 015 * 0	52			- 067	4	A	8	32		
OPERATING SYSTEMS BCA-123	CONCEPTS P 014 P 0	38			- 052	4	В	6	24		
DATABASE MANAGEME BCA-124	NT SYSTEMS P 012 * 07				- 082	4	A+	9	36		
COMPUTER ORGANIZA BCA-125		ATORY P 014	Р 02	5	- 039	1.5	A+	9	13.5		
ADVANCED C PROGRA BCA-126		RATORY P 012	Р 02	8	- 040	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127		Y P 010	) р 03	3	- 043	1.5	A+	9	13.5		
DATABASE MANAGEME BCA-128	NT SYSTEMS				- 036	1.5	A	8	12		
Second Semest Total Credit Poi		7.295 Cre	dits E	arned/T	otal :	22/22					
First Year Total	Credits Ea	rned : 44	/44								
ONLINE CERTIFICAT 13419-GR9VA-A	E COURSES/M			AREER A 	DVANCE - "A+	MENT COUR "4		то			
PHYSICAL EDUCATIO G-1	N (GROUP-I	, SEM-II) 			- "A"	2					

CAAP010790-MCE SO	CIETY ABED	-	JE LEDGE SENIOR ( PUNE .	COLLEG		S,SCIE	NCE AN	DC	OMMERCE AZAM CAI	MPUS
Min Max	INT TH 012 02 030 07	8 006	PR 014 035	INT 000 000	Tot	Crd	Grd G P	nt	Pnt	
PRN: 1341910643					MOHAMED				- NAZNEEN	
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 013 P 03	9			052	4	В	6	24	
PROBLEM SOLVING AN BCA-112 P	D C PROGRA 016 P 03				046	4	с	5	20	
APPLIED MATHEMATIC BCA-113 P	s 018 p 04	8			066	4	A	8	32	
BUSINESS COMMUNICA BCA-114 P	TION 017 P 03	32			049	4	с	5	20	
FUNDAMENTALS OF CO BCA-115	MPUTERS LA		P 028		038	1.5	A+	9	13.5	
C PROGRAMMING LABO BCA-116	RATORY	- Р 010	P 014		024	1.5	с	5	7.5	
APPLIED MATHEMATIC BCA-117	S LABORATO	DRY - P 012	P 016		028	1.5	B+	7	10.5	
BUSINESS COMMUNICA BCA-118	TION LABOR		P 018		030	1.5	A	8	12	
First Semester Total Credit Poin		341 Credit	s Earneo	d/Tota	1 : 22/22	2				
COMPUTER ORGANIZAT BCA-121 P	ION 018 * 02	.8			046	4	с	5	20	
ADVANCED C PROGRAM BCA-122 P	MING 019 P 02	.8			047	4	с	5	20	
OPERATING SYSTEMS BCA-123 P	CONCEPTS 017 P 03	34			051	4	в	6	24	
DATABASE MANAGEMEN BCA-124 P	T SYSTEMS- 018 P 02				046	4	с	5	20	
COMPUTER ORGANIZAT BCA-125	ION LABORA		P 021		036	1.5	A	8	12	
ADVANCED C PROGRAM BCA-126	MING LABOR		P 014		029	1.5	B+	7	10.5	
OPERATING SYSTEMS BCA-127			P 033		043	1.5	A+	9	13.5	
DATABASE MANAGEMEN BCA-128	T SYSTEMS	- I LABORA - P 013	TORY P 024		037	1.5	A	8	12	
Second Semeste Total Credit Poin		5.000 Credi	ts Earne	ed/Tot	al : 22/2	22				
First Year Total C	redits Ear	ned : 44/4	4							
ONLINE CERTIFICATE 13419-GR9VA-A	COURSES/M	100C COURSE	S/ CAREE	ER ADV	ANCEMENT	COURSI 4	E UP T	0		
PHYSICAL EDUCATION G-1	(GROUP-I,	SEM-II)			"A"	2				

### Savitribai Phule Pune University

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT ΤН INT PR INT Tot Crd Grd Grd Crd Min 012 028 006 000 014 Pnt Pnt Мах 030 070 015 035 000 ~~ ~~~ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~ PRN: 1341910646 Seat no.: 787 NAME: PATEL MOHD AWEJ AFSER ABULKHAIR Mother - SHAHEEN BEGUM FUNDAMENTALS OF COMPUTERS P 015 P 030 045 4 С 5 20 BCA-111 \_ \_ \_ \_ \_ \_ \_\_\_ PROBLEM SOLVING AND C PROGRAMMING P 017 P 028 BCA-112 045 4 С 5 20 \_ \_ \_ \_ \_ \_ APPLIED MATHEMATICS P 018 P 034 052 4 В 24 BCA-113 6 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION P 033 24 050 4 BCA-114 P 017 \_\_\_ \_\_\_ \_ \_ \_ В 6 FUNDAMENTALS OF COMPUTERS LABORATORY P 026 038 9 13.5 BCA-115 \_\_\_ \_\_\_ P 012 \_\_\_ 1.5 A+ C PROGRAMMING LABORATORY BCA-116 \_\_\_ P 009 P 035 044 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY P 010 P 014 024 1.5 С 5 7.5 BCA-117 \_ \_ \_ BUSINESS COMMUNICATION LABORATORY P 014 026 6 9 BCA-118 \_\_\_\_ --- P 012 \_\_\_ 1.5 В First Semester SGPA : 5.977 Credits Earned/Total : 22/22 Total Credit Points: 131.5 COMPUTER ORGANIZATION \* 039 056 4 7 28 P 017 B+ BCA-121 \_ \_ \_ \_\_\_ \_ \_ \_ ADVANCED C PROGRAMMING 4 P 028 047 С 5 20 BCA-122 P 019 \_ \_ \_ \_ \_ \_ \_\_\_ OPERATING SYSTEMS CONCEPTS P 018 P 028 4 С 5 20 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ 046 DATABASE MANAGEMENT SYSTEMS-I 076 BCA-124 Р 012 \* 064 4 A+ 9 36 COMPUTER ORGANIZATION LABORATORY BCA-125 P 006 P 031 037 1.5 А 8 12 ADVANCED C PROGRAMMING LABORATORY BCA-126 P 015 Ρ 030 045 1.5 0 10 15 ---\_\_\_ OPERATING SYSTEMS LABORATORY --- P 010 P 033 043 1.5 9 13.5 BCA-127 \_\_\_ A+ \_\_\_ DATABASE MANAGEMENT SYSTEMS - I LABORATORY BCA-128 --- P 007 P 027 034 1.5 Α 8 12 \_\_\_ \_ \_ \_ Second Semester SGPA : 7.114 Credits Earned/Total : 22/22 Total Credit Points: 156.5 First Year Total Credits Earned : 44/44 ONLINE CERTIFICATE COURSES/MOOC COURSES/ CAREER ADVANCEMENT COURSE UP TO "A" 13419-GR9VA-A \_\_\_ \_\_\_ \_\_\_ \_\_\_ \_\_\_ 4 PHYSICAL EDUCATION (GROUP-I, SEM-II) "C" 2 G-1 \_\_\_ \_\_\_ \_ \_ \_ 

CAAP010790-MCE S	OCIETY	ABEDA I	College NAMDAR S	-	OLLEG		FS,SCIE	NCE AN	ND (	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd C F	nt	Pnt		
~ PRN: 1341910647		~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~								~~~ - NIGAR		
FUNDAMENTALS OF C BCA-111	OMPUTE P 018					048	4	с	5	20		
PROBLEM SOLVING A BCA-112	ND C PI P 013	ROGRAMMI * 070	NG 			083	4	A+	9	36		
APPLIED MATHEMATI BCA-113	CS P 017	* 049				066	4	A	8	32		
BUSINESS COMMUNIC BCA-114		P 028				054	4	В	6	24		
FUNDAMENTALS OF C BCA-115	OMPUTE			027		042	1.5	A+	9	13.5		
C PROGRAMMING LAB BCA-116	ORATOR		Р 009 Р	014		023	1.5	с	5	7.5		
APPLIED MATHEMATI BCA-117				018		028	1.5	B+	7	10.5		
BUSINESS COMMUNIC BCA-118			Р 015 Р			030	1.5	A	8	12		
First Semeste Total Credit Poi			Credits	Earneo	l/Tota	1 : 22/2	22					
COMPUTER ORGANIZA BCA-121	TION P 017	* 036				053	4	В	6	24		
ADVANCED C PROGRA BCA-122		* 045				067	4	A	8	32		
OPERATING SYSTEMS BCA-123	CONCE P 019					055	4	B+	7	28		
DATABASE MANAGEME BCA-124		TEMS-I * 070				082	4	A+	9	36		
COMPUTER ORGANIZA BCA-125	TION L			021		036	1.5	A	8	12		
ADVANCED C PROGRA BCA-126	MMING			023		035	1.5	A	8	12		
OPERATING SYSTEMS BCA-127				033		042	1.5	A+	9	13.5		
DATABASE MANAGEME BCA-128			Р 008 Р	032				A+	9	13.5		
Second Semest Total Credit Poi	nts: 1	71			ed/Tota	al : 22,	/22					
First Year Total	Credit	s Earned	: 44/44	÷								
ONLINE CERTIFICAT 13419-GR9VA-A	E COUR	SES/MOOC	COURSES	6/ CAREE	ER ADV		r cours 4	EUPT	ГО			
PHYSICAL EDUCATIO G-1	N (GRO	UP-I, SE	(II-M 			"A"	2					
				• • • • • • •		•••••						

Co CAAP010790-MCE SOCIETY ABEDA INA	MDAR SI	Ledger ENIOR CO PUNE .	OLLEG		TS,SCIE	NCE /	AND C	COMME	RCE AZAM CAMPUS
Min 012 028 Max 030 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt	
PRN: 1341910648 Seat no.: 793		PUJARI					~~~ Nothe		ANNAPURNA
FUNDAMENTALS OF COMPUTERS BCA-111 P 013 * 060				073	4	A	8	32	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 019 P 038				057	4	B+	7	28	
APPLIED MATHEMATICS BCA-113 P 018 P 049				067	4	A	8	32	
BUSINESS COMMUNICATION BCA-114 P 029 P 043				072	4	A	8	32	
FUNDAMENTALS OF COMPUTERS LABORATOBCA-115P		029		041	1.5	A+	9	13.5	i
C PROGRAMMING LABORATORY BCA-116 P	012 P	025		037	1.5	A	8	12	
APPLIED MATHEMATICS LABORATORY BCA-117 P	012 P	018		030	1.5	A	8	12	
BUSINESS COMMUNICATION LABORATORY BCA-118 P		025		037	1.5	A	8	12	
First Semester SGPA : 7.886 C Total Credit Points: 173.5	redits	Earned,	/Tota	1 : 22/2	22				
COMPUTER ORGANIZATION BCA-121 P 020 P 042				062	4	A	8	32	
ADVANCED C PROGRAMMING BCA-122 P 024 P 029				053	4	В	6	24	
OPERATING SYSTEMS CONCEPTS BCA-123 P 020 P 053				073	4	A	8	32	
DATABASE MANAGEMENT SYSTEMS-I BCA-124 P 016 P 028				044	4	D	4	16	
COMPUTER ORGANIZATION LABORATORY BCA-125 P	015 P	031		046	1.5	0	10	15	
ADVANCED C PROGRAMMING LABORATORY BCA-126 P		032		046	1.5	0	10	15	
OPERATING SYSTEMS LABORATORY BCA-127 P	011 P	031		042	1.5	A+	9	13.5	i
DATABASE MANAGEMENT SYSTEMS - I LA BCA-128 P				042	1.5	A+	9	13.5	i
Second Semester SGPA : 7.318 Total Credit Points: 161	Credits	s Earneo	d/Tot	al : 22,	/22				
First Year Total Credits Earned :	44/44								
ONLINE CERTIFICATE COURSES/MOOC CO 13419-GR9VA-A	OURSES/	CAREEI	R ADV	ANCEMEN <sup>-</sup> "A"	r cours 4	E UP	то		
PHYSICAL EDUCATION (GROUP-I, SEM- G-1	II) 			"A"	2				
	•••••			•••••					

CAAP010790-MCE	SOCIETY	ABEDA I	-	SENIOR PUNE .	COLLEG			NCE A	ND C	COMMERCE AZAM C	AMPUS
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt	
PRN: 1341910649		~~~~~~ ~ no.: 795					~~~ ~~~ MUZAMMIL		her	~~~ - SANOVAR	
FUNDAMENTALS OF ( BCA-111	COMPUTE P 014					044	4	D	4	16	
PROBLEM SOLVING A BCA-112	ND C P P 013	ROGRAMMI * 059	NG			072	4	A	8	32	
APPLIED MATHEMATI BCA-113	CS P 015	P 056				071	4	A	8	32	
BUSINESS COMMUNIC BCA-114	CATION P 027	P 047				074	4	A	8	32	
FUNDAMENTALS OF G BCA-115	COMPUTE	RS LABOR	ATORY P 012	P 027		039	1.5	A+	9	13.5	
C PROGRAMMING LAE BCA-116	BORATOR		P 007	P 014		021	1.5	D	4	6	
APPLIED MATHEMATI BCA-117	CS LAB		P 008	P 018		026	1.5	В	6	9	
BUSINESS COMMUNIC BCA-118	CATION			P 020		032	1.5	A	8	12	
First Semeste Total Credit Poi			Credit	s Earne	ed/Tota	1:2	22/22				
COMPUTER ORGANIZA BCA-121	ATION P 017	* 034				051	4	В	6	24	
ADVANCED C PROGRA BCA-122	AMMING P 023	P 028				051	4	в	6	24	
OPERATING SYSTEMS BCA-123	P 014	P 052				066	4	A	8	32	
DATABASE MANAGEME BCA-124		TEMS-I * 070				086	4	A+	9	36	
COMPUTER ORGANIZA BCA-125	ATION L		Y P 015	P 033		048	1.5	0	10	15	
ADVANCED C PROGRA BCA-126			P 015	P 030		045	1.5	0	10	15	
OPERATING SYSTEMS BCA-127			Р 009	P 035		044	1.5	A+	9	13.5	
DATABASE MANAGEME BCA-128			P 013	P 035				0	10	15	
Second Semest Total Credit Pot			2 Credi	ts Earn	ied/Tot	al :	22/22				
First Year Total											
ONLINE CERTIFICAT 13419-GR9VA-A				S/ CARE	ER ADV			EUP	т0		
PHYSICAL EDUCATIO G-1	ON (GRO	UP-I, SE 	M-II) 			"A"	2				

			-	e Ledge						
CAAP010790-MCE	SOCIETY	ABEDA ]	ENAMDAR	SENIOR PUNE .		E OF 221)	ARTS,SCIE	INCE A	AND (	COMMERCE AZAM CAMPUS
Min	INT 012	ТН 028	INT 006	PR 014	INT 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt
Max	030	070	015	035	000	~~~~	~~~ ~~~	~~~~	~~~	-
PRN: 1341910658		no.: 798	-				IMRANALI			- PARVEEN
FUNDAMENTALS OF BCA-111	COMPUTE P 021					071	4	A	8	32
PROBLEM SOLVING BCA-112	AND C P P 017	ROGRAMMI P 059	ENG 			076	4	A+	9	36
APPLIED MATHEMA BCA-113	FICS P 016	P 052				068	4	A	8	32
BUSINESS COMMUN BCA-114		Р 043				070	4	A	8	32
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABOF		P 034		049	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATOR	Y	P 006	P 035		041	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LAB	ORATORY	P 006	P 025		031	1.5	A	8	12
BUSINESS COMMUN BCA-118	ICATION	LABORATO		P 031		043	1.5	A+	9	13.5
First Semest Total Credit Po			5 Credit	s Earne	d/Tota	1:2	22/22			
COMPUTER ORGANIZ BCA-121		P 031				043	4	D	4	16
ADVANCED C PROG BCA-122		p 028				040	4	D	4	16
OPERATING SYSTEM BCA-123	MS CONCE P 012					077	4	A+	9	36
DATABASE MANAGEN BCA-124	MENT SYS P 012					012	FFF 4	F	0	0
COMPUTER ORGANIZ BCA-125	ZATION L	ABORATOF		р 026		032	1.5	A	8	12
ADVANCED C PROGI BCA-126	RAMMING	LABORATO		P 028		038	1.5	A+	9	13.5
OPERATING SYSTEM BCA-127				P 033		040	1.5	A+	9	13.5
DATABASE MANAGEN BCA-128			e labora p 009			041	1.5	A+	9	13.5
Second Semes Total Credit Po			Credi	ts Earn	ed/Tot	al :	18/22			
First Year Resu	lt : Fai	1 А.Т.К.	т. то	tal Cre	dits E	arneo	d : 40/44			
ONLINE CERTIFIC/ 13419-GR9VA-A	ATE COUR	SES/MOOC	COURSE	S/ CARE	ER ADV	ANCEN "A"	MENT COURS 4	SE UP	т0	
PHYSICAL EDUCAT: G-1	ION (GRO	UP-I, SE 	EM-II) 			"A+'	' 2			
						••••				

CAAP010790-MCE SO	CIETY AE				OLLEG		S,SCIE	NCE A	ND C	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt		
						SH SHARI						
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 013 P	035				048	4	с	5	20		
PROBLEM SOLVING AN BCA-112 P		GRAMMIN 030	G 			044	4	D	4	16		
APPLIED MATHEMATIC BCA-113 P		034				051	4	в	6	24		
BUSINESS COMMUNICA BCA-114 P		044				061	4	A	8	32		
FUNDAMENTALS OF CO BCA-115	MPUTERS			014		026	1.5	В	6	9		
C PROGRAMMING LABO BCA-116	RATORY	P	008 P	024		032	1.5	A	8	12		
APPLIED MATHEMATIC BCA-117	S LABORA		009 P	015		024	1.5	с	5	7.5		
BUSINESS COMMUNICA BCA-118		P	012 P	025		037	1.5	А	8	12		
First Semester Total Credit Poin			Credits	Earned,	/Tota	1 : 22/2	2					
COMPUTER ORGANIZAT BCA-121 P		030				048	4	с	5	20		
ADVANCED C PROGRAM BCA-122 P		028				051	4	В	6	24		
OPERATING SYSTEMS BCA-123 P	CONCEPTS 019 P					067	4	A	8	32		
DATABASE MANAGEMEN BCA-124 P	T SYSTEM 016 *					069	4	А	8	32		
COMPUTER ORGANIZAT BCA-125		P	013 P	033		046	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	MING LAE			029		044	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127		P	011 P			046	1.5	0	10	15		
DATABASE MANAGEMEN BCA-128		P	010 P	033		043	1.5	A+	9	13.5		
Second Semeste Total Credit Poin	ts: 165				d/Tota	al : 22/	22					
First Year Total C								<b>_</b> =				
ONLINE CERTIFICATE 13419-GR9VA-A				/ CAREE	R ADV	ANCEMENT "A+"	COURS 4	E UP	ТО			
PHYSICAL EDUCATION G-1	(GROUP- 	-I, SEM 	-II) 			"A"	2					
											••	

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)

				PUNE .	(0	221)				
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		_	Crd Pnt
PRN: 1341910661		no.: 811						~~~ ner -	~~~ NASI	~~~ RIN
FUNDAMENTALS OF BCA-111	COMPUTE P 013	ers p 028				041	4	D	4	16
PROBLEM SOLVING BCA-112	P 018	PROGRAMMI * 053	NG 			071	4	А	8	32
APPLIED MATHEMA BCA-113	TICS P 016	P 044				060	4	А	8	32
BUSINESS COMMUN BCA-114	P 020					055	4	B+	7	28
FUNDAMENTALS OF BCA-115		ERS LABOR		028		036	1.5	А	8	12
C PROGRAMMING L			р 010 р	014		024	1.5	С	5	7.5
APPLIED MATHEMA BCA-117				016		026	1.5	В	6	9
BUSINESS COMMUN BCA-118			Р 010 Р	014		024	1.5	с	5	7.5
First Semes Total Credit Po			Credits	Earned,	/Tota	1 : 22/2	2			
COMPUTER ORGANI BCA-121	ZATION P 015	* 014				029 FFF	4	F	0	0
ADVANCED C PROG BCA-122	RAMMING P 019	* 045				064	4	А	8	32
OPERATING SYSTE BCA-123	MS CONCE P 012					051	4	в	6	24
DATABASE MANAGE BCA-124	MENT SYS P 012					082	4	A+	9	36
COMPUTER ORGANI BCA-125	ZATION L	_ABORATOR		029		035	1.5	A	8	12
ADVANCED C PROG BCA-126	RAMMING	LABORATC		027		042	1.5	A+	9	13.5
OPERATING SYSTE BCA-127	MS LABOF	RATORY	р 007 р	029		036	1.5	A	8	12
DATABASE MANAGE BCA-128			Р 007 Р	022		029	1.5	B+	7	10.5
Second Seme Total Credit Po			- Credit	s Earne	d/Tot	al : 18/	22			
First Year Resu							,			
ONLINE CERTIFIC 13419-GR9VA-A	ATE COUF		COURSES	/ CAREE	R ADV		COURS 4	E UP	т0	
PHYSICAL EDUCAT G-1	ION (GRO	DUP-I, SE 	M-II) 			"A"	2			

CAAP010790-MCE SO	CIETY ABEDA	INAMDAR S	-	OLLEG		RTS,SCIE	INCE A	ND (	COMMERCE AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt	
	Seat no.: 82					ZAKIR	~~~ Moth		~~~ TARANNUM	
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 012 P 029				041	4	D	4	16	
PROBLEM SOLVING AN BCA-112 P	D C PROGRAMM 012 P 028	ING 			040	4	D	4	16	
APPLIED MATHEMATIC BCA-113 P	S 013 P 037				050	4	В	6	24	
BUSINESS COMMUNICA BCA-114 P	TION 019 P 028				047	4	с	5	20	
FUNDAMENTALS OF CO BCA-115	MPUTERS LABO		o 027		039	1.5	A+	9	13.5	
C PROGRAMMING LABO BCA-116	RATORY	P 008 F	o 027		035	1.5	A	8	12	
APPLIED MATHEMATIC BCA-117	S LABORATORY		o 014		023	1.5	с	5	7.5	
BUSINESS COMMUNICA BCA-118	TION LABORAT		<b>0</b> 14		026	1.5	В	6	9	
First Semester Total Credit Poin		4 Credits	5 Earned	l/Tota	1:22,	/22				
COMPUTER ORGANIZAT BCA-121 P	ION 014 * 038				052	4	В	6	24	
ADVANCED C PROGRAM BCA-122 P	MING 015 * 046				061	4	А	8	32	
	015 P 035				050	4	В	6	24	
DATABASE MANAGEMEN BCA-124 P	T SYSTEMS-I 014 * 046				060	4	А	8	32	
COMPUTER ORGANIZAT BCA-125	ION LABORATO		P 033		048	1.5	0	10	15	
ADVANCED C PROGRAM BCA-126	MING LABORAT		P 026		041	1.5	A+	9	13.5	
OPERATING SYSTEMS BCA-127			P 033		042	1.5	A+	9	13.5	
DATABASE MANAGEMEN BCA-128		P 012 F	o 35				0	10	15	
Second Semeste Total Credit Poin	ts: 169			ed/Tot	al : 22	2/22				
First Year Total C										
ONLINE CERTIFICATE 13419-GR9VA-A			5/ CAREE	ER ADV	ANCEMEI "A"	NT COURS 4	E UP	то		
PHYSICAL EDUCATION G-1	(GROUP-I, S	EM-II) 			"A+"	2				
								• • • •		

		J - J								
CAAP010790-MCE SOCIETY	ABEDA INAMDAR	SENIOR	COLLEGE O	- ARTS	,SCIENCE /	AND	COMMERCE	AZAM	CAMPUS	
		PUNE	. (0221	)						

PUNE . (0221)											
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd		Crd Pnt	
~~ PRN: 1341910669		.: 822				~~~ ~~~ SULEMAN		her -		~~~ ISA	
FUNDAMENTALS OF CO	MPUTERS	5									
	9017 F					045	4	С	5	20	
PROBLEM SOLVING AN BCA-112 F		GRAMMIN 038	G 			058	4	B+	7	28	
APPLIED MATHEMATIC BCA-113 F		9 048				067	4	A	8	32	
BUSINESS COMMUNICA BCA-114 F		9 041				061	4	A	8	32	
FUNDAMENTALS OF CC BCA-115	MPUTERS			035		045	1.5	0	10	15	
C PROGRAMMING LABC BCA-116	RATORY	P	009 P	014		023	1.5	с	5	7.5	
APPLIED MATHEMATIC BCA-117	S LABOR		010 P	014		024	1.5	с	5	7.5	
BUSINESS COMMUNICA BCA-118	TION LA			025		037	1.5	А	8	12	
First Semester Total Credit Poin	SGPA : ts: 154	7.000	Credits	Earned,	/Tota	1 : 22/22	2				
COMPUTER ORGANIZAT	ION										
		• 031				051	4	В	6	24	
ADVANCED C PROGRAM BCA-122 F		o28				051	4	в	6	24	
OPERATING SYSTEMS BCA-123 F		s 9 047				065	4	А	8	32	
DATABASE MANAGEMEN BCA-124 F	IT SYSTE 017 *	-				070	4	A	8	32	
COMPUTER ORGANIZAT BCA-125	ION LAE			031		046	1.5	0	10	15	
ADVANCED C PROGRAM	MING LA										
BCA-126			015 P	027		042	1.5	A+	9	13.5	
OPERATING SYSTEMS BCA-127	LABORAT		009 р	035		044	1.5	A+	9	13.5	
DATABASE MANAGEMEN BCA-128	IT SYSTE	MS - I	LABORAT			046	1.5	0	10	15	
Second Semeste Total Credit Poin	r SGPA	: 7.682					-	Ŭ		10	
First Year Total C			: 44/44								
ONLINE CERTIFICATE 13419-GR9VA-A	COURSE			CAREE	R ADV	ANCEMENT	COURS	E UP	то		
PHYSICAL EDUCATION	GROUF	P-I, SEM	-II)			"B+"	2				
5 I							2				
					• • • • •	• • • • • • • • •	• • • • • •		••••		

Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~ ~~~ ~~~ ~~~  $\sim \sim \sim \sim$ ~~~~  $\sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1341910671 NAME: SHAIKH MOHAMMED MUDASSIR MAHEMUD Seat no.: 825 Mother - GULNAZ FUNDAMENTALS OF COMPUTERS BCA-111 P 013 P 040 \_\_\_ \_\_\_ \_\_\_ 053 4 В 6 24 PROBLEM SOLVING AND C PROGRAMMING P 012 P 033 045 4 5 20 BCA-112 \_\_\_ \_ \_ \_ С APPLIED MATHEMATICS P 014 P 034 4 BCA-113 048 С 5 20 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION BCA-114 P 020 P 041 061 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY P 025 033 1.5 8 12 BCA-115 --- P 008 А \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 008 \_\_\_ P 027 035 1.5 12 BCA-116 \_\_\_ \_\_\_ А 8 APPLIED MATHEMATICS LABORATORY P 009 023 5 7.5 BCA-117 \_\_\_ \_\_\_ P 014 \_\_\_ 1.5 С BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- Р 010 Р 024 \_\_\_ 034 1.5 А 8 12 First Semester SGPA : 6.341 Credits Earned/Total : 22/22 Total Credit Points: 139.5 COMPUTER ORGANIZATION 048 BCA-121 P 014 \* 034 4 С 5 20 ADVANCED C PROGRAMMING P 018 P 030 048 4 С 5 20 BCA-122 \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS 070 4 P 015 P 055 8 32 BCA-123 \_\_\_ \_\_\_ \_\_\_ Δ DATABASE MANAGEMENT SYSTEMS-I P 012 \* 070 082 4 9 36 BCA-124 \_\_\_ \_\_\_ A+ \_ \_ \_ COMPUTER ORGANIZATION LABORATORY --- Р 012 Р 033 BCA-125 ---\_\_\_ 045 1.5 0 10 15 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ --- Р 012 Р 027 \_\_\_ 039 1.5 A+ 9 13.5

--- Р 010 Р 035

ONLINE CERTIFICATE COURSES/MOOC COURSES/ CAREER ADVANCEMENT COURSE UP TO

\_\_\_

\_\_\_ 

\_\_\_

\_\_\_

--- Р 009 Р 035

\_\_\_

\_\_\_

Second Semester SGPA : 7.500 Credits Earned/Total : 22/22

045

"A+"

--- "A+"

1.5

1.5

4

2

0

A+

\_\_\_

---

--- 044

10 15

9 13.5

OPERATING SYSTEMS LABORATORY

Total Credit Points: 165

---

First Year Total Credits Earned : 44/44

PHYSICAL EDUCATION (GROUP-I, SEM-II)

\_\_\_

\_ \_ \_

DATABASE MANAGEMENT SYSTEMS - I LABORATORY

BCA-127

BCA-128

G-1

13419-GR9VA-A

Page 27

CAAP010790-MCE SC	OCIETY A		AMDAR S	Ledger ENIOR CO PUNE .	OLLEG			NCE AN	id c	COMMERCE AZAM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000		Crd	Grd G F	nt	Pnt
PRN: 1341910673	Seat no									- MUSHARRAT
FUNDAMENTALS OF CO BCA-111 F	OMPUTERS P 015 P	038				053	4	В	6	24
PROBLEM SOLVING AN BCA-112	ND C PRO P 014 P		G 			042	4	D	4	16
APPLIED MATHEMATIC BCA-113		028				040	4	D	4	16
BUSINESS COMMUNICA BCA-114 F		047				066	4	A	8	32
FUNDAMENTALS OF CO BCA-115				031		043	1.5	A+	9	13.5
C PROGRAMMING LABO BCA-116		•	007 P	014		021	1.5	D	4	6
APPLIED MATHEMATIC BCA-117	CS LABOR		008 P	021		029	1.5	B+	7	10.5
BUSINESS COMMUNICA BCA-118	ATION LA		Ү 013 Р	030		043	1.5	A+	9	13.5
First Semester Total Credit Poir			Credits	Earned,	/Tota	1:22	/22			
COMPUTER ORGANIZAT BCA-121		037				058	4	B+	7	28
ADVANCED C PROGRAM BCA-122 F		050				072	4	A	8	32
OPERATING SYSTEMS BCA-123	CONCEPTS P 018 P					059	4	B+	7	28
DATABASE MANAGEMEN BCA-124 F	NT SYSTEM P 012 P					040	4	D	4	16
COMPUTER ORGANIZAT BCA-125	FION LAB			025		031	1.5	A	8	12
ADVANCED C PROGRAM BCA-126	MING LAI			028		043	1.5	A+	9	13.5
OPERATING SYSTEMS BCA-127	LABORAT		010 P	027		037	1.5	A	8	12
DATABASE MANAGEMEN BCA-128			LABORAT 009 P			029	1.5	B+	7	10.5
Second Semeste Total Credit Poir		: 6.909	Credit	s Earneo	d/Tot	al : 2	2/22			
First Year Total (	Credits I	Earned	: 44/44							
ONLINE CERTIFICATE 13419-GR9VA-A	E COURSES	S/MOOC	COURSES,	/ CAREEI	R ADV	ANCEME "A"	NT COURS	E UP T	0	
PHYSICAL EDUCATION G-1	N (GROUP 	-I, SEM 	-II) 			"A"	2			

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS,SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)											
мin Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt		
PRN: 1341910675		o.: 838	NAME:	SHAIKH		~~~ ~~ R MOHD		~~~ Mot	her	~~~ - AFREEN	
FUNDAMENTALS OF BCA-111	COMPUTER P 021					052	4	в	6	24	
PROBLEM SOLVING BCA-112		OGRAMMIN P 030	NG 			046	4	с	5	20	
APPLIED MATHEMAT BCA-113		р 039				053	4	в	6	24	
BUSINESS COMMUNI BCA-114		P 043				061	4	A	8	32	
FUNDAMENTALS OF BCA-115		F		032		047	1.5	0	10	15	
C PROGRAMMING LA BCA-116	BORATORY		Р 009 Р	024		033	1.5	А	8	12	
APPLIED MATHEMAT BCA-117	ICS LABO		Р 010 Р	020		030	1.5	A	8	12	
BUSINESS COMMUNI BCA-118	CATION L			030		044	1.5	A+	9	13.5	
First Semest Total Credit Po			Credits	Earned,	/Tota	1 : 22/	22				
COMPUTER ORGANIZ BCA-121		* 031				056	4	B+	7	28	
ADVANCED C PROGR BCA-122		P 030				055	4	B+	7	28	
OPERATING SYSTEM BCA-123	S CONCEP P 021					068	4	A	8	32	
DATABASE MANAGEM BCA-124	ENT SYST P 018					081	4	A+	9	36	
COMPUTER ORGANIZ BCA-125	ATION LA			027		037	1.5	A	8	12	
ADVANCED C PROGR BCA-126	AMMING L			027		042	1.5	A+	9	13.5	
OPERATING SYSTEM BCA-127	S LABORA		Р 011 Р	023		034	1.5	A	8	12	
DATABASE MANAGEM BCA-128	ENT SYST		LABORAT P 012 P			031	1.5	A	8	12	
Second Semes Total Credit Po			6 Credit	s Earne	d/Tota	al : 22	/22				
First Year Total	Credits	Earned	: 44/44								
ONLINE CERTIFICA 13419-GR9VA-A	TE COURS	ES/MOOC 	COURSES	/ CAREEI	R ADV	ANCEMEN "A"	T COURS	E UP	то		
PHYSICAL EDUCATI G-1	ON (GROU	P-I, SEN 	1-II) 			"A+"	2				

CAAP010790-MCE SOCIETY	ABEDA INAMDAR	SENIOR	COLLEGE OF	ARTS	,SCIENCE	AND	COMMERCE	AZAM	CAMPUS		
		PUNE	. (0221)								

				F	JUNE .	()	221)				
Min Max		ТН 028 070	INT 006 015		PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt
PRN: 1341910678		-	41 NAM						ther ·	~~~ - SAI	~~~ EEDA
FUNDAMENTALS OF BCA-111	COMPUTI P 012						040	4	D	4	16
PROBLEM SOLVING BCA-112	AND C I P 013		MING 				061	4	A	8	32
APPLIED MATHEMA BCA-113	TICS P 013	P 039					052	4	В	6	24
BUSINESS COMMUN BCA-114	ICATION P 016	P 028					044	4	D	4	16
FUNDAMENTALS OF BCA-115			DRATORY P 010	Ρ	026		036	1.5	А	8	12
C PROGRAMMING LA BCA-116	ABORATO	RY	P 006	Ρ	014		020	1.5	D	4	6
APPLIED MATHEMA BCA-117			P 008	Ρ	029		037	1.5	А	8	12
BUSINESS COMMUN BCA-118			P 010	-	020		030	1.5	А	8	12
First Semes Total Credit Po			09 Credi	ts	Earned,	/Tota	1:22/	22			
COMPUTER ORGANI BCA-121	ZATION P 016	* 031					047	4	с	5	20
ADVANCED C PROG BCA-122	RAMMING P 019	* 050					069	4	А	8	32
OPERATING SYSTE BCA-123	MS CONCI P 012	-					058	4	B+	7	28
DATABASE MANAGE BCA-124	MENT SYS P 012						071	4	А	8	32
COMPUTER ORGANI BCA-125	ZATION I	LABORAT(	ORY P 010	Ρ	031		041	1.5	A+	9	13.5
ADVANCED C PROG BCA-126	RAMMING	LABORA	TORY P 015	Р	028		043	1.5	A+	9	13.5
OPERATING SYSTE BCA-127	MS LABO	RATORY 	P 008	Р	031		039	1.5	A+	9	13.5
DATABASE MANAGE BCA-128	MENT SYS	STEMS - 	I LABOR P 010		DRY 035		045	1.5	0	10	15
Second Seme Total Credit Po			614 Cred	its	s Earneo	d/Tot	al : 22	/22			
First Year Tota	l Credi	ts Earne	ed : 44/	44							
ONLINE CERTIFIC 13419-GR9VA-A	ATE COUI	,		ES/		R ADV		T COURS	SE UP	то	
PHYSICAL EDUCAT G-1	ION (GRO	OUP-I, 9	SEM-II) 				"в+"	2			

CAAP010790-MCE S	OCIETY /	ABEDA IN	-	e Ledger ENIOR CO PUNE .	OLLEG			NCE A	AND (	COMMERCE	AZAM C	AMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000		Crd	Grd	Grd Pnt	Crd Pnt		
PRN: 1341910679		o.: 842		SHAIKH				ther	~~~ - R(	DNAK		
FUNDAMENTALS OF C BCA-111	OMPUTERS P 016 I					048	4	с	5	20		
PROBLEM SOLVING A BCA-112	-	OGRAMMIN P 036	NG 			049	4	с	5	20		
	P 021 I	P 030				051	4	в	6	24		
BUSINESS COMMUNIC BCA-114		P 043				069	4	А	8	32		
FUNDAMENTALS OF C BCA-115				027		037	1.5	A	8	12		
C PROGRAMMING LAB BCA-116			P 012 P	014		026	1.5	В	6	9		
APPLIED MATHEMATI BCA-117	CS LABO		P 008 P	016		024	1.5	С	5	7.5		
BUSINESS COMMUNIC BCA-118	ATION LA			027		039	1.5	A+	9	13.5		
First Semeste Total Credit Poi	er SGPA nts: 138	: 6.273			/Tota	1:2	2/22					
COMPUTER ORGANIZA BCA-121		P 029				042	4	D	4	16		
ADVANCED C PROGRA BCA-122		P 032				047	4	с	5	20		
OPERATING SYSTEMS BCA-123	P 018					065	4	А	8	32		
DATABASE MANAGEME BCA-124	NT SYSTI P 012					072	4	A	8	32		
COMPUTER ORGANIZA BCA-125	TION LAN			027		039	1.5	A+	9	13.5		
ADVANCED C PROGRA BCA-126		F		020		032	1.5	А	8	12		
OPERATING SYSTEMS BCA-127		I		025		035	1.5	A	8	12		
DATABASE MANAGEME BCA-128		F	Р 010 Р	014		024	-	с	5	7.5		
Second Semest Total Credit Poi	nts: 14	5			d/Tota	al : 1	22/22					
First Year Total									TO			
ONLINE CERTIFICAT 13419-GR9VA-A				/ CAREEI		ANCEM "B+"	ENT COURS 4	E UP	10			
PHYSICAL EDUCATIC G-1	N (GROUI	P-I, SEN 	4-II) 			"A"	2					
		• • • • • • • • •							••••			

CAAP010790-MCE SOCIET	Y ABEDA	INAMDAR	SENIOR	COLLEGE OF	ARTS	,SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
			PUNE .	. (0221)	)	-					

				PUNE .	(0.	221)						
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt		
PRN: 1341910683		no.: 844				ASIF	Mother	~~~ - MI	EENAZ	~~~ Z		
FUNDAMENTALS OF BCA-111	COMPUTE P 014	RS * 067				081	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C P P 013	PROGRAMMIN * 057	G			070	4	A	8	32		
APPLIED MATHEMAT BCA-113	FICS P 017	р 046				063	4	A	8	32		
BUSINESS COMMUNI BCA-114	CATION P 018	P 043				061	4	A	8	32		
FUNDAMENTALS OF BCA-115	COMPUTE			034		042	1.5	A+	9	13.5		
C PROGRAMMING LA BCA-116	ABORATOR		008 P	014		022	1.5	D	4	6		
APPLIED MATHEMAT BCA-117	TICS LAB		008 P	014		022	1.5	D	4	6		
BUSINESS COMMUNI BCA-118		P	010 P	027		037	1.5	A	8	12		
First Semester SGPA : 7.705 Credits Earned/Total : 22/22 Total Credit Points: 169.5												
COMPUTER ORGANIZ BCA-121	ZATION P 020	* 031				051	4	в	6	24		
ADVANCED C PROGE BCA-122	RAMMING P 025	* 050				075	4	A+	9	36		
OPERATING SYSTEM BCA-123		PTS P 041				056	4	B+	7	28		
DATABASE MANAGEM BCA-124		STEMS-I * 070				082	4	A+	9	36		
COMPUTER ORGANIZ BCA-125	ZATION L			029		043	1.5	A+	9	13.5		
ADVANCED C PROGE BCA-126	RAMMING			029		041	1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127	IS LABOR	-	010 P	033		043	1.5	A+	9	13.5		
DATABASE MANAGEM BCA-128	MENT SYS	-	-	ORY 035		043	1.5	A+	9	13.5		
Second Semes Total Credit Po	ster SGP Dints: 1	PA : 8.091 178	Credit	s Earne	d/Tota	al : 22	2/22					
First Year Tota	l Credit	s Earned	: 44/44									
ONLINE CERTIFICA 13419-GR9VA-A	ATE COUR		COURSES	/ CAREEI	R ADV	ANCEMEN "A+"	IT COURS	E UP	т0			
PHYSICAL EDUCATI G-1	ION (GRO	UP-I, SEM 	-II) 			"в+"	2					

College Ledger(Oct-2020)											
CAAP010790-MCE SO	CIETY ABEDA	INAMDAR S	ENIOR ( PUNE .		e of art 221)	S,SCIE	ENCE /	AND C	OMMERCE	AZAM (	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	000 000	Tot		Grd	Grd Pnt			
PRN: 1341910686	~~~~ ~~~~~~ Seat no.: 84						ner -	MANJ	~~~ U DEVI		
FUNDAMENTALS OF CON BCA-111 P	MPUTERS 013 P 028 #				041	4	D	4	16		
PROBLEM SOLVING AND BCA-112 P		1ING 			041	4	D	4	16		
APPLIED MATHEMATIC BCA-113 P	s 016 p 028				044	4	D	4	16		
BUSINESS COMMUNICA BCA-114 P	TION 025 P 037				062	4	А	8	32		
FUNDAMENTALS OF CO BCA-115	MPUTERS LABO		026		034	1.5	A	8	12		
C PROGRAMMING LABO BCA-116		P 008 P	014		022	1.5	D	4	6		
APPLIED MATHEMATIC: BCA-117	S LABORATORY		020		030	1.5	A	8	12		
BUSINESS COMMUNICA BCA-118	TION LABORAT		024		034	1.5	A	8	12		
First Semester Total Credit Poin		15 Credits	Earneo	d/Tota	1 : 22/2	2					
COMPUTER ORGANIZAT: BCA-121 P	ION 014 P 028				042	4	D	4	16		
ADVANCED C PROGRAMI BCA-122 P	MING 017 * 049				066	4	А	8	32		
OPERATING SYSTEMS BCA-123 P	CONCEPTS 016 P 046				062	4	A	8	32		
DATABASE MANAGEMEN BCA-124 P	T SYSTEMS-I 012 * 067				079	4	A+	9	36		
COMPUTER ORGANIZAT: BCA-125	ION LABORATO		033		048	1.5	0	10	15		
ADVANCED C PROGRAMI BCA-126	MING LABORAT		020		032	1.5	A	8	12		
OPERATING SYSTEMS BCA-127	LABORATORY	р 010 р	027		037	1.5	A	8	12		
DATABASE MANAGEMEN BCA-128	T_SYSTEMS -	I LABORAT P 012 P			043	1.5	A+	9	13.5		
Second Semeste Total Credit Poin		559 Credit	s Earne	ed/Tota	al : 22/	22					
First Year Total C	redits Earne	ed : 44/44									
ONLINE CERTIFICATE 13419-GR9VA-A	COURSES/MOC	C COURSES	/ CAREI		ANCEMENT "A+"	COURS	SE UP	то			
PHYSICAL EDUCATION G-1	(GROUP-I, S	SEM-II) 			"A+"	2					
# O.4											
•••••							• • • •		• • • • • • • •	• • •	

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)

PUNE . (0221)											
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt	
PRN: 1341910690		~~~~~ ~~ no.: 853						er -	~~~ SHAł		
FUNDAMENTALS OF BCA-111	COMPUTEI P 017					052	4	В	6	24	
PROBLEM SOLVING BCA-112	-	ROGRAMMIN P 032	IG 			047	4	с	5	20	
APPLIED MATHEMAT BCA-113	ICS P 017	P 030				047	4	с	5	20	
BUSINESS COMMUNI BCA-114		P 041				067	4	А	8	32	
FUNDAMENTALS OF BCA-115	COMPUTEI			033		048	1.5	0	10	15	
C PROGRAMMING LA BCA-116		P	008 F	032		040	1.5	A+	9	13.5	
APPLIED MATHEMAT BCA-117		P		<b>0</b> 24		033	1.5	А	8	12	
BUSINESS COMMUNI BCA-118		P	014 F	030		044	1.5	A+	9	13.5	
First Semest Total Credit Po	ints: 1		Credits	Earne	ed/Tota	1 : 22/	22				
COMPUTER ORGANIZ	P 023	P 028				051	4	В	6	24	
ADVANCED C PROGR. BCA-122	P 019	P 028				047	4	с	5	20	
OPERATING SYSTEM BCA-123	P 025	Р 046				071	4	А	8	32	
DATABASE MANAGEM BCA-124	P 022	* 070				092	4	0	10	40	
COMPUTER ORGANIZ		P	015 F	031		046	1.5	0	10	15	
ADVANCED C PROGR BCA-126		P		026		041	1.5	A+	9	13.5	
OPERATING SYSTEM BCA-127		P		021		034	1.5	А	8	12	
DATABASE MANAGEM BCA-128		P	014 F	017		031	1.5	А	8	12	
Second Semes Total Credit Po	ints: 10	68.5			ied/Tot	ai:22	./22				
First Year Total ONLINE CERTIFICA	TE COURS		COURSES	5/ CARE	EER ADV	ANCEMEN		E UP	то		
13419-GR9VA-A PHYSICAL EDUCATI	 ON (GRO	 JP-I, SEM	 I-II)				4				
G-1						"A"	2				
•••••	• • • • • • • •			• • • • • •	• • • • • • • •			• • • •	• • • • •	• • • • •	

СААР010790-МСЕ	SOCIETY	ABEDA			COLLEG			EENCE	AND	COMMERC	E AZAM	CAMPU	s
Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Pnt	Crd Pnt			
PRN: 1341910691		no.: 85	56 NAME:		~~~~~ NKAR TA					~~~ HAHNAZ			
FUNDAMENTALS OF BCA-111	COMPUTE P 012					040	4	D	4	16			
PROBLEM SOLVING BCA-112	AND C P P 012	ROGRAMN P 028	ING 			040	4	D	4	16			
APPLIED MATHEMAT BCA-113	ICS P 013	* 038				051	4	В	6	24			
BUSINESS COMMUNI BCA-114		р 044				063	4	A	8	32			
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABO		027		035	1.5	A	8	12			
C PROGRAMMING LA BCA-116	BORATOR	Y	P 006 F	020		026	1.5	В	6	9			
APPLIED MATHEMAT BCA-117	ICS LAB	ORATOR		014		022	1.5	D	4	6			
BUSINESS COMMUNI BCA-118			P 010 F			028	1.5	B+	7	10.5			
First Semest Total Credit Po	er SGPA Sints: 1	: 5.70 25.5	)5 Credits	Earn	ed/Tota	1:2	22/22						
COMPUTER ORGANIZ BCA-121		* 034				046	4	С	5	20			
ADVANCED C PROGE BCA-122	AMMING P 012	* 050				062	4	А	8	32			
OPERATING SYSTEM BCA-123		PTS P 030				042	4	D	4	16			
DATABASE MANAGEM BCA-124	IENT SYS P 012	TEMS-I * 070				082	4	A+	9	36			
COMPUTER ORGANIZ BCA-125	ATION L	ABORATO		021		027	1.5	В	6	9			
ADVANCED C PROGE BCA-126	AMMING	LABORAT		033		045	1.5	0	10	15			
OPERATING SYSTEM BCA-127				031		038	1.5	A+	9	13.5			
DATABASE MANAGEN BCA-128			I LABORAT P 007 F			040	1.5	A+	9	13.5			
Second Semester SGPA : 7.045 Credits Earned/Total : 22/22 Total Credit Points: 155													
First Year Total Credits Earned : 44/44													
PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1 ''A'' 2													
						• • • • •							

CAAP010790-MCE SOCIETY	ABEDA INAMDAR	SENIOR	COLLEGE OF	ARTS	,SCIENCE	AND	COMMERCE	AZAM	CAMPUS		
		PUNE	. (0221)								

	PUNE . (0221)				(ZZI)					
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt
PRN: 1341911357		~~~~~~ ~ no.: 739						~~~ er -	~~~ ROSł	~~~ HAN
FUNDAMENTALS OF BCA-111	COMPUTE P 013	ers p 028				041	4	D	4	16
PROBLEM SOLVING BCA-112	AND C P P 012		NG 			040	4	D	4	16
APPLIED MATHEMA BCA-113	TICS P 012	P 028				040	4	D	4	16
BUSINESS COMMUN BCA-114	ICATION P 019	P 035				054	4	В	6	24
FUNDAMENTALS OF BCA-115	COMPUTE			031		046	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATO		Р 006 Р	025		031	1.5	А	8	12
APPLIED MATHEMA BCA-117	TICS LAE		р 006 р	027		033	1.5	А	8	12
BUSINESS COMMUN BCA-118	ICATION			026		040	1.5	A+	9	13.5
First Semester SGPA : 5.659 Credits Earned/Total : 22/22 Total Credit Points: 124.5										
COMPUTER ORGANI BCA-121	ZATION P 020	* 034				054	4	В	6	24
ADVANCED C PROG BCA-122	RAMMING P 021	* 048				069	4	А	8	32
OPERATING SYSTE BCA-123	MS CONCE P 016	EPTS P 029				045	4	с	5	20
DATABASE MANAGE BCA-124		STEMS-I * 063				075	4	A+	9	36
COMPUTER ORGANI BCA-125	ZATION I			027		039	1.5	A+	9	13.5
ADVANCED C PROG BCA-126	RAMMING			023		035	1.5	А	8	12
OPERATING SYSTE BCA-127	MS LABOR	-	р 010 р	033		043	1.5	A+	9	13.5
DATABASE MANAGE BCA-128	MENT SYS		-	ORY 033		043	1.5	A+	9	13.5
Second Seme Total Credit P			7 Credit	s Earne	d/Tot	al : 22/	22			
First Year Tota	l Credit	ts Earned	: 44/44							
ONLINE CERTIFIC 13419-GR9VA-A		RSES/MOOC	COURSES	/ CAREE	R ADV	ANCEMENT	COURS 4	SE UP	т0	
PHYSICAL EDUCAT G-1	ION (GRO	DUP-I, SE 	M-II) 			"A"	2			

		College	Ledger	(Oct	-2020	)					
CAAP010790-MCE SOC	CIETY ABEDA IN		ENIOR C PUNE .	OLLEG (0	E OF 221)	ARTS,SCI	ENCE A	AND (	COMMERCE	AZAM C	AMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	000 000	Tot	Crd	Grd	Pnt	Pnt		
PRN: 1341911358	Seat no.: 855	NAME:				ARUQUE	~~~ Mothe		~~~ NAZNEEN		
FUNDAMENTALS OF COM BCA-111 P	1PUTERS 016 P 041				057	4	B+	7	28		
PROBLEM SOLVING AND BCA-112 P	OCPROGRAMMIN 016 * 050	G 			066	4	A	8	32		
APPLIED MATHEMATICS BCA-113 P	; 013 р 033				046	4	с	5	20		
BUSINESS COMMUNICAT BCA-114 P	TION 023 P 029				052	4	В	6	24		
FUNDAMENTALS OF COM BCA-115			014		022	1.5	D	4	6		
C PROGRAMMING LABOR BCA-116		008 P	014		022	1.5	D	4	6		
APPLIED MATHEMATICS BCA-117	5 LABORATORY P	008 P	014		022	1.5	D	4	6		
BUSINESS COMMUNICAT BCA-118			020		030	1.5	A	8	12		
First Semester Total Credit Point		Credits	Earned	/Tota	1:2	2/22					
COMPUTER ORGANIZATI BCA-121 P	ION 015 * 028 #				043	4	D	4	16		
ADVANCED C PROGRAMM BCA-122 P	1ING 020 P 028				048	4	с	5	20		
OPERATING SYSTEMS C BCA-123 P	CONCEPTS 019 P 054				073	4	A	8	32		
DATABASE MANAGEMENT BCA-124 P	「 SYSTEMS-I 015 * 069				084	4	A+	9	36		
COMPUTER ORGANIZATI BCA-125			033		045	1.5	0	10	15		
ADVANCED C PROGRAMM BCA-126			026		038	1.5	A+	9	13.5		
OPERATING SYSTEMS L BCA-127		010 P	031		041	1.5	A+	9	13.5		
DATABASE MANAGEMENT BCA-128			ORY 033		045	1.5	0	10	15		
Second Semester Total Credit Point		Credit	s Earne	d/Tot	al :	22/22					
First Year Total Cr	redits Earned	: 44/44									
ONLINE CERTIFICATE 13419-GR9VA-A	COURSES/MOOC	COURSES	/ CAREE	R ADV	ANCEM "A+"		SE UP	то			
PHYSICAL EDUCATION G-1	(GROUP-I, SEM	-II) 			"A"	2					
# O.4											
		• • • • • • • •	• • • • • • • •	• • • • •	• • • • •			• • • •		••	

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~~  $\sim \sim \sim$ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~ PRN: 1342000575 NAME: ADNAN ANJUM PATWEKAR Mother - IRFANA Seat no.: 734 FUNDAMENTALS OF COMPUTERS 053 BCA-111 \* 025 \* \_\_\_ 078 4 A+ 9 36 \_\_\_ \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING \* 028 \* 053 081 4 9 36 BCA-112 \_ \_ \_ A+ APPLIED MATHEMATICS \* 028 \* 052 080 4 BCA-113 A+ 9 36 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 028 BCA-114 \* 046 074 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 014 \* 033 10 047 1.5 15 BCA-115 0 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 029 \_\_\_ 043 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 014 \* 027 BCA-117 \_\_\_ \_\_\_ 041 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 015 \* 031 \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 8.955 Credits Earned/Total : 22/22 Total Credit Points: 197 PRN: 1342000576 Seat no.: 735 NAME: AKHAND AWAIS JAWED Mother - WASIYA FUNDAMENTALS OF COMPUTERS \* 022 \* 059 081 36 BCA-111 4 A+ 9 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 023 \* 045 \_ \_ \_ 068 4 А 8 32 APPLIED MATHEMATICS BCA-113 \* 024 \* 031 055 4 B+ 7 28 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 042 070 4 8 32 BCA-114 \* 028 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 031 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 045 1.5 0 10 15 C PROGRAMMING LABORATORY \* 014 BCA-116 \_\_\_ \* 029 043 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 012 \* 031 043 1.5 9 13.5 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 031 BCA-118 \_\_\_ \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 8.409 Credits Earned/Total : 22/22 Total Credit Points: 185 

### Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 000 014 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~  $\sim \sim \sim$ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~ PRN: 1342000577 Seat no.: 736 NAME: AL AZHAR BAPU Mother -NAJMA BAPU FUNDAMENTALS OF COMPUTERS 060 BCA-111 \* 026 \* \_ \_ \_ \_\_\_ 086 4 A+ 9 36 \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING \* 027 \* 055 082 4 9 36 BCA-112 A+ APPLIED MATHEMATICS \* 029 \* 045 074 4 BCA-113 A 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 029 BCA-114 \* 043 072 4 8 32 \_\_\_ \_\_\_ А \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY 10 \* 012 \* 033 045 1.5 15 BCA-115 0 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 012 \* 029 041 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 014 \* 029 BCA-117 \_ \_ \_ \_ \_\_\_ 043 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 015 \* 032 \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 PRN: 1342000578 Seat no.: 738 NAME: ANSARI AFSAR MOHD HUSSAIN Mother - ABEDA FUNDAMENTALS OF COMPUTERS \* 017 \* AAA 017 FFF 0 0 BCA-111 4 F PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 015 \* 049 \_ \_ \_ 064 4 А 8 32 APPLIED MATHEMATICS BCA-113 \* 014 \* 048 062 4 Α 8 32 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* AAA 026 FFF 4 F 0 0 BCA-114 \* 026 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 15 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 047 1.5 0 10 C PROGRAMMING LABORATORY \* 014 BCA-116 \_\_\_ \* 026 040 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 012 \* 029 041 1.5 9 13.5 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 031 BCA-118 \_\_\_ \_\_\_ 046 1.5 0 10 15 First Semester SGPA : ---- Credits Earned/Total : 14/22 Total Credit Points: 121

CO CAAP010790-MCE SOCIETY ABEDA INAME		Ledger( NIOR CO JNE .	LLEGE		,SCIEN	ICE AI	ND (	COMMERCE AZAM CAMPUS	S
Min 012 028 00 Max 030 070 02	06 ( 15 (	014 035	000 000		Crd		Pnt	Pnt	
PRN: 1342000579 Seat no.: 740				~~~ ~~~ R MUSTAF		ther		~~~ NARGIS	
FUNDAMENTALS OF COMPUTERS BCA-111 * 028 * 060				088	4	A+	9	36	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 028 * 064				092	4	0	10	40	
APPLIED MATHEMATICS BCA-113 * 028 * 043				071	4	A	8	32	
BUSINESS COMMUNICATION BCA-114 * 028 * 060				088	4	A+	9	36	
FUNDAMENTALS OF COMPUTERS LABORATOR BCA-115 * 02		033		048	1.5	0	10	15	
C PROGRAMMING LABORATORY BCA-116 * 01	15 * 0	023		038	1.5	A+	9	13.5	
APPLIED MATHEMATICS LABORATORY BCA-117 * 02	15 * 0	034		049	1.5	0	10	15	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 01	15 * 0	034		049	1.5	0	10	15	
First Semester SGPA : 9.205 Cre Total Credit Points: 202.5	edits E	Earned/	Total	: 22/22					
PRN: 1342000580 Seat no.: 741 N	NAME: A	SHARAF	ALLI	ALLABAKS	HA SHE	КН	Mot	cher - SHABANA	
FUNDAMENTALS OF COMPUTERS BCA-111 * 026 * 067				093	4	0	10	40	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 024 * 064				088	4	A+	9	36	
APPLIED MATHEMATICS BCA-113 * 029 * 048				077	4	A+	9	36	
BUSINESS COMMUNICATION BCA-114 * 029 * 057				086	4	A+	9	36	
FUNDAMENTALS OF COMPUTERS LABORATOR BCA-115 * 02		031		046	1.5	0	10	15	
C PROGRAMMING LABORATORY BCA-116 * 01	15 * 0	029		044	1.5	A+	9	13.5	
APPLIED MATHEMATICS LABORATORY BCA-117 * 01	15 * 0	034		049	1.5	0	10	15	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 02	15 * 0	034		049	1.5	0	10	15	
First Semester SGPA : 9.386 Cre Total Credit Points: 206.5	edits E	Earned/	Total	: 22/22					

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~  $\sim \sim \sim \sim$ ~~~~ ~~~~~~~~  $\sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000581 NAME: ATTAR NOMAAN SAMEER Seat no.: 742 Mother - SHAHIN FUNDAMENTALS OF COMPUTERS 067 BCA-111 \* 026 \* \_\_\_ \_\_\_ 093 4 0 10 40 \_\_\_ PROBLEM SOLVING AND C PROGRAMMING \* 027 \* 067 094 4 0 10 40 BCA-112 \_ \_ \_ APPLIED MATHEMATICS \* 029 \* 060 089 4 BCA-113 A+ 9 36 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 059 \* 029 BCA-114 088 4 9 36 \_\_\_ \_\_\_ A+ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 014 \* 033 047 10 1.5 0 15 BCA-115 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 029 \_\_\_ 043 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 013 \* 030 BCA-117 \_\_\_ \_ \_ \_ 043 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 015 \* 033 \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 9.500 Credits Earned/Total : 22/22 Total Credit Points: 209 PRN: 1342000582 Seat no.: 746 NAME: DAKHAVE YUSUF JAVEED Mother - SHAGUFTA FUNDAMENTALS OF COMPUTERS \* 023 \* 057 080 36 BCA-111 4 A+ 9 PROBLEM SOLVING AND C PROGRAMMING \* 029 \* 048 BCA-112 \_ \_ \_ 077 4 A+ 9 36 APPLIED MATHEMATICS BCA-113 \* 029 \* 034 063 4 Α 8 32 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 042 071 4 8 32 BCA-114 \* 029 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 BCA-115 \_\_\_ \_\_\_ \* 015 \_ \_ \_ 048 1.5 0 10 15 C PROGRAMMING LABORATORY \* 015 BCA-116 \_\_\_ \* 029 044 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 012 \* 028 040 1.5 9 13.5 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 032 BCA-118 \_\_\_ \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 

CAAD010700 MCE COCTE		College	-								CAMPUS
CAAP010790-MCE SOCIE	IY ABEDA I		ENIOR O PUNE .		E OF 1 221)	ARIS, SCIE	NCE /	AND (	COMMERC	E AZAM	CAMPUS
IN Min O1 Max O3	2 028	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt		
	~ ~~~~~ ~ t no.: 748					~~~ ~~~ MUSTAMSH		~~~ Mo1	ther -	AFSANA	
FUNDAMENTALS OF COMPU											
	3 * 063				086	4	A+	9	36		
PROBLEM SOLVING AND C BCA-112 * 02	4 * 038				062	4	А	8	32		
APPLIED MATHEMATICS BCA-113 * 02	5 * 032				057	4	B+	7	28		
BUSINESS COMMUNICATIO BCA-114 * 02					067	4	А	8	32		
FUNDAMENTALS OF COMPU BCA-115			033		047	1.5	0	10	15		
C PROGRAMMING LABORAT BCA-116		* 012 *	029		041	1.5	A+	9	13.5		
APPLIED MATHEMATICS L BCA-117		* 014 *	027		041	1.5	A+	9	13.5		
BUSINESS COMMUNICATIO BCA-118		RY * 015 *	032		047	1.5	0	10	15		
First Semester SG Total Credit Points:		Credits	Earneo	l/Tota	1:2	2/22	-		-		
DDN: 1242000594 Coo									· · · · · · · · ·		
PRN: 1342000584 Sea FUNDAMENTALS OF COMPU		NAME:	GAIKWA	AD PUS	НРАК	VIJAY M	lotnei	r – :	SAVITA		
	6 * 056				082	4	A+	9	36		
PROBLEM SOLVING AND C BCA-112 * 02	PROGRAMMI 6 * 045	NG 			071	4	A	8	32		
APPLIED MATHEMATICS BCA-113 * 02	6 * 041				067	4	А	8	32		
BUSINESS COMMUNICATIO BCA-114 * 02					075	4	A+	9	36		
FUNDAMENTALS OF COMPU BCA-115			033		047	1.5	0	10	15		
C PROGRAMMING LABORAT BCA-116	ORY 	* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATICS L BCA-117	ABORATORY	* 012 *	031		043	1.5	A+	9	13.5		
BUSINESS COMMUNICATIO BCA-118	N LABORATO		032		047	1.5	0	10	15		
First Semester SG Total Credit Points:		Credits	Earneo	l/Tota	1:2	2/22					

College Ledger(Oct-2020)
CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)
INT TH INT PR INT TOT Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Max 030 070 015 035 000
PRN: 1342000585 Seat no.: 750 NAME: GHARADE M YASEEN MAINUDDIN Mother - RUKIYA
FUNDAMENTALS OF COMPUTERS
3CA-111 * 029 * 067 096 4 0 10 40
PROBLEM SOLVING AND C PROGRAMMING 3CA-112 * 029 * 070 099 4 0 10 40
APPLIED MATHEMATICS 3CA-113 * 029 * 049 078 4 A+ 9 36
BUSINESS COMMUNICATION BCA-114
FUNDAMENTALS OF COMPUTERS LABORATORY
3CA-115 * 015 * 033 048 1.5 0 10 15
C PROGRAMMING LABORATORY 3CA-116 * 015 * 029 044 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY
3CA-117 + 015 * 029 044 1.5 A+ 9 13.5
3USINESS COMMUNICATION LABORATORY 3CA-118 * 015 * 033 048 1.5 0 10 15
First Semester SGPA : 9.682 Credits Earned/Total : 22/22 Total Credit Points: 213
PRN: 1342000586   Seat no.: 751   NAME: GHARATKAR KHADIJA ASIF   Mother - TABASSUM
FUNDAMENTALS OF COMPUTERS 3CA-111 * 028 * 067 095 4 0 10 40
PROBLEM SOLVING AND C PROGRAMMING 3CA-112
APPLIED MATHEMATICS 3CA-113 * 028 * 049 077 4 A+ 9 36
BUSINESS COMMUNICATION 3CA-114
FUNDAMENTALS OF COMPUTERS LABORATORY 3CA-115 * 014 * 031 045 1.5 0 10 15
C PROGRAMMING LABORATORY
BCA-116 * 014 * 032 046 1.5 0 10 15
APPLIED MATHEMATICS LABORATORY 3CA-117 * 015 * 032 047 1.5 0 10 15
BUSINESS COMMUNICATION LABORATORY 3CA-118 * 015 * 033 048 1.5 0 10 15
First Semester SGPA : 9.455 Credits Earned/Total : 22/22 Total Credit Points: 208

CAAP010790-MCE	SOCIETY	ABEDA 1	ENAMDAR	, 5	COLLEG	-		NCE	AND C	OMMERCE	AZAM CAM	1PUS
Min Max		ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000587			2 NAME				ASIFIQBAL		~~~ other	~~~ - ASMA		
FUNDAMENTALS OF BCA-111	COMPUTER * 026					090	4	0	10	40		
PROBLEM SOLVING BCA-112	AND C PF * 023	ROGRAMMI * 048	ENG 			071	4	A	8	32		
APPLIED MATHEMA BCA-113	TICS * 029	* 028 \$				057	4	B+	7	28		
BUSINESS COMMUN BCA-114		* 046				073	4	A	8	32		
FUNDAMENTALS OF BCA-115	COMPUTER	RS LABOF	RATORY * 015	* 033		048	1.5	0	10	15		
C PROGRAMMING L BCA-116	ABORATOR	Y	* 014	* 032		046	1.5	0	10	15		
APPLIED MATHEMA BCA-117	TICS LABO		* 014	* 030		044	1.5	A+	9	13.5		
BUSINESS COMMUN BCA-118			ORY * 014	* 034		048	1.5	0	10	15		
First Semes Total Credit P	ter SGPA	: 8.659	) Credit	s Earne	d/Tota	l : 22	2/22					
Total Credit P	offics: Is	90.5										
\$ 0.1												
						ANUSHK	(A AMAR	 Mot	 her -	SARIKA		
\$ 0.1	Seat r				 IULKAR 	ANUSHK	(A AMAR 4	 Mot O	 her - 10	SARIKA 40		
\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF	Seat r COMPUTEF * 026 AND C PF	no.: 754 RS * 066	1 NAME		 IULKAR 							
<pre>\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING</pre>	Seat r COMPUTEF * 026 AND C PF * 023	no.: 754 RS * 066 ROGRAMMJ	1 NAME		 IULKAR  	092	4	0	10	40		
<pre>\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAX</pre>	Seat r COMPUTEF * 026 AND C PF * 023 TICS * 028 ICATION	no.: 754 RS * 066 ROGRAMMJ * 050	1 NAME		IULKAR   	092 073	4 4	0 A	10 8	40 32		
<pre>\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUN</pre>	Seat r COMPUTEF * 026 AND C PF * 023 TICS * 028 ICATION * 027	no.: 754 x 066 x 066 x 050 x 039 x 055 x 055 x LABOF	4 NAME  CNG  		IULKAR   	092 073 067	4 4 4	0 A A	10 8 8	40 32 32 36		
<pre>\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF</pre>	Seat r COMPUTEF * 026 AND C PF * 023 TICS * 028 ICATION * 027 COMPUTEF 	no.: 754 S * 066 ROGRAMM] * 050 * 039 * 055 RS LABOF 	4 NAME  ENG   RATORY	: JAMBH    * 033	  	092 073 067 082 048	4 4 4 1.5	0 A A A+ 0	10 8 9 10	40 32 32 36 15		
<pre>\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING L</pre>	Seat r COMPUTEF * 026 AND C PF * 023 TICS * 028 ICATION * 027 COMPUTEF  ABORATOR	no.: 754 * 066 ROGRAMMJ * 050 * 039 * 055 RS LABOF  Y  DRATORY	4 NAME  ENG   RATORY * 015	: JAMBH   * 033 * 026	   	092 073 067 082 048	4 4 4 1.5 1.5	0 A A A+ 0	10 8 9 10 9	40 32 32 36 15		
<pre>\$ 0.1 PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA BCA-116 APPLIED MATHEMA</pre>	Seat r COMPUTEF * 026 AND C PF * 023 TICS * 028 ICATION * 027 COMPUTEF  ABORATORY 	no.: 754 * 066 ROGRAMMJ * 050 * 039 * 055 RS LABOF  DRATORY  _ABORATO	4 NAME  ENG   RATORY * 015 * 014 * 014	<ul> <li>: JAMBH</li> <li></li> <li></li> <li></li> <li>* 033</li> <li>* 026</li> <li>* 027</li> </ul>	   	092 073 067 082 048 040	4 4 4 1.5 1.5 1.5	0 A A+ 0 A+	10 8 9 10 9	40 32 32 36 15 13.5		
<pre>\$ 0.1  PRN: 1342000588 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA BCA-116 APPLIED MATHEMA BCA-117 BUSINESS COMMUN</pre>	Seat r COMPUTEF * 026 AND C PF * 023 TICS * 028 ICATION * 027 COMPUTEF  ABORATORY  TICS LABC  TICS LABC  TICS LABC	no.: 754 * 066 ROGRAMMI * 050 * 039 * 055 RS LABOF  PRATORY  ABORATO  : 8.955	4 NAME  ING  RATORY * 015 * 014 × 014 DRY * 015	<ul> <li>JAMBH</li> <li></li> <li></li> <li></li> <li>033</li> <li>026</li> <li>027</li> <li>032</li> </ul>	   	092 073 067 082 048 040 041 041	4 4 4 1.5 1.5 1.5 1.5	0 A A+ 0 A+ A+	10 8 9 10 9	40 32 32 36 15 13.5 13.5		

СААР010790-МСЕ	SOCIETY A			-	OLLEG		S,SCIE	NCE /	AND (	COMMERCE AZAM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot		Grd	Grd Pnt	Crd Pnt
PRN: 1342000589								M	othe	r – FARHAT
FUNDAMENTALS OF BCA-111	COMPUTERS * 027 *					091	4	0	10	40
PROBLEM SOLVING BCA-112	AND C PRO * 025 *	-	G 			095	4	0	10	40
APPLIED MATHEMAT BCA-113	TICS * 029 *	049				078	4	A+	9	36
BUSINESS COMMUNI BCA-114	CATION * 030 *	059				089	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTERS			033		048	1.5	0	10	15
C PROGRAMMING LA BCA-116	BORATORY	*	015 *	035		050	1.5	0	10	15
APPLIED MATHEMAT BCA-117	ICS LABOF	ATORY	015 *	031		046	1.5	0	10	15
BUSINESS COMMUNI BCA-118	CATION LA		Y 015 *	035		050	1.5	0	10	15
First Semest Total Credit Po			Credits	Earned,	/Tota	1 : 22/22	2			
								••••		
PRN: 1342000590	Seat no	.: 758	NAME:	KATKE (	GANES	H VYANKA	т мо	ther	- DI	IVI
FUNDAMENTALS OF BCA-111	COMPUTERS * 024					081	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C PRC * 024 *		G			070	4	A	8	32
APPLIED MATHEMAT BCA-113		028				054	4	В	6	24
BUSINESS COMMUNI BCA-114		\$ • 052				078	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTERS			033		047	1.5	0	10	15
C PROGRAMMING LA BCA-116	BORATORY	*	014 *	029		043	1.5	A+	9	13.5
APPLIED MATHEMAT BCA-117	TICS LABOR	ATORY	012 *	031		043	1.5	A+	9	13.5
BUSINESS COMMUNI BCA-118	CATION LA	BORATOR	Y 015 *	032		047	1.5	0		15
First Semest Total Credit Po		8.409			/Tota	1 : 22/22				
\$ 0.1										

COTTEGE LEUGET (OCL-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS,SC PUNE . (0221)	ENCE AND COMM	IERCE AZAM CAMPUS
INT TH INT PR INT TOT Crd Min 012 028 006 014 000 Max 030 070 015 035 000	Grd Grd Cro Pnt Pnt	E
PRN: 1342000591 Seat no.: 759 NAME: KAZI GOUSIYA IBRAHIM		
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 * 063 090 4	0 10 40	)
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 024 * 067 091 4	o 10 40	)
APPLIED MATHEMATICS BCA-113 * 026 * 041 067 4	A 8 32	2
BUSINESS COMMUNICATION BCA-114 * 025 * 055 080 4	A+ 9 36	5
FUNDAMENTALS OF COMPUTERS LABORATORYBCA-115* 015* 015* 031* 015	0 10 15	5
C PROGRAMMING LABORATORY BCA-116 * 015 * 035 050 1.5	0 10 15	5
APPLIED MATHEMATICS LABORATORY BCA-117 * 015 * 027 042 1.5	A+ 913.	.5
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 033 048 1.5	0 10 15	5
First Semester SGPA : 9.386 Credits Earned/Total : 22/22 Total Credit Points: 206.5		
PRN: 1342000592 Seat no.: 760 NAME: KHAN ARSHIYA AFZAL Mo		
FUNDAMENTALS OF COMPUTERS           BCA-111         * 028         * 069           097         4	0 10 40	)
PROBLEM SOLVING AND C PROGRAMMING           BCA-112         * 023         * 064           087         4	A+ 9 36	
APPLIED MATHEMATICS BCA-113 * 030 * 060 090 4	0 10 40	
BCA-113         BOSO         BOSO		
FUNDAMENTALS OF COMPUTERS LABORATORY		
BCA-115 * 015 * 033 048 1.5 C PROGRAMMING LABORATORY	0 10 15	
BCA-116 * 014 * 026 040 1.5 APPLIED MATHEMATICS LABORATORY	A+ 913.	, <b>5</b>
BCA-117 * 014 * 032 046 1.5	o 10 15	5
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 034 049 1.5	0 10 15	5
First Semester SGPA : 9.750 Credits Earned/Total : 22/22 Total Credit Points: 214.5		

CAAP010790-MCE SC	CIETY A	BEDA I	NAMDAR S		COLLEG	-		NCE /	AND	COMMER	CE AZAI	M CAM	IPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000		Crd		Grd Pnt ~~~	Pnt			
			NAME:										
FUNDAMENTALS OF CC BCA-111 *	MPUTERS					078	4	A+	9	36			
PROBLEM SOLVING AN BCA-112 *		GRAMMI 043	NG 			068	4	A	8	32			
APPLIED MATHEMATIC BCA-113	S 027 *	031				058	4	B+	7	28			
BUSINESS COMMUNICA BCA-114 *		050				075	4	A+	9	36			
FUNDAMENTALS OF CC BCA-115	MPUTERS			031		045	1.5	0	10	15			
C PROGRAMMING LABC BCA-116	RATORY		* 014 *	029		043	1.5	A+	9	13.5			
APPLIED MATHEMATIC BCA-117	S LABOR		* 014 *	028		042	1.5	A+	9	13.5			
BUSINESS COMMUNICA BCA-118			RY * 015 *	032		047	1.5	0	10	15			
First Semester Total Credit Poir	its: 189	)											
PRN: 1342000594													
FUNDAMENTALS OF CC				NIAN		I IINOZ	Moerre						
-	027 *					096	4	0	10	40			
PROBLEM SOLVING AN BCA-112 *		GRAMMI 064	NG 			087	4	A+	9	36			
APPLIED MATHEMATIC BCA-113		043				071	4	A	8	32			
BUSINESS COMMUNICA BCA-114		055				083	4	A+	9	36			
FUNDAMENTALS OF CC BCA-115	MPUTERS			031		045	1.5	0	10	15			
C PROGRAMMING LABC BCA-116	RATORY		* 014 *	029		043	1.5	A+	9	13.5			
APPLIED MATHEMATIC BCA-117	S LABOR	ATORY	* 014 *	030		044	1.5	A+	9	13.5			
BUSINESS COMMUNICA BCA-118			RY * 015 *	031		046	1.5	0	10	15			
First Semester Total Credit Poir			Credits	Earne	ed/Tota	al : 22	/22						

			College									
СААР010790-МСЕ	SOCIETY A	BEDA IN		ENIOR PUNE		GE OF A 0221)	RTS,SCIE	NCE A	AND (	COMMER	≀CE AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot		Grd		Crd Pnt		
PRN: 1342000595			NAME:				.~~ ~~~ K Moth	~~~ ier -	SHAI	~~~ KEELA	KHATOON	
FUNDAMENTALS OF BCA-111	COMPUTERS * 023 *					082	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PRC * 023 *	-	IG			082	4	A+	9	36		
APPLIED MATHEMA							-		-			
BCA-113 BUSINESS COMMUN		042				067	4	A	8	32		
BCA-114	* 028 *	045				073	4	А	8	32		
FUNDAMENTALS OF BCA-115	COMPUTERS	LABORA		033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATORY	*	014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMA		-		020		0.4.7	1 5		0	10 F		
BCA-117 BUSINESS COMMUN		*		029		043	1.5	A+	9	13.5		
BCA-118			015 *	033		048	1.5	0	10	15		
First Semes Total Credit Po			Credits	Earne	ed/Tota	al : 22	/22					
PRN: 1342000596	Seat no	.: 766	NAME:	KHAN	IQRA F	RIYAZ	Mother	- ALM	1AS			
FUNDAMENTALS OF BCA-111	COMPUTERS * 029 *					091	4	0	10	40		
PROBLEM SOLVING BCA-112	AND C PRC * 025 *		IG			075	4	A+	9	36		
APPLIED MATHEMA		030				075	4	Ат	9	50		
BCA-113	* 028 *	028 \$				056	4	B+	7	28		
BUSINESS COMMUN BCA-114		045				073	4	A	8	32		
FUNDAMENTALS OF BCA-115	COMPUTERS	LABORA		033		048	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATORY	*	015 *	029		044	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LABOR	ATORY	· 015 *	034		049	1.5	0	10	15		
BUSINESS COMMUN BCA-118	ICATION LA		Y 015 *	034		049	1.5	0	10	15		
First Semes Total Credit Po			Credits	Earne	ed/Tota	al : 22	/22					
\$ 0.1												

\$ 0.1

CAAP010790-MCE	SOCIETY	ABEDA 1	College ENAMDAR S	-	COLLEG		RTS,SCIE	NCE /	AND (	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd			Pnt		
PRN: 1342000597		o.: 768	NAME:						~~~ ther	~~~ - ALIYA		
FUNDAMENTALS OF BCA-111	COMPUTER * 027					077	4	A+	9	36		
PROBLEM SOLVING BCA-112	-	OGRAMMI * 046	ING 			072	4	A	8	32		
APPLIED MATHEMAT BCA-113	* 028	* 036				064	4	А	8	32		
BUSINESS COMMUNI BCA-114		* 034				062	4	А	8	32		
FUNDAMENTALS OF BCA-115	COMPUTER	S LABOF		033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATORY		* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABO	RATORY	* 014 *	026		040	1.5	A+	9	13.5		
BUSINESS COMMUNI BCA-118	CATION L	ABORATO		032		046	1.5	0	10	15		
First Semest Total Credit Po			L Credits	Earn	ed/Tota	1 : 22/	22					
		• • • • • • •						• • • •	••••		••	
PRN: 1342000598	Seat n	o.: 770	) NAME:	KHAN	MUJAME	EL KALI	M Mot	her ·	- SUG	GRA		
FUNDAMENTALS OF BCA-111	COMPUTER * 026					089	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PR * 027		ING 			082	4	A+	9	36		
APPLIED MATHEMAT BCA-113		* 049				075	4	A+	9	36		
BUSINESS COMMUNI BCA-114	CATION * 029	* 052				081	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTER	S LABOF		033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATORY		* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABO	RATORY	* 014 *	030		044	1.5	A+	9	13.5		
BUSINESS COMMUNI BCA-118			ORY * 015 *	031		046	1.5	0	10	15		
First Semest Total Credit Po			6 Credits	Earn	ed/Tota	1 : 22/	22					
											•••	

СААР010790-МСЕ	SOCTETY	AREDA						FNCE 4			= A7AM	CAMPUS
	5001211	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	210, 0.12, 00	PUNE		0221)					_ , (_, (, )	0.00
Min Max		TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd		Crd Pnt		
PRN: 1342000599		no.: 772						~~~ Mother				
FUNDAMENTALS OF BCA-111		RS * 032				056	4	B+	7	28		
PROBLEM SOLVING BCA-112	AND C P * 022	ROGRAMM: * 032	ENG 			054	4	В	6	24		
APPLIED MATHEMA BCA-113		* 036				065	4	А	8	32		
BUSINESS COMMUN BCA-114	ICATION * 028	* 028				056	4	B+	7	28		
FUNDAMENTALS OF BCA-115	COMPUTE	\$ RS LABOI		* 031		045	1.5	0	10	15		
C PROGRAMMING L BCA-116	ABORATOR	Y	* 014	* 026		040	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LAB		* 014	* 031		045	1.5	0	10	15		
BUSINESS COMMUN BCA-118	ICATION	LABORATO	ORY * 015	* 031		046	1.5	0	10	15		
First Semes			) Credit	s Earn	ed/Tota	al : 22	2/22					
Total Credit P	oints: 1	.70.5			,							
Total Credit P \$ 0.1	oints: 1	.70.5			,							
	oints: 1	.70.5										
		.70.5  no.: 773	 3 name				F Moth			 БА		
\$ 0.1	Seat COMPUTE	no.: 77	 3 NAME 				F Moth	er – N A+	IAFIS	5A 36		
\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF	Seat COMPUTE * 029 AND C P	no.: 773 RS * 053				AN ASII				36		
<pre>\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING</pre>	Seat COMPUTE * 029 AND C P * 026	no.: 773 RS * 053 ROGRAMM				AN ASII 082	4	A+	9	36 32		
\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA	Seat COMPUTE * 029 AND C P * 026 TICS * 029	no.: 773 RS * 053 ROGRAMM * 041				AN ASI 082 067	4 4	A+ A	9 8	36 32 28		
\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN	Seat COMPUTE * 029 AND C P * 026 TICS * 029 ICATION * 028	no.: 773 RS * 053 ROGRAMM * 041 * 028 * 039	 ING   RATORY			AN ASII 082 067 057	4 4 4	A+ A B+	9 8 7	36 32 28 32		
<pre>\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF</pre>	Seat COMPUTE * 029 AND C P * 026 TICS * 029 ICATION * 028 COMPUTE 	no.: 773 RS * 053 ROGRAMM * 041 * 028 * 039 RS LABOI 	 ING   RATORY	: KHAN    * 031	ZUBIY/	082 067 057 067 045	4 4 4 1.5	A+ A B+ A O	9 8 7 8 10	36 32 28 32 15		
<pre>\$ 0.1  PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING L</pre>	Seat COMPUTE * 029 AND C P * 026 TICS * 029 ICATION * 028 COMPUTE  ABORATOR	no.: 773 RS * 053 ROGRAMM * 041 * 028 * 039 RS LABO 	 ING   RATORY * 014	: KHAN   * 031 * 029	ZUBIY/   	082 067 057 067 045	4 4 4 1.5	A+ A B+ A O A+	9 8 7 8 10 9	36 32 28 32 15		
<pre>\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING L BCA-116 APPLIED MATHEMA</pre>	Seat COMPUTE * 029 AND C P * 026 TICS * 029 ICATION * 028 COMPUTE  ABORATOR  TICS LAB	no.: 77: RS * 053 * 053 * 041 * 028 * 039 RS LABOI  SORATORY  LABORATORY	 ING  RATORY * 014 * 014 * 014	<pre> E: KHAN</pre>	ZUBIY/	082 067 057 067 045 043	4 4 4 1.5 1.5	А+ А В+ А О А+ О	9 8 7 8 10 9 10	36 32 28 32 15 13.5		
<pre>\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING L BCA-116 APPLIED MATHEMA BCA-117 BUSINESS COMMUN</pre>	Seat COMPUTE * 029 AND C P * 026 TICS * 029 ICATION * 028 COMPUTE  ABORATOR  TICS LAB  TICS LAB  TICS LAB	no.: 77: RS * 053 ROGRAMM: * 041 * 028 * 039 RS LABOR  CORATORY  LABORATORY  	 ING  RATORY * 014 * 014 * 014 DRY * 015	<pre>:: KHAN       * 031     * 029     * 033     * 031</pre>	ZUBIY/     	082 067 057 045 043 047 046	4 4 4 1.5 1.5 1.5	А+ А В+ А О А+ О	9 8 7 8 10 9 10	36 32 28 32 15 13.5 15		
<pre>\$ 0.1 PRN: 1342000600 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA BCA-113 BUSINESS COMMUN BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING L BCA-116 APPLIED MATHEMA BCA-117 BUSINESS COMMUN BCA-118 First Semes</pre>	Seat COMPUTE * 029 AND C P * 026 TICS * 029 ICATION * 028 COMPUTE  ABORATOR  TICS LAB  TICS LAB  TICS LAB	no.: 77: RS * 053 ROGRAMM: * 041 * 028 * 039 RS LABOR  CORATORY  LABORATORY  	 ING  RATORY * 014 * 014 * 014 DRY * 015	<pre>:: KHAN       * 031     * 029     * 033     * 031</pre>	ZUBIY/     	082 067 057 045 043 047 046	4 4 4 1.5 1.5 1.5	А+ А В+ А О А+ О	9 8 7 8 10 9 10	36 32 28 32 15 13.5 15		

COTTEGE Ledger(OCC CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEG PUNE . (0	-
Min 012 028 006 014 000 Max 030 070 015 035 000	Tot Crd Grd Grd Crd Pnt Pnt
PRN: 1342000601 Seat no.: 775 NAME: KURESHI BUS	· · · · · · · · · · · · · · · · · · ·
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 * 060	087 4 A+ 9 36
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 026 * 042	068 4 A 8 32
APPLIED MATHEMATICS BCA-113 * 028 * 041	069 4 A 8 32
BUSINESS COMMUNICATION BCA-114 * 027 * 041	068 4 A 8 32
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 015 * 033	048 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116	044 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 * 015 * 033	048 1.5 0 10 15
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 034	049 1.5 0 10 15
First Semester SGPA : 8.659 Credits Earned/Tota Total Credit Points: 190.5	1 : 22/22
DDN: 1242000602 Cost po : 776 NAME: NO ALMAD DA	
FUNDAMENTALS OF COMPUTERS	ZA MD ALIMUDDIN Mother - HUSNEARA
BCA-111 * 026 * 052 PROBLEM SOLVING AND C PROGRAMMING	078 4 A+ 9 36
BCA-112 * 025 * 055	080 4 A+ 9 36
APPLIED MATHEMATICS BCA-113 * 027 * 042	069 4 A 8 32
BUSINESS COMMUNICATION BCA-114 * 029 * 049	078 4 A+ 9 36
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 033	047 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116 * 012 * 029	041 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 * 013 * 028	041 1.5 A+ 9 13.5
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 031	046 1.5 0 10 15

CAAP010790-MCE SOCIETY ABEDA	-	-			RTS,SCI	ENCE /	AND	COMMERCE	AZAM CAMP	US
INT TH Min 012 028 Max 030 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000603 Seat no.: 77								SALMA		
FUNDAMENTALS OF COMPUTERS BCA-111 * 026 * 055				081	4	A+	9	36		
PROBLEM SOLVING AND C PROGRAMM BCA-112 * 026 * 042	ING 			068	4	A	8	32		
APPLIED MATHEMATICS BCA-113 * 027 * 042				069	4	A	8	32		
BUSINESS COMMUNICATION BCA-114 * 028 * 038				066	4	A	8	32		
FUNDAMENTALS OF COMPUTERS LABO BCA-115		033		048	1.5	0	10	15		
C PROGRAMMING LABORATORY BCA-116	* 015 *	029		044	1.5	A+	9	13.5		
APPLIED MATHEMATICS LABORATORY BCA-117		031		045	1.5	0	10	15		
BUSINESS COMMUNICATION LABORAT BCA-118		034		049	1.5	0	10	15		
First Semester SGPA : 8.65 Total Credit Points: 190.5										
PRN: 1342000604 Seat no.: 77										
	Q NIAME.				) Mo+		AFR	EEIN		
	8 NAME:	MEMON	UZAIF	A SAEED	) Mot	nei -	,			
FUNDAMENTALS OF COMPUTERS BCA-111 * 026 * 066			UZAIF	A SAEED 092	) Mot 4	0	10	40		
FUNDAMENTALS OF COMPUTERS		MEMON	UZAIF 							
FUNDAMENTALS OF COMPUTERS BCA-111 * 026 * 066 PROBLEM SOLVING AND C PROGRAMM		MEMON	UZAIF  	092	4	0	10	32		
FUNDAMENTALSOFCOMPUTERSBCA-111*026*066PROBLEMSOLVINGANDCPROGRAMMBCA-112*019*053APPLIEDMATHEMATICS		MEMON	UZAIF  	092 072	4 4	O A	10 8	32 32		
FUNDAMENTALS OF COMPUTERS BCA-111* 026 * 066PROBLEM SOLVING AND C PROGRAMM BCA-112* 019 * 053APPLIED MATHEMATICS BCA-113* 028 * 041BUSINESS COMMUNICATION	 ING   RATORY	  031	UZAIF  	092 072 069	4 4 4	0 A A	10 8 8	32 32 36		
FUNDAMENTALS OF COMPUTERS BCA-111* 026 * 066PROBLEM SOLVING AND C PROGRAMM BCA-112* 019 * 053APPLIED MATHEMATICS BCA-113* 028 * 041BUSINESS COMMUNICATION BCA-114* 027 * 056FUNDAMENTALS OF COMPUTERS LABO BCA-115C PROGRAMMING LABORATORY	 ING   RATORY	  031	  	092 072 069 083 045	4 4 4 4 1.5	0 A A A+ 0	10 8 9 10	32 32 36 15		
FUNDAMENTALS OF COMPUTERS BCA-111* 026 * 066PROBLEM SOLVING AND C PROGRAMM BCA-112* 019 * 053APPLIED MATHEMATICS BCA-113* 028 * 041BUSINESS COMMUNICATION BCA-114* 027 * 056FUNDAMENTALS OF COMPUTERS LABO BCA-115C PROGRAMMING LABORATORY BCA-116APPLIED MATHEMATICS LABORATORY BCA-116	 ING   RATORY * 014 * * 014 *	  031 026	   	092 072 069 083 045 040	4 4 4 4 1.5	0 A A A+ 0	10 8 9 10 9	32 32 36 15		
FUNDAMENTALS OF COMPUTERS BCA-111* 026 * 066PROBLEM SOLVING AND C PROGRAMM BCA-112* 019 * 053APPLIED MATHEMATICS BCA-113* 028 * 041BUSINESS COMMUNICATION BCA-114* 027 * 056FUNDAMENTALS OF COMPUTERS LABO BCA-115C PROGRAMMING LABORATORY BCA-116APPLIED MATHEMATICS LABORATORY BCA-117BUSINESS COMMUNICATION LABORATORY BCA-117	 ING   RATORY * 014 * * 014 *	  031 026 022	   	092 072 069 083 045 040	4 4 4 1.5 1.5	0 A A A+ 0 A+	10 8 9 10 9 8	32 32 36 15 13.5		
FUNDAMENTALS OF COMPUTERS BCA-111* 026 * 066PROBLEM SOLVING AND C PROGRAMM BCA-112* 019 * 053APPLIED MATHEMATICS BCA-113* 028 * 041BUSINESS COMMUNICATION BCA-114* 027 * 056FUNDAMENTALS OF COMPUTERS LABO BCA-115C PROGRAMMING LABORATORY BCA-116APPLIED MATHEMATICS LABORATORY BCA-117BUSINESS COMMUNICATION LABORATORY BCA-117	 ING  RATORY * 014 * * 014 * * 014 * 0RY * 015 *	  031 026 022 034	    	092 072 069 083 045 040 036 049	4 4 4 1.5 1.5 1.5	0 A A+ 0 A+	10 8 9 10 9 8	32 32 36 15 13.5 12		

СААР010790-МСЕ	SOCIETY	ABEDA I	-	-			RTS,SCIE	ENCE A	AND C	OMMERO	CE AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt ~~~	Pnt		
PRN: 1342000605		o.: 779		MISHR						PUSHPA		
FUNDAMENTALS OF BCA-111	COMPUTER * 028					087	4	A+	9	36		
PROBLEM SOLVING BCA-112	-	OGRAMMI * 045	NG 			072	4	А	8	32		
APPLIED MATHEMAT BCA-113		* 034				060	4	А	8	32		
BUSINESS COMMUNI BCA-114	* 029	* 052				081	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTER:			033		048	1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATORY		* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABO		* 014 *	031		045	1.5	0	10	15		
BUSINESS COMMUNI BCA-118			* 015 *			047	1.5	0	10	15		
First Semest			Credits	Earneo	d/Tota	1:22,	/22					
Total Credit Po												
											 Shabai	NA BANO
	Seat no	 o.: 780 S									· · · · SHABAI	NA BANO
PRN: 1342000606 FUNDAMENTALS OF	Seat n COMPUTER * 025	o.: 780 S * 056 OGRAMMI	NAME:			MOH HAI	NIF KACH	ІСННІ	Мс	other -	SHABAI	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING	Seat no COMPUTER * 025 AND C PR * 024 ICS	o.: 780 S * 056 OGRAMMI	NAME:		AKIB 	мон на 081	NIF KACH 4	ІСННІ А+	мс 9	other - 36	SHABAI	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT	Seat n COMPUTER * 025 AND C PR * 024 ICS * 029 CATION	o.: 780 S * 056 OGRAMMI * 038	NAME:		AKIB 	мон на 081 062	NIF KACH 4 4	A+ A	мс 9 8	other - 36 32	SHABAI	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNI	Seat n COMPUTER * 025 AND C PR * 024 ICS * 029 CATION * 029		NAME :  NG   ATORY		AKIB 	мон на 081 062 064	NIF KACH 4 4 4	A+ A A A	Мс 9 8 8	other - 36 32 32	SHABAI	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNI BCA-114 FUNDAMENTALS OF	Seat n COMPUTER * 025 AND C PR * 024 ICS * 029 CATION * 029 COMPUTER	o.: 780 S * 056 OGRAMMI * 038 * 035 * 057 S LABOR 	NAME :  NG   ATORY	MOH AA    033	AKIB  	мон на 081 062 064 086 047	NIF KACH 4 4 4 4 1.5	A+ A A A A+ A+ O	мс 9 8 9 10	other - 36 32 32 32 36	SHABAI	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNI BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA	Seat n COMPUTER * 025 AND C PR * 024 ICS * 029 CATION * 029 COMPUTER  BORATORY 	o.: 780 S * 056 OGRAMMI * 038 * 035 * 057 S LABOR  RATORY	NAME:  NG   ATORY * 014 *	MOH AA   033 023	AKIB    	мон на 081 062 064 086 047	NIF KACH 4 4 4 1.5 1.5	A+ A A A A+ A+ O	мс 9 8 9 10 8	other - 36 32 32 36 15	SHABA	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNI BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA BCA-116 APPLIED MATHEMAT	Seat no COMPUTER * 025 AND C PRO * 024 ICS * 029 CATION * 029 COMPUTER  BORATORY  ICS LABO	o.: 780 S * 056 OGRAMMI * 038 * 035 * 057 S LABOR  RATORY  ABORATO	NAME:  NG   ATORY * 014 * * 014 *	MOH AA   033 023 031	AKIB    	мон на 081 062 064 086 047 037	NIF KACH 4 4 4 1.5 1.5	A+ A A A A+ O A	мс 9 8 9 10 8 10	other - 36 32 32 36 15 12	SHABA	NA BANO
PRN: 1342000606 FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNI BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA BCA-116 APPLIED MATHEMAT BCA-117 BUSINESS COMMUNI	Seat no COMPUTER * 025 AND C PRO * 024 ICS * 029 CATION * 029 COMPUTER  BORATORY  ICS LABO  CATION LA 	0.: 780 5 056 0GRAMMI 038 * 035 * 057 S LABOR  RATORY  ABORATO  : 8.773	NAME:  NG  ATORY * 014 * * 014 * * 014 * RY * 015 *	MOH AA   0333 023 031 033	AKIB     	MOH HAI 081 062 064 086 047 037 045 048	NIF KACH 4 4 1.5 1.5 1.5 1.5	A+ A A A+ O A A O	мс 9 8 9 10 8 10	other - 36 32 32 36 15 12 15	SHABA	NA BANO

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~ ~~~~  $\sim \sim \sim \sim \sim \sim \sim$  $\sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000607 Mother - MAIMUNA Seat no.: 782 NAME: MOMIN ALIFIYA ASLAM FUNDAMENTALS OF COMPUTERS 052 BCA-111 \* 028 \* \_\_\_ 080 4 A+ 9 36 \_\_\_ \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING \* 026 \* 052 078 4 9 36 BCA-112 \_\_\_ \_ \_ \_ A+ APPLIED MATHEMATICS \* 028 \* 034 4 BCA-113 062 A 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 026 BCA-114 \* 036 062 4 8 32 \_\_\_ \_\_\_ А \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY 10 \* 014 \* 033 047 1.5 15 BCA-115 0 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 013 \* 029 \_\_\_ 042 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 014 \* 029 BCA-117 \_\_\_ \_ \_ \_ 043 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 015 \* 033 \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 PRN: 1342000608 Seat no.: 784 NAME: MULLA FAIZAN ZAKIR Mother - HALIMA FUNDAMENTALS OF COMPUTERS \* 057 076 36 BCA-111 \* 019 4 A+ 9 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 018 \* 028 \_ \_ \_ 046 4 С 5 20 \_\_\_ £ APPLIED MATHEMATICS \* 020 \* 035 055 4 7 28 BCA-113 \_\_\_ \_ \_ \_ \_\_\_ B+ BUSINESS COMMUNICATION \* 015 \* 048 BCA-114 063 4 А 8 32 \_\_\_ \_ \_ \_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 027 041 1.5 9 13.5 BCA-115 014 \_\_\_ A+\_ \_ \_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 029 043 1.5 9 13.5 BCA-116 \_\_\_ \_ \_ \_ \_ \_ \_ A+ APPLIED MATHEMATICS LABORATORY \* 012 \* 029 041 1.5 9 13.5 BCA-117 \_ \_ \_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY \* 015 \* 030 045 BCA-118 \_ \_ \_ \_\_\_ \_\_\_ 1.5 0 10 15 First Semester SGPA : 7.795 Credits Earned/Total : 22/22 Total Credit Points: 171.5

\$ 0.1

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$  $\sim \sim \sim$ ~~~~ ~~~  $\sim \sim \sim$ PRN: 1342000609 Seat no.: 785 NAME: MULLA RAHIM RAFIK Mother - VAHIDA FUNDAMENTALS OF COMPUTERS 062 BCA-111 \* 026 \* \_ \_ \_ 088 4 A+ 9 36 \_\_\_ \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING \* 027 \* 060 087 4 9 36 BCA-112 \_ \_ \_ A+ APPLIED MATHEMATICS \* 028 \* 041 069 4 BCA-113 A 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 028 BCA-114 \* 042 070 4 8 32 \_\_\_ \_\_\_ А \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 014 \* 033 10 047 1.5 15 BCA-115 0 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 024 038 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 014 \* 033 10 15 BCA-117 \_\_\_ \_ \_ \_ 047 1.5 0 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ \_\_\_ \* 015 \* 032 \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 8.841 Credits Earned/Total : 22/22 Total Credit Points: 194.5 PRN: 1342000610 Seat no.: 786 NAME: NADAF AYESHA MOULASAB Mother - YASMIN FUNDAMENTALS OF COMPUTERS \* 024 \* 060 A+ 9 36 BCA-111 084 4 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 021 \* 032 \_ \_ \_ 053 4 В 6 24 APPLIED MATHEMATICS BCA-113 \* 025 \* 043 068 4 Α 8 32 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 049 073 4 8 32 BCA-114 \* 024 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 10 15 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 047 1.5 0 C PROGRAMMING LABORATORY \* 014 BCA-116 \_\_\_ \* 026 040 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 014 \* 032 046 1.5 10 15 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ 0 BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 032 BCA-118 \_\_\_ 047 1.5 o 10 15 First Semester SGPA : 8.295 Credits Earned/Total : 22/22 Total Credit Points: 182.5 

СААР010790-МСЕ	SOCIETY A			-	COLLEG			NCE A	AND (	COMMERCE AZAM CAMPUS
Min Max		TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt
PRN: 1342000611							REEN SIKA			other - ZAKERA
FUNDAMENTALS OF BCA-111	COMPUTERS * 028 *					083	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C PRC * 025 *	-	IG 			089	4	A+	9	36
APPLIED MATHEMA BCA-113		050				078	4	A+	9	36
BUSINESS COMMUN BCA-114		045				075	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTERS			033		048	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATORY	*	· 015 *	029		044	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LABOR		· 015 *	031		046	1.5	0	10	15
BUSINESS COMMUN BCA-118	ICATION LA			034		049	1.5	0	10	15
First Semest Total Credit Po			Credits	Earneo	d/Tota	1:2	2/22			
PRN: 1342000612 FUNDAMENTALS OF			NAME:	PATHAN	N ASFI	YA AS	LAM MOT	her -	- IRI	JEIT
BCA-111	* 026 *					083	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C PRC * 018 *		IG 			060	4	А	8	32
APPLIED MATHEMA BCA-113	TICS * 027 *	048				075	4	A+	9	36
BUSINESS COMMUN BCA-114		036				064	4	A	8	32
FUNDAMENTALS OF BCA-115	COMPUTERS			031		045	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATORY	*	· 014 *	026		040	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117			· 013 *	020		033	1.5	А	8	12
BUSINESS COMMUN BCA-118	ICATION LA	BORATOR	RY 5 015 *	033		048	1.5	0	10	15
First Semest Total Credit Po			Credits	Earneo	d/Tota	1:2	2/22			

INT TH INT PR INT TOT Crd Grd Grd Crd	
Min 012 028 006 014 000 Pnt Pnt Max 030 070 015 035 000	
PRN: 1342000613 Seat no.: 791 NAME: PATHAN SAMIYA SADAF EJAZ Mother - FARZANA	
FUNDAMENTALS OF COMPUTERS BCA-111	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 022 * 050 072 4 A 8 32	
APPLIED MATHEMATICS BCA-113 * 027 * 039 066 4 A 8 32	
BUSINESS COMMUNICATION BCA-114 * 029 * 041 070 4 A 8 32	
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 033 047 1.5 0 10 15	
C PROGRAMMING LABORATORY BCA-116 * 014 * 032 046 1.5 0 10 15	
APPLIED MATHEMATICS LABORATORY BCA-117 * 014 * 030 044 1.5 A+ 9 13.5	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 033 048 1.5 0 10 15	
First Semester SGPA : 8.659 Credits Earned/Total : 22/22 Total Credit Points: 190.5	
PRN: 1342000614 Seat no.: 792 NAME: PINJARI MD FAIZAN RAZA MD NAZIR AHMED Mother ARVEEN BANU	-
FUNDAMENTALS OF COMPUTERS BCA-111	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 025 * 056 081 4 A+ 9 36	
APPLIED MATHEMATICS BCA-113	
BUSINESS COMMUNICATION BCA-114 * 028 * 039 067 4 A 8 32	
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115	
C PROGRAMMING LABORATORY BCA-116 * 014 * 029 043 1.5 A+ 9 13.5	
APPLIED MATHEMATICS LABORATORY	
BCA-117 * 014 * 031 045 1.5 0 10 15	
BCA-117 * 014 * 031 045 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY	

### Savitribai Phule Pune University Pune-411 007

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~  $\sim \sim$ ~~~  $\sim \sim \sim$ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~ PRN: 1342000615 NAME: QURESHI HASHIR ANWAR Mother - ANJUM Seat no.: 794 FUNDAMENTALS OF COMPUTERS 055 BCA-111 \* 024 \* \_\_\_ \_\_\_ \_\_\_ 079 4 A+ 9 36 PROBLEM SOLVING AND C PROGRAMMING \* 023 \* 035 058 4 7 28 BCA-112 \_ \_ \_ B+ APPLIED MATHEMATICS \* 027 \* 038 065 4 BCA-113 А 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 035 \* 027 BCA-114 062 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 029 \* 015 044 1.5 9 13.5 BCA-115 \_\_\_ \_\_\_ \_\_\_ A+C PROGRAMMING LABORATORY \* 015 \* 015 \_\_\_ 030 1.5 8 12 BCA-116 \_\_\_ \_\_\_ А APPLIED MATHEMATICS LABORATORY \* 012 \* 023 035 12 BCA-117 \_\_\_ \_ \_ \_ \_ \_ \_ 1.5 A 8 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 014 \* 033 \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 8.205 Credits Earned/Total : 22/22 Total Credit Points: 180.5 PRN: 1342000616 Seat no.: 796 NAME: ROWTHER BUSHRA BASHEER Mother - ASIYA FUNDAMENTALS OF COMPUTERS \* 025 \* 064 089 9 36 BCA-111 4 A+ PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 025 \* 055 \_ \_ \_ 080 4 A+ 9 36 APPLIED MATHEMATICS BCA-113 \* 025 \* 038 063 4 А 8 32 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 048 071 4 8 32 BCA-114 \* 023 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 15 BCA-115 \_\_\_ \_\_\_ \* 015 \_ \_ \_ 048 1.5 0 10 C PROGRAMMING LABORATORY \* 015 BCA-116 \_\_\_ \* 029 044 1.5 A+ 9 13.5 \_ \_ \_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 014 \_\_\_ \* 030 044 1.5 9 13.5 BCA-117 \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 033 BCA-118 \_\_\_ \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 

CAAP010790-MCE SOC	ΞΕΤΥ Α	BEDA I		-	OLLEG		S,SCIE	ENCE A	AND C	COMMERCE A	ZAM C	AMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt		
	Seat no		NAME:	SANADI			Mothe		~~~ 5HAH1			
FUNDAMENTALS OF COM BCA-111 *	1PUTERS 027 *					091	4	0	10	40		
PROBLEM SOLVING AND BCA-112 *		GRAMMI 038	NG			066	4	A	8	32		
APPLIED MATHEMATICS BCA-113 *		049				078	4	A+	9	36		
BUSINESS COMMUNICAT BCA-114 *		046				075	4	A+	9	36		
FUNDAMENTALS OF COM BCA-115	IPUTERS			033		047	1.5	0	10	15		
C PROGRAMMING LABOR BCA-116	ATORY		* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATICS	LABOR					0.15	115	,,,,	5	1919		
BCA-117				033		047	1.5	0	10	15		
BUSINESS COMMUNICAT BCA-118	ION LA			033		047	1.5	0	10	15		
First Semester Total Credit Point	s: 202	. 5			/Tota	1 : 22/2	2					
			NAME:				Р Мо	thor	_ CL			
FUNDAMENTALS OF COM				SATED T		087	4	A+	- 3r 9	36		
PROBLEM SOLVING AND		GRAMMI				080	4	A+	9	36		
APPLIED MATHEMATICS	5								-			
BUSINESS COMMUNICAT	ION	039				068	4	A	8	32		
FUNDAMENTALS OF COM						091	4	0	10	40		
BCA-115 C PROGRAMMING LABOR			* 015 *	033		048	1.5	0	10	15		
110			* 015 *	035		050	1.5	0	10	15		
APPLIED MATHEMATICS BCA-117	LABOR	ATORY	* 015 *	030		045	1.5	0	10	15		
BUSINESS COMMUNICAT BCA-118	ION LA	BORATO	RY * 015 *	034		049	1.5	0	10	15		
First Semester Total Credit Point			Credits	Earned,	/Tota	1 : 22/2	2					

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~ PRN: 1342000619 Seat no.: 800 NAME: SAYYAD SHADAB AFZAL Mother - FATIMA FUNDAMENTALS OF COMPUTERS 057 BCA-111 \* 027 \* \_\_\_ \_\_\_ \_ \_ \_ 084 4 A+ 9 36 PROBLEM SOLVING AND C PROGRAMMING \* 027 \* 057 084 4 9 36 BCA-112 \_ \_ \_ A+ APPLIED MATHEMATICS \* 028 \* 034 4 BCA-113 062 А 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 029 BCA-114 \* 053 082 4 9 36 \_\_\_ \_\_\_ A+ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 047 10 \* 014 1.5 0 15 BCA-115 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 026 \_\_\_ 040 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 014 \* 033 10 15 BCA-117 \_ \_ \_ \_ \_ \_ \_ 047 1.5 0 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ \_\_\_ \* 015 \* 031 \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 9.023 Credits Earned/Total : 22/22 Total Credit Points: 198.5 PRN: 1342000620 Seat no.: 801 NAME: SAYYAD ZISHAN AKHTAR WASHIM AKHTAR Mother - FARIDA FUNDAMENTALS OF COMPUTERS \* 069 097 10 40 BCA-111 \* 028 4 0 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 023 \* 041 \_ \_ \_ 064 4 А 8 32 APPLIED MATHEMATICS BCA-113 \* 028 \* 034 062 4 А 8 32 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 046 074 4 8 32 BCA-114 \* 028 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 10 15 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 047 1.5 0 C PROGRAMMING LABORATORY \* 014 BCA-116 \_\_\_ \* 029 043 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 014 \* 032 046 1.5 10 15 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ 0 BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 031 BCA-118 \_\_\_ \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 8.841 Credits Earned/Total : 22/22 Total Credit Points: 194.5 

CAAP010790-MCE SOCIETY ABED		0	OLLEG	-	S,SCI	ENCE A	AND C	COMMERCE	AZAM C	AMPUS
INT TH Min 012 024 Max 030 070	3 006 0 015	PR 014 035	000 000	Tot	Crd		Grd Pnt ~~~	Pnt		
PRN: 1342000621 Seat no.: 3								- SHAHIN		
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 * 05	5			082	4	A+	9	36		
PROBLEM SOLVING AND C PROGRAM BCA-112 * 023 * 05				076	4	A+	9	36		
APPLIED MATHEMATICS BCA-113 * 028 * 023	3			056	4	B+	7	28		
BUSINESS COMMUNICATION BCA-114 * 029 * 050	5			085	4	A+	9	36		
FUNDAMENTALS OF COMPUTERS LAN BCA-115		031		046	1.5	0	10	15		
C PROGRAMMING LABORATORY BCA-116	- * 015 *	029		044	1.5	A+	9	13.5		
APPLIED MATHEMATICS LABORATO		034		049	1.5	0	10	15		
BUSINESS COMMUNICATION LABOR/ BCA-118		034		049	1.5	0	10	15		
First Semester SGPA : 8.8 Total Credit Points: 194.5										
PRN: 1342000622 Seat no.: 8								ARVEEN	••	
FUNDAMENTALS OF COMPUTERS BCA-111 * 029 * 051				082	4	A+	9	36		
PROBLEM SOLVING AND C PROGRAM BCA-112 * 025 * 039				064	4	A	8	32		
APPLIED MATHEMATICS BCA-113 * 026 * 030	5			062	4	A	8	32		
BUSINESS COMMUNICATION BCA-114 * 029 * 050	)			079	4	A+	9	36		
FUNDAMENTALS OF COMPUTERS LAI		031		045	1.5	0	10	15		
C PROGRAMMING LABORATORY BCA-116	- * 013 *	029		042	1.5	A+	9	13.5		
APPLIED MATHEMATICS LABORATO	RY - * 014 *	026		040	1.5	A+	9	13.5		
BUSINESS COMMUNICATION LABOR	ATORY - * 015 *	033		048	1.5	0	10	15		
First Semester SGPA : 8.7 Total Credit Points: 193	773 Credits	Earned	/Tota	1 : 22/2	2					

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~ ~~~  $\sim \sim$ ~~~ ~~~~ ~~~ ~~~ PRN: 1342000623 NAME: SAYYED MOHAMMED FURQUAN ABDUL AZIZ Mother - NUSRAT Seat no.: 804 FUNDAMENTALS OF COMPUTERS 056 BCA-111 \* 015 \* \_\_\_ \_\_\_ \_\_\_ 071 4 A 8 32 PROBLEM SOLVING AND C PROGRAMMING \* 015 \* 029 044 4 4 16 BCA-112 \_ \_ \_ D APPLIED MATHEMATICS \* 014 029 FFF BCA-113 \* 015 4 F 0 0 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 026 BCA-114 \* 048 074 4 А 8 32 \_\_\_ \_\_\_ \_ \_ \_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 029 \* 012 041 1.5 9 13.5 BCA-115 \_\_\_ \_\_\_ \_\_\_ A+C PROGRAMMING LABORATORY \* 012 \* 029 \_\_\_ 041 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 012 \* 031 BCA-117 \_ \_ \_ \_ \_ \_ \_ 043 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ ---\* 015 \* 031 \_\_\_ 046 1.5 0 10 15 First Semester SGPA : ----- Credits Earned/Total : 18/22 Total Credit Points: 135.5 PRN: 1342000624 Seat no.: 805 NAME: SHAH MASEERA MASOOD Mother - YASMIN FUNDAMENTALS OF COMPUTERS \* 024 \* 056 080 36 BCA-111 4 A+ 9 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 024 \* 050 \_ \_ \_ 074 4 А 8 32 APPLIED MATHEMATICS BCA-113 \* 027 \* 039 066 4 А 8 32 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 057 086 4 9 36 BCA-114 \* 029 \_\_\_ \_\_\_ \_\_\_ A+ FUNDAMENTALS OF COMPUTERS LABORATORY \* 031 BCA-115 \_\_\_ \* 014 \_\_\_ 045 1.5 0 10 15 \_\_\_ C PROGRAMMING LABORATORY \* 013 BCA-116 \_\_\_ \* 029 042 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 013 \* 027 040 1.5 9 13.5 BCA-117 \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 033 BCA-118 \_\_\_ \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193

CAAP010790-MCE	SOCIETY	ABEDA	-	-				ENCE A	AND (	COMMERCE	AZAM CAMPU	S
Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000625			~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~									
FUNDAMENTALS OF BCA-111	COMPUTE * 027					093	4	0	10	40		
PROBLEM SOLVING BCA-112	AND C P * 020	ROGRAMM * 056	IING 			076	4	A+	9	36		
APPLIED MATHEMA BCA-113	* 025	* 052				077	4	A+	9	36		
BUSINESS COMMUN BCA-114		* 053				082	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABC		* 033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATOR	Y	* 014	* 029		043	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117			* 012	* 029		041	1.5	A+	9	13.5		
BUSINESS COMMUN BCA-118			* 015	* 031		046	1.5	0	10	15		
First Semes Total Credit Po	oints: 2	05										
BBN 1242000C2C	<b>6</b> • • • •											
PRN: 1342000626			8 NAME				INAN MD N				- HUSNEARA	
PRN: 1342000626 FUNDAMENTALS OF BCA-111		RS	)8 NAME 				INAN MD N			Mother	- HUSNEARA	<b>L</b>
FUNDAMENTALS OF	COMPUTE * 028	RS * 059 ROGRAMM				L HAN		OORUDI	DIN	Mother 36	- HUSNEARA	·
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING	COMPUTE * 028 AND C P * 027	RS * 059 ROGRAMM				L HAN 087	4	oorude A+	DIN 9	Mother 36 32	- HUSNEARA	ſ
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMA	COMPUTE * 028 AND C P * 027 FICS * 028	RS * 059 ROGRAM™ * 045				L HAN 087 072	4 4	OORUDE A+ A	DIN 9 8	Mother 36 32	- HUSNEARA	i
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNE	COMPUTE * 028 AND C P * 027 FICS * 028 ECATION * 023	RS 059 ROGRAMM * 045 * 039 * 052	 IING   DRATORY	: SHAIM		L HAM 087 072 067	4 4 4	OORUDI A+ A A	DIN 9 8 8	Mother 36 32 32 36	- HUSNEARA	·
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNE BCA-114 FUNDAMENTALS OF	COMPUTE * 028 AND C P * 027 FICS * 028 ECATION * 023 COMPUTE	RS * 059 ROGRAMM * 045 * 039 * 052 RS LABC  Y	 IING   DRATORY	: SHAIN    * 033	<pre><h abdu<="" pre=""></h></pre>	L НАМ 087 072 067 075	4 4 4 1.5	OORUDI A+ A A A A+	DIN 9 8 8 9 10	Mother 36 32 32 36 15	- HUSNEARA	
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNI BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA	COMPUTE * 028 AND C P * 027 FICS * 028 ECATION * 023 COMPUTE 	RS 059 ROGRAMM * 045 * 039 * 052 RS LABC  Y  ORATORY	 IING   DRATORY * 014	: SHAIK   * 033 * 024	KH ABDU	L НАМ 087 072 067 075 047 038	4 4 4 1.5 1.5	OORUDI A+ A A A+ O	DIN 9 8 9 10 9	Mother 36 32 32 36 15	- HUSNEARA	
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNE BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA BCA-116 APPLIED MATHEMAT BCA-117 BUSINESS COMMUNE BCA-118	COMPUTE * 028 AND C P * 027 FICS * 028 ICATION * 023 COMPUTE  ABORATOR  FICS LAB  FICS LAB	RS 059 ROGRAMM * 045 * 039 * 052 RS LABC  Y  ORATORY 	 IING  PRATORY * 014 * 014 * 014	<ul> <li>SHAIK</li> <li></li> <li></li> <li></li> <li>033</li> <li>024</li> <li>032</li> <li>032</li> </ul>	KH ABDU	∟ нам 087 072 067 075 047 038 046 047	4 4 4 1.5 1.5 1.5	OORUDI A+ A A A+ O A+	DIN 9 8 8 9 10 9 10	Mother 36 32 32 36 15 13.5	- HUSNEARA	
FUNDAMENTALS OF BCA-111 PROBLEM SOLVING BCA-112 APPLIED MATHEMAT BCA-113 BUSINESS COMMUNE BCA-114 FUNDAMENTALS OF BCA-115 C PROGRAMMING LA BCA-116 APPLIED MATHEMAT BCA-117 BUSINESS COMMUNE	COMPUTE * 028 AND C P * 027 FICS * 028 ICATION * 023 COMPUTE  ABORATOR  FICS LAB  FICS LAB  ICATION 	RS 059 ROGRAMM * 045 * 039 * 052 RS LABC  Y  CRATORY  LABORAT  : 8.84	 IING  PRATORY * 014 * 014 * 014	<ul> <li>SHAIK</li> <li></li> <li></li> <li></li> <li>033</li> <li>024</li> <li>032</li> <li>032</li> </ul>	KH ABDU	∟ нам 087 072 067 075 047 038 046 047	4 4 4 1.5 1.5 1.5	00RUDE A+ A A A+ 0 A+ 0	DIN 9 8 8 9 10 9 10	Mother 36 32 32 36 15 13.5 15	- HUSNEARA	

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-2020) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~  $\sim \sim \sim$ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~  $\sim \sim \sim$ PRN: 1342000627 Seat no.: 809 NAME: SHAIKH AFFAN MOHAMMAD ZUBER Mother - SHABANA FUNDAMENTALS OF COMPUTERS 050 BCA-111 \* 028 \* \_\_\_ \_\_\_ 078 4 A+ 9 36 \_\_\_ PROBLEM SOLVING AND C PROGRAMMING \* 026 \* 053 079 4 9 36 BCA-112 \_\_\_ \_ \_ \_ A+ APPLIED MATHEMATICS \* 027 \* 038 4 BCA-113 065 А 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 028 BCA-114 \* 056 084 4 9 36 \_\_\_ \_\_\_ A+ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 014 \* 033 047 10 1.5 0 15 BCA-115 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 029 \_\_\_ 043 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY \* 014 \* 032 10 15 BCA-117 \_ \_ \_ \_ \_\_\_ 046 1.5 0 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ \_\_\_ \* 015 \* 030 \_\_\_ 045 1.5 0 10 15 First Semester SGPA : 9.023 Credits Earned/Total : 22/22 Total Credit Points: 198.5 PRN: 1342000628 Seat no.: 810 NAME: SHAIKH ALFIYA ABDUL GAFFAR Mother - WAHIDABI FUNDAMENTALS OF COMPUTERS \* 021 \* 048 069 32 BCA-111 4 А 8 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 026 \* 031 \_ \_ \_ 057 4 B+ 7 28 APPLIED MATHEMATICS BCA-113 \* 025 \* 034 059 4 B+ 7 28 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 034 062 4 8 32 BCA-114 \* 028 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 029 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 043 1.5 A+ 9 13.5 C PROGRAMMING LABORATORY \* 014 BCA-116 \_\_\_ \* 029 043 1.5 A+ 9 13.5 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 014 \* 030 044 1.5 9 13.5 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 032 BCA-118 \_\_\_ \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 7.977 Credits Earned/Total : 22/22 Total Credit Points: 175.5 

Min       INT       TH       INT       OG6       0.35       0000       C       Grd       Grd       Crd       Prt       Prt       Prt         PRN:       1342000629       Seat no.:       812       NAME:       SHAIKH AMAN ASLAM       Mother - NAZNEEN         FUNDAMENTALS OF COMPUTERS       * 022 * 056         078       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       ECA-112       * 021 * 052         073       4       A       8       32         BCA-111       * 029 * 046         064       4       A       8       32         BUSINESS COMMUNICATION       BCA-114       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS       LABORATORY       BCA-113       S        014 * 023        037       1.5       A       8       12         APPLIED MATHEMATICS ICABORATORY       BCA-116         014 * 033        047       1.5       0       10       15         BUSALSS COMMUNICATION LABORATORY       BCA-118 <td< th=""><th>CAAP010790-MCE</th><th>SOCIETY</th><th>ABEDA IN</th><th></th><th></th><th>DLLEG</th><th></th><th>rs,scie</th><th>ENCE A</th><th>ND C</th><th>COMMERCE AZAM</th><th>CAMPUS</th></td<>	CAAP010790-MCE	SOCIETY	ABEDA IN			DLLEG		rs,scie	ENCE A	ND C	COMMERCE AZAM	CAMPUS
PRN: 1342000629 Seat no.: 812 NAME: SHAIKH AMAN ASLAM Mother - NAZNEEN FUNDAMENTALS OF COMPUTERS BCA-111 * 022 * 056 078 4 A+ 9 36 PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 021 * 052 073 4 A 8 32 APPLIED MATHEMATICS BCA-113 * 025 * 039 064 4 A 8 32 BUSINESS COMMUNICATION BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 029 043 1.5 A+ 9 13.5 C PROCRAMMING LABORATORY BCA-116 * 014 * 023 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-117 * 014 * 033 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-117 * 014 * 032 047 1.5 0 10 15 FIRST Semester SGPA : 8.705 Credits Earned/Total : 22/22 Total Credit Points: 191.5 TOTAL CREDITION OF COMPUTERS BCA-112 * 027 * 059 073 4 A 8 32 APPLIED MATHEMATICS GOMPUTERS BCA-113 * 028 * 031 073 4 A 8 32 APPLIED MATHEMATICS BCA-114 * 029 * 046 073 4 A 8 32 APPLIED MATHEMATICS BCA-113 * 028 * 031 073 4 A 8 32 APPLIED MATHEMATICS BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS BCA-113 * 028 * 031 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS BCA-113 * 028 * 031 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 012 * 029 041 1.5 A+ 9 13.5 APPLIED MATHEMATICS BCA-114 * 029 * 046 050 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-115 * 012 * 029 041 1.5 A+ 9 13.5 APPLIED MATHEMATICS LABORATORY BCA-116 * 012 * 029 041 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-116 * 015 * 035 050 1.5 0 10 15 BUSINESS COMMUNICATION		012 030	028 070	006 015	014 035	000 000				Pnt	Pnt	
BCA-111       * 022       * 056         078       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       BCA-112       * 021       * 052         073       4       A       8       32         APPLIED MATHEMATICS       BCA-113       * 025       * 039         064       4       A       8       32         BUSINESS COMMUNICATION       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-116         073       1.5       A       8       12         APPLIED MATHEMATICS LABORATORY       BCA-116         014       * 023        047       1.5       0       10       15         BCA-116         * 014       * 033        047       1.5       0       10       15         BCA-118        * 015       * 032        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-112       * 027       * 059	PRN: 1342000629											
PROBLEM SOLVING AND C PROGRAMMING BCA-112       * 021       * 052         073       4       A       8       32         APPLIED MATHEMATICS BCA-113       * 025       * 039         064       4       A       8       32         BUSINESS COMMUNICATION BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115         * 014       * 029        043       1.5       A+       9       13.5         C PROGRAMMING LABORATORY BCA-117        * 014       * 023        037       1.5       A       8       12         PUIDID MATHEMATICS LABORATORY BCA-118        * 014       * 033        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.705 Credits Earned/Total : 22/22       *       047       1.5       0       10       15         PCA:111       * 027       059         086							078	1	<u>.</u> .	0	26	
BCA-112       * 021       * 052         073       4       A       8       32         APPLIED MATHEMATICS       BCA-113       * 025       * 039         064       4       A       8       32         BUSINESS COMMUNICATION       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115         * 014       * 029        043       1.5       A+       9       13.5         C PROGRAMMING LABORATORY       BCA-115         * 014       * 023        037       1.5       A       8       12         APPLIED MATHEMATICS LABORATORY       BCA-116         * 014       * 023        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118         * 047       1.5       0       10       15         First Semester SGPA : 8.705 Credits       Earned/Total : 22/22       Total Credit Points: 191.5         086       4       A+       9       36 <td< td=""><td>-</td><td></td><td></td><td></td><td></td><td></td><td>078</td><td>4</td><td>A+</td><td>9</td><td>50</td><td></td></td<>	-						078	4	A+	9	50	
BCA-113       * 025       * 039         0-64       4       A       8       32         BUSINESS COMMUNICATION       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-114       * 029        043       1.5       A+       9       13.5         C PROGRAMMING LABORATORY       BCA-116         * 014       * 023        037       1.5       A       8       12         APPLIED MATHEMATICS LABORATORY       BUSINESS COMMUNICATION LABORATORY       BUSINESS COMMUNICATION LABORATORY       0       10       15         BUSINESS COMMUNICATION LABORATORY       BUSINESS COMMUNICATION LABORATORY       0       10       15         First Semester SGPA : 8.705 Credits Earned/Total : 22/22       Total Credit Points: 191.5       0       10       15         SCA-111       * 027       * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       BCA-112       * 025       * 048         073       4       A       8       32         APPLIED MAT							073	4	А	8	32	
BUSINESS COMMUNICATION BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 029 043 1.5 A+ 9 13.5 C PROGRAMMING LABORATORY BCA-116 * 014 * 023 037 1.5 A 8 12 APPLIED MATHEMATICS LABORATORY BCA-117 * 014 * 033 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 First Semester SGPA : 8.705 Credits Earned/Total : 22/22 Total Credit Points: 191.5 TOTAL CREDITION COMPUTERS BCA-111 * 027 * 059 086 4 A+ 9 36 PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 025 * 048 073 4 A 8 32 APPLIED MATHEMATICS BCA-113 * 028 * 031 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS BCA-114 * 029 * 046 075 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 012 * 033 045 1.5 0 10 15 C PROGRAMMING LABORATORY BCA-116 * 012 * 033 045 1.5 0 10 15 C PROGRAMMING LABORATORY BCA-116 * 012 * 033 045 1.5 0 10 15 C PROGRAMMING LABORATORY BCA-116 * 015 * 035 050 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-116 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-116 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LA			* 039				064	4	Δ	8	32	
BCA-114       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115         014       * 029        043       1.5       A+       9       13.5         C PROGRAMMING LABORATORY       BCA-116         * 014       * 023        037       1.5       A       8       12         APPLIED MATHEMATICS LABORATORY       BCA-117         * 014       * 023        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-112        * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.705 Credits Earned/Total : 22/22       Total Credit Points: 191.5                  PRN: 1342000630       Seat no.: 813       NAME: SHAIKH AMESA MUSHTAQUE AHMED       Mother - AYESHA			055				004	т	~	0	52	
BCA-115         * 014       * 029        043       1.5       A+       9 13.5         C PROGRAMMING LABORATORY BCA-116         * 014       * 023        037       1.5       A       8       12         APPLIED MATHEMATICS LABORATORY BCA-117         * 014       * 023        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118         * 015       * 032        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118         047       1.5       0       10       15         First Semester SGPA : 8.705 Credits Earned/Total : 22/22       Total Credit Points: 191.5             PRN: 1342000630       Seat no.: 813       NAME: SHAIKH AMESA MUSHTAQUE AHMED       Mother - AYESHA         FUNDAMENTALS OF COMPUTERS       BCA-111       * 027       * 059         073       4       A       8       32         APPLIED MATHEMATICS       BCA-113       * 025       * 048         075       4       A+			* 046				075	4	A+	9	36	
C PROGRAMMING LABORATORY BCA-116 * 014 * 023 037 1.5 A 8 12 APPLIED MATHEMATICS LABORATORY BCA-117 * 015 * 032 047 1.5 0 10 15 BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15 First Semester SGPA : 8.705 Credits Earned/Total : 22/22 Total Credit Points: 191.5					029		043	1.5	Α+	9	13.5	
APPLIED MATHEMATICS LABORATORY BCA-117         * 014       * 033        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118        * 015       * 032        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.705       Credits Earned/Total : 22/22       Total Credit Points: 191.5            PRN: 1342000630       Seat no.: 813       NAME: SHAIKH AMESA MUSHTAQUE AHMED       Mother - AYESHA         FUNDAMENTALS OF COMPUTERS       BCA-111       * 027       * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       BCA-112       * 028       * 031         073       4       A       8       32         APPLIED MATHEMATICS       BCA-113       * 028       * 031         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY BCA-114       * 029       * 046		BORATORY		011	025		0.15	115		5	1010	
BCA-117        * 014       * 033        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA :       8.705 Credits Earned/Total :       22/22        047       1.5       0       10       15         Total Credit Points:       191.5               PRN:       1342000630       Seat no.:       813       NAME:       SHAIKH AMESA MUSHTAQUE AHMED       Mother - AYESHA         FUNDAMENTALS OF COMPUTERS       BCA-111       * 027       * 059         073       4       A       8       32         PROBLEM SOLVING AND C PROGRAMMING       BCA-112       * 028       * 031         059       4       B+       7       28         BUSINESS COMMUNICATION       BCA-114       * 029       * 046         045       1.5       0       10       15         BCA-114       * 029       * 046         045       1.5       0       10 </td <td></td> <td></td> <td></td> <td>* 014 *</td> <td>023</td> <td></td> <td>037</td> <td>1.5</td> <td>А</td> <td>8</td> <td>12</td> <td></td>				* 014 *	023		037	1.5	А	8	12	
BCA-118         * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.705 Credits Earned/Total : 22/22       Total Credit Points: 191.5           PRN: 1342000630 Seat no.: 813 NAME: SHAIKH AMESA MUSHTAQUE AHMED       Mother - AYESHA         FUNDAMENTALS OF COMPUTERS       BCA-111       * 027       * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       BCA-112       * 025       * 048         073       4       A       8       32         APPLIED MATHEMATICS       BCA-113       * 028       * 031         075       4       A+       9       36         BUSINESS COMMUNICATION       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115        * 012       * 033        045       1.5       0       1		ICS LABO		* 014 *	033		047	1.5	0	10	15	
First Semester SGPA : 8.705 Credits Earned/Total : 22/22         Total Credit Points: 191.5         PRN: 1342000630 Seat no.: 813 NAME: SHAIKH AMESA MUSHTAQUE AHMED Mother - AYESHA         FUNDAMENTALS OF COMPUTERS         BCA-111 * 027 * 059 086 4 A+ 9 36         PROBLEM SOLVING AND C PROGRAMMING         BCA-112 * 025 * 048 073 4 A 8 32         APPLIED MATHEMATICS         BCA-113 * 028 * 031 075 4 B+ 7 28         BUSINESS COMMUNICATION         BCA-114 * 029 * 046 075 4 A+ 9 36         FUNDAMENTALS OF COMPUTERS LABORATORY         BCA-115 * 012 * 033 045 1.5 0 10 15         C PROGRAMMING LABORATORY         BCA-116 * 012 * 029 041 1.5 A+ 9 13.5         APPLIED MATHEMATICS LABORATORY         BCA-117 * 015 * 035 050 1.5 0 10 15         BUSINESS COMMUNICATION LABORATORY         BCA-117 * 015 * 032 047 1.5 0 10 15         BUSINESS COMMUNICATION LABORATORY         BCA-118 * 015 * 032 047 1.5 0 10 15												
Total Credit Points: 191.5         PRN: 1342000630 Seat no.: 813 NAME: SHAIKH AMESA MUSHTAQUE AHMED Mother - AYESHA         FUNDAMENTALS OF COMPUTERS         BCA-111 * 027 * 059 086 4 A+ 9 36         PROBLEM SOLVING AND C PROGRAMMING         BCA-112 * 025 * 048 073 4 A         8 32         APPLIED MATHEMATICS         BCA-113 * 028 * 031 059 4 B+ 7 28         BUSINESS COMMUNICATION         BCA-114 * 029 * 046 075 4 A+ 9 36         FUNDAMENTALS OF COMPUTERS LABORATORY         BCA-115 * 012 * 033 045 1.5 0 10 15         C PROGRAMMING LABORATORY         BCA-116 * 012 * 029 041 1.5 A+ 9 13.5         APPLIED MATHEMATICS LABORATORY         BCA-117 * 015 * 035 050 1.5 0 10 15         BUSINESS COMMUNICATION LABORATORY         BCA-118 * 015 * 032 047 1.5 0 10 15         First Semester SGPA : 8.659 Credits Earned/Total : 22/22								-	0	10	15	
PRN: 1342000630       Seat no.: 813       NAME:       SHAIKH       AMESA       MUSHTAQUE       AHMED       Mother - AYESHA         FUNDAMENTALS OF COMPUTERS       * 027 * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       * 025 * 048         073       4       A       8       32         APPLIED MATHEMATICS       * 028 * 031         075       4       A+       9       36         BUSINESS COMMUNICATION       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       * 029        045       1.5       0       10       15         C PROGRAMMING LABORATORY       *       * 012 * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       * 015 * 035	First Semest Total Credit Po	er SGPA ints: 19	: 8.705 1.5	Credits	Earned,	/Tota	1 : 22/2	22				
PRN: 1342000630       Seat no.: 813       NAME:       SHAIKH       AMESA       MUSHTAQUE       AHMED       Mother       - AYESHA         FUNDAMENTALS OF COMPUTERS       * 027 * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       * 025 * 048         073       4       A       8       32         APPLIED MATHEMATICS       * 028 * 031         075       4       A+       9       36         BUSINESS COMMUNICATION       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       * 029 * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       * 029        045       1.5       0       10       15         C PROGRAMMING LABORATORY       *       * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY <td></td>												
FUNDAMENTALS OF COMPUTERS         BCA-111       * 027       * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING       * 025       * 048         073       4       A       8       32         APPLIED MATHEMATICS       * 028       * 031         059       4       B+       7       28         BUSINESS COMMUNICATION       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS       LABORATORY        075       4       A+       9       36         BUSINESS COMMUNICATION       BCA-113       * 029       046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115        * 012       * 033        045       1.5       0       10       15         C PROGRAMMING LABORATORY       BCA-116        * 012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       BCA-117        * 015 </td <td></td>												
BCA-111       * 027       * 059         086       4       A+       9       36         PROBLEM SOLVING AND C PROGRAMMING BCA-112       * 025       * 048         073       4       A       8       32         APPLIED MATHEMATICS BCA-113       * 028       * 031         059       4       B+       7       28         BUSINESS COMMUNICATION BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY BCA-116         045       1.5       0       10       15         C PROGRAMMING LABORATORY BCA-116         041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY BCA-117        * 012       * 029        041       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118        * 015       * 032        047       1.5       0       10       15				NAME.	SHAIKH	AME 5/		AQUE AF		MOL	.iiei - Atesha	
BCA-112       * 025       * 048         073       4       A       8       32         APPLIED MATHEMATICS       BCA-113       * 028       * 031         059       4       B+       7       28         BUSINESS COMMUNICATION       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115         045       1.5       0       10       15         C PROGRAMMING LABORATORY       BCA-116         8012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       BCA-117        * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-117        * 015       * 032        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118        * 015       * 032        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATO							086	4	A+	9	36	
APPLIED MATHEMATICS         BCA-113       * 028       * 031         059       4       B+       7       28         BUSINESS COMMUNICATION       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115         * 012       * 033        045       1.5       0       10       15         C PROGRAMMING LABORATORY       BCA-116         * 012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       BCA-117        * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.659 Credits Earned/Total : 22/22        047       1.5       0       10				NG			073	1	^	8	30	
BCA-113       * 028       * 031         059       4       B+       7       28         BUSINESS COMMUNICATION       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115         033        045       1.5       0       10       15         C PROGRAMMING LABORATORY       BCA-116         * 012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       BCA-117         * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118         * 015       * 032        047       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118         * 032        047       1.5       0       10       15         First Semester SGPA :       8.659 Credits Earned/Total :       22/22        047       1.5       0       10       15   <			040				075	т	~	0	52	
BCA-114       * 029       * 046         075       4       A+       9       36         FUNDAMENTALS OF COMPUTERS LABORATORY       BCA-115         * 033        045       1.5       0       10       15         C PROGRAMMING LABORATORY       BCA-116         * 012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       BCA-117         * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118         * 015       * 032        047       1.5       0       10       15         First Semester SGPA :       8.659 Credits Earned/Total :       22/22        047       1.5       0       10       15			* 031				059	4	B+	7	28	
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115         * 033        045       1.5       0       10       15         C PROGRAMMING LABORATORY BCA-116         * 012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY BCA-117         * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY BCA-118         * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.659 Credits Earned/Total : 22/22        047       1.5       0       10       15			* 046				075	4	Δ+	9	36	
BCA-115        * 012       * 033        045       1.5       0       10       15         C PROGRAMMING LABORATORY       BCA-116         * 012       * 029        041       1.5       A+       9       13.5         APPLIED MATHEMATICS LABORATORY       BCA-117        * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA :       8.659 Credits Earned/Total :       22/22                          047       1.5       0       10       15							075	·		5	50	
BCA-116        * 012       * 029        041       1.5       A+       9 13.5         APPLIED MATHEMATICS LABORATORY         BCA-117        * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.659 Credits Earned/Total : 22/22        047       1.5       0       10       15					033		045	1.5	0	10	15	
BCA-117        * 015       * 035        050       1.5       0       10       15         BUSINESS COMMUNICATION LABORATORY       BCA-118        * 015       * 032        047       1.5       0       10       15         First Semester SGPA : 8.659 Credits Earned/Total : 22/22       22       10       15		BORATORY	, *	* 012 *	029		041	1.5	A+	9	13.5	
BCA-118 * 015 * 032 047 1.5 0 10 15 First Semester SGPA : 8.659 Credits Earned/Total : 22/22				* 015 *	035		050	1.5	0	10	15	
		CATION L	ABORATOF	RY * 015 *	032		047	1.5	0	10	15	
				Credits	Earned,	/Tota	1 : 22/2	22				

СААР010790-МСЕ	SOCIETY	ABEDA	College INAMDAR S		OLLEG		TS,SCI	ENCE	AND (	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000631			4 NAME:					er - I				
FUNDAMENTALS OF BCA-111	COMPUTE * 027					097	4	0	10	40		
PROBLEM SOLVING BCA-112	* 027		ING 			080	4	A+	9	36		
APPLIED MATHEMA BCA-113	FICS * 029	* 035				064	4	А	8	32		
BUSINESS COMMUN BCA-114		* 055				084	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABO		033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATOR	Y	* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LAB	ORATORY	* 014 *	031		045	1.5	0	10	15		
BUSINESS COMMUN BCA-118	ICATION	LABORAT		030		045	1.5	0	10	15		
First Semes Total Credit Po			5 Credits	Earned	/Tota	1 : 22/2	22					
			 -								• • •	
PRN: 1342000632 FUNDAMENTALS OF			5 NAME:	SHAIKH	AMMA	R ABDULI	LA MO	other	- Sl	JLTANA		
BCA-111	* 022					078	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C P * 026		ING 			064	4	A	8	32		
APPLIED MATHEMA BCA-113	TICS * 029	* 031				060	4	A	8	32		
BUSINESS COMMUN BCA-114	ICATION * 029	* 050				079	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABO		031		046	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATOR		* 015 *	029		044	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LAB		* 014 *	033		047	1.5	0	10	15		
BUSINESS COMMUN BCA-118	ICATION		ORY * 015 *	032		047	1.5	0	10	15		
First Semes Total Credit Po			1 Credits	Earned	/Tota	1 : 22/2	22					

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~ ~~~  $\sim \sim$ ~~~  $\sim \sim \sim$ ~~~~ ~~~ ~~~ ~~~ PRN: 1342000633 NAME: SHAIKH ARBAAZ ASHFAQUE Seat no.: 816 Mother - SHIRIN FUNDAMENTALS OF COMPUTERS 060 BCA-111 \* 026 \* \_\_\_ \_\_\_ 086 4 A+ 9 36 \_\_\_ PROBLEM SOLVING AND C PROGRAMMING \* 027 \* 053 080 4 9 36 BCA-112 \_ \_ \_ A+ APPLIED MATHEMATICS \* 028 \* 043 4 BCA-113 071 А 8 32 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 055 \* 027 BCA-114 \_\_\_ 082 4 9 36 \_\_\_ A+ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 014 \* 033 047 10 1.5 0 15 BCA-115 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 014 \* 020 \_\_\_ 034 1.5 8 12 BCA-116 \_\_\_ \_\_\_ А APPLIED MATHEMATICS LABORATORY \* 014 \* 031 10 15 BCA-117 \_\_\_ \_ \_ \_ 045 1.5 0 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 015 \* 031 \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 8.955 Credits Earned/Total : 22/22 Total Credit Points: 197 PRN: 1342000634 Seat no.: 817 NAME: SHAIKH ATIYA AKHLAS Mother - KAUSAR FUNDAMENTALS OF COMPUTERS \* 025 \* 035 060 32 BCA-111 4 Α 8 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 022 \* 045 \_ \_ \_ 067 4 А 8 32 APPLIED MATHEMATICS BCA-113 \* 026 \* 029 055 4 B+ 7 28 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 042 069 4 8 32 BCA-114 \* 027 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 035 10 15 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 049 1.5 0 C PROGRAMMING LABORATORY \* 013 BCA-116 \_\_\_ \* 024 037 1.5 A 8 12 \_ \_ \_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 013 \* 030 043 1.5 9 13.5 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ A+ BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 033 BCA-118 \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 8.159 Credits Earned/Total : 22/22 Total Credit Points: 179.5 

CAAP010790-MCE SOCIET	Y ABEDA I		-	OLLEG			ENCE /	AND (	COMMERCE AZAM CAMP	US
INT Min 012 Max 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd			Pnt	
		NAME:				SHID MC		~~~ - T/		
FUNDAMENTALS OF COMPUT BCA-111 * 028	ERS * 053				081	4	A+	9	36	
PROBLEM SOLVING AND C BCA-112 * 025		NG 			075	4	A+	9	36	
APPLIED MATHEMATICS BCA-113 * 026	* 036				062	4	А	8	32	
BUSINESS COMMUNICATION BCA-114 * 027	* 048				075	4	A+	9	36	
FUNDAMENTALS OF COMPUT BCA-115	ERS LABOR		030		045	1.5	0	10	15	
C PROGRAMMING LABORATO BCA-116		* 015 *	029		044	1.5	A+	9	13.5	
APPLIED MATHEMATICS LA BCA-117		* 014 *	031		045	1.5	0	10	15	
BUSINESS COMMUNICATION BCA-118			032		047	1.5	0	10	15	
First Semester SGP. Total Credit Points:		Credits	Earned,	/Tota	1:2	2/22				
PRN: 1342000636 Seat		NAME:	SHAIKH	ERAM	ABDU	IL RAHMAN	Mot	ther	- NAZNIN	
FUNDAMENTALS OF COMPUT BCA-111 * 026	ERS * 056				082	4	A+	9	36	
PROBLEM SOLVING AND C BCA-112 * 025		NG 			075	4	A+	9	36	
APPLIED MATHEMATICS BCA-113 * 027	* 039				066	4	А	8	32	
BUSINESS COMMUNICATION BCA-114 * 024	* 048				072	4	A	8	32	
FUNDAMENTALS OF COMPUT BCA-115	ERS LABOR		033		048	1.5	0	10	15	
C PROGRAMMING LABORATO BCA-116		* 015 *	026		041	1.5	A+	9	13.5	
APPLIED MATHEMATICS LA BCA-117	BORATORY	* 015 *	029		044	1.5	A+	9	13.5	
BUSINESS COMMUNICATION BCA-118		RY * 015 *	034		049	1.5	0	10	15	
First Semester SGP Total Credit Points:		Credits	Earned,	/Tota	1:2	2/22				

CAAP010790-MCE	SOCIETY	ABEDA I	NAMDAR S	-	COLLEG			ENCE /	AND	COMMERCE AZ	AM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015 ~~~~~~~~~~~	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt	
PRN: 1342000637			NAME:							- SALEHA	
FUNDAMENTALS OF BCA-111	COMPUTER * 015					072	4	A	8	32	
PROBLEM SOLVING A		OGRAMMI * 050	NG 			074	4	А	8	32	
APPLIED MATHEMAT BCA-113	* 023	* 045				068	4	A	8	32	
BUSINESS COMMUNI BCA-114		* 038				053	4	в	6	24	
FUNDAMENTALS OF BCA-115	COMPUTER			029		043	1.5	A+	9	13.5	
C PROGRAMMING LA BCA-116	BORATORY		* 012 *	026		038	1.5	A+	9	13.5	
APPLIED MATHEMAT BCA-117	ICS LABO		* 014 *	028		042	1.5	A+	9	13.5	
BUSINESS COMMUNI BCA-118			RY * 014 *	032		046	1.5	0	10	15	
First Semest Total Credit Po	ints: 17	5.5									
PRN: 1342000638										r – TAHMEEM	I BEGUM
FUNDAMENTALS OF BCA-111	COMPUTER * 027					097	4	0	10	40	
PROBLEM SOLVING BCA-112		OGRAMMI * 060	NG			083	4	A+	9	36	
APPLIED MATHEMAT BCA-113		* 048				074	4	А	8	32	
BUSINESS COMMUNI BCA-114		* 057				086	4	A+	9	36	
FUNDAMENTALS OF 0 BCA-115	COMPUTER			033		048	1.5	0	10	15	
C PROGRAMMING LA BCA-116	BORATORY		* 013 *	029		042	1.5	A+	9	13.5	
APPLIED MATHEMAT BCA-117	ICS LABO	RATORY	* 014 *					0		15	
BUSINESS COMMUNI BCA-118	CATION L		RY * 015 *	033		048		0	10	15	
First Semest Total Credit Po	er SGPA ints: 20	: 9.205									

College Ledger(Oct-2020)	
CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS,SCIENCE AND COMMERCE AZAM CA PUNE . (0221)	MPUS
INT TH INT PR INT TOT Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt	
Max 030 070 015 035 000	
PRN: 1342000639 Seat no.: 824 NAME: SHAIKH MOHAMMED ALI ABID ALI Mother - RUKSANA	
FUNDAMENTALS OF COMPUTERS	
BCA-111 * 016 * 055 071 4 A 8 32	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 016 * 048 064 4 A 8 32	
APPLIED MATHEMATICS BCA-113 * 015 * 038 053 4 B 6 24	
BUSINESS COMMUNICATION BCA-114 * 022 * 049 071 4 A 8 32	
FUNDAMENTALS OF COMPUTERS LABORATORY	
BCA-115 * 014 * 032 046 1.5 0 10 15	
C PROGRAMMING LABORATORY BCA-116 * 014 * 029 043 1.5 A+ 9 13.5	
APPLIED MATHEMATICS LABORATORY BCA-117 * 014 * 020 034 1.5 A 8 12	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 032 047 1.5 0 10 15	
First Semester SGPA : 7.977 Credits Earned/Total : 22/22	
Total Credit Points: 175.5	
PRN: 1342000640 Seat no.: 826 NAME: SHAIKH MOHD ANEES SHOYEB Mother - FOUZIA	
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 * 056 083 4 A+ 9 36	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 028 * 039 067 4 A 8 32	
APPLIED MATHEMATICS BCA-113 * 027 * 050 077 4 A+ 9 36	
BUSINESS COMMUNICATION	
BCA-114 * 030 * 052 082 4 A+ 9 36	
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 015 * 031 046 1.5 0 10 15	
C PROGRAMMING LABORATORY BCA-116 * 015 * 024 039 1.5 A+ 9 13.5	
APPLIED MATHEMATICS LABORATORY BCA-117 * 013 * 029 042 1.5 A+ 9 13.5	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 033 048 1.5 0 10 15	
First Semester SGPA : 8.955 Credits Earned/Total : 22/22 Total Credit Points: 197	

Max 030 070 015 0	035 000	
	INT       TH       INT       PR       INT       Tot       Crd       Grd       Grd       Crd       PR       PR	
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 * 067	094 4 o 10 40	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 026 * 060	086 4 A+ 9 36	
APPLIED MATHEMATICS BCA-113 * 028 * 045	073 4 A 8 32	
BUSINESS COMMUNICATION BCA-114 * 029 * 062	091 4 o 10 40	
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 015 * 0	033 048 1.5 0 10 15	
C PROGRAMMING LABORATORY BCA-116	032 047 1.5 0 10 15	
APPLIED MATHEMATICS LABORATORY BCA-117 * 012 * 0	032 044 1.5 A+ 9 13.5	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 0	030 045 1.5 0 10 15	
First Semester SGPA : 9.386 Credits E Total Credit Points: 206.5	Earned/Total : 22/22	
PRN: 1342000642 Seat no.: 828 NAME: S	SHAIKH MUDDASAR NASIRODDIN Mother - NAFISA	
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 * 060	087 4 A+ 9 36	
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 026 * 060	086 4 A+ 9 36	
APPLIED MATHEMATICS BCA-113 * 026 * 039	065 4 A 8 32	
BUSINESS COMMUNICATION BCA-114 * 026 * 034	060 4 A 8 32	
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 0	031 045 1.5 0 10 15	
C PROGRAMMING LABORATORY BCA-116	024 038 1.5 A+ 9 13.5	
APPLIED MATHEMATICS LABORATORY BCA-117 * 014 * 0	028 042 1.5 A+ 9 13.5	
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 0	033 048 1.5 0 10 15	
First Semester SGPA : 8.773 Credits E Total Credit Points: 193	Earned/Total : 22/22	

College Ledger(Oct-2020)
CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)
INT TH INT PR INT Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Max 030 070 015 035 000
PRN: 1342000643 Seat no.: 829 NAME: SHAIKH MUNEES SHAIKH NASIR Mother - NAFISA BI
FUNDAMENTALS OF COMPUTERS
BCA-111 * 024 * 050 074 4 A 8 32
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 026 * 048 074 4 A 8 32
APPLIED MATHEMATICS BCA-113 * 029 * 042 071 4 A 8 32
BUSINESS COMMUNICATION BCA-114
FUNDAMENTALS OF COMPUTERS LABORATORY
BCA-115 * 015 * 031 046 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116 * 015 * 029 044 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY
BCA-117 * 015 * 031 046 1.5 0 10 15
BUSINESS COMMUNICATION LABORATORY BCA-118 * 014 * 033 047 1.5 0 10 15
First Semester SGPA : 8.477 Credits Earned/Total : 22/22 Total Credit Points: 186.5
PRN: 1342000644 Seat no.: 830 NAME: SHAIKH RUZAN UMAR Mother - NAZNEEN SHAIKH
FUNDAMENTALS OF COMPUTERS BCA-111 * 026 * 062 088 4 A+ 9 36
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 020 * 056 076 4 A+ 9 36
APPLIED MATHEMATICS BCA-113
BUSINESS COMMUNICATION BCA-114
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 031 045 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116 * 014 * 026 040 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY
BCA-117 * 014 * 025 039 1.5 A+ 9 13.5
BUSINESS COMMUNICATION LABORATORY BCA-118 * 015 * 034 049 1.5 0 10 15
First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193

### Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Oct-	-2020)
CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEG PUNE . (02	
INT TH INT PR INT Min 012 028 006 014 000 Max 030 070 015 035 000	Pnt Pnt
PRN: 1342000645 Seat no.: 831 NAME: SHAIKH SAAD	SAEED Mother - TAISEEN
FUNDAMENTALS OF COMPUTERS BCA-111 * 029 * 049	078 4 A+ 9 36
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 026 * 056	082 4 A+ 9 36
APPLIED MATHEMATICS BCA-113	065 4 A 8 32
BUSINESS COMMUNICATION BCA-114 * 029 * 042	071 4 A 8 32
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 + 014 * 033	047 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116	043 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 * 014 * 032	046 1.5 O 10 15
BUSINESS COMMUNICATION LABORATORY BCA-118 * 014 * 032	046 1.5 O 10 15
First Semester SGPA : 8.841 Credits Earned/Tota Total Credit Points: 194.5	1 : 22/22
PRN: 1342000646 Seat no.: 832 NAME: SHAIKH SABA	FAHEEM Mother - IMRANA
FUNDAMENTALS OF COMPUTERS BCA-111 * 020 * 035	055 4 B+ 7 28
PROBLEM SOLVING AND C PROGRAMMING BCA-112 * 019 * 043	062 4 A 8 32
APPLIED MATHEMATICS BCA-113 * 023 * 038	061 4 A 8 32
BUSINESS COMMUNICATION BCA-114 * 022 * 036	058 4 B+ 7 28
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 * 014 * 031	045 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116	041 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 * 013 * 027	040 1.5 A+ 9 13.5
BUSINESS COMMUNICATION LABORATORY BCA-118 * 014 * 032	046 1.5 0 10 15
First Semester SGPA : 8.045 Credits Earned/Tota Total Credit Points: 177	1 : 22/22

	S	avitr	ibai P	hule		Unive	ersity	,		18-Jun-2021
			:_2019Pa College	attern	(CRED		TERN)			18-Jun-2021
CAAP010790-MCE	SOCIETY A		AMDARS		OLLEG	E OF AR	TS,SCIE	INCE A	AND (	COMMERCE AZAM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt
PRN: 1342000647 BANO										Mother - TABASSUM
FUNDAMENTALS OF BCA-111	COMPUTERS * 027 *					090	4	0	10	40
PROBLEM SOLVING BCA-112		GRAMMIN 070	G 			093	4	0	10	40
APPLIED MATHEMA BCA-113	TICS * 025 *	057				082	4	A+	9	36
BUSINESS COMMUN BCA-114	ICATION * 023 *	053				076	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTERS			031		046	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATORY	*	015 *	029		044	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	FICS LABOR		014 *	028		042	1.5	A+	9	13.5
BUSINESS COMMUN BCA-118	ICATION LA		Y 015 *	031		046	1.5	0	10	15
First Semes Total Credit Po	ter SGPA : pints: 209	9.500	Credits	Earned	/Tota	1 : 22/	22			
PRN: 1342000648	Seat no				слит	 1 сарти	 Moth	 1er -	DECI	лмл
FUNDAMENTALS OF BCA-111						073	4	A	8	32
PROBLEM SOLVING BCA-112	AND C PRO * 022 *		G			072	4	A	8	32
APPLIED MATHEMA BCA-113		041				067	4	А	8	32
BUSINESS COMMUN BCA-114	ICATION * 028 *	041				069	4	A	8	32
FUNDAMENTALS OF BCA-115	COMPUTERS		TORY 014 *	033		047	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATORY	*	014 *	029		043	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LABOR		014 *	027		041	1.5	A+	9	13.5
BUSINESS COMMUN BCA-118	ICATION LA		Y 015 *	032		047	1.5	0	10	15
First Semes Total Credit Po	ter SGPA : pints: 185	8.409	Credits	Earned	/Tota	1 : 22/	22			
									••••	

		Ledger(O				
CAAP010790-MCE SOCIETY AE			LEGE OF ART (0221)	S, SCIENCE	AND COMME	RCE AZAM CAMPUS
INT Min 012 Max 030	TH INT 028 006 070 015	014 00 035 00	00		d Grd Crd Pnt Pnt	
	.: 835 NAME:				Mother - I	HANEEFA BEGUM
FUNDAMENTALS OF COMPUTERS			002	1 0	10 40	
BCA-111 * 026 * PROBLEM SOLVING AND C PROC	066		092	4 0	10 40	
BCA-112 * 027 *			073	4 A	8 32	
APPLIED MATHEMATICS BCA-113 * 027 *	042		069	4 A	8 32	
BUSINESS COMMUNICATION BCA-114 * 029 *	049		078	4 A+	9 36	
FUNDAMENTALS OF COMPUTERS BCA-115		033	047	1.5 0	10 15	
C PROGRAMMING LABORATORY BCA-116	* 014 *	029	043	1.5 A+	9 13.5	
APPLIED MATHEMATICS LABORA BCA-117	-	027	041	1.5 A+	9 13.5	
BUSINESS COMMUNICATION LAE		032	047	1.5 0	10 15	
First Semester SGPA : Total Credit Points: 197	8.955 Credits	Earned/To	otal : 22/2	2		
PRN: 1342000650 Seat no.	.: 837 NAME:	SHAIKH SA	ALAATH KHAL	EEL Mot	her – SHAB	ANA
FUNDAMENTALS OF COMPUTERS BCA-111 * 027 *			087	4 A+	9 36	
PROBLEM SOLVING AND C PROC BCA-112 * 025 *	GRAMMING 046		071	4 A	8 32	
APPLIED MATHEMATICS BCA-113 * 028 *	034		062	4 A	8 32	
BUSINESS COMMUNICATION BCA-114 * 027 *	059		086	4 A+	9 36	
FUNDAMENTALS OF COMPUTERS BCA-115		033	047	1.5 0	10 15	
C PROGRAMMING LABORATORY BCA-116	* 012 *	032	044	1.5 A+	9 13.5	
APPLIED MATHEMATICS LABORA BCA-117	ATORY * 015 *	032	047	1.5 0	10 15	
BUSINESS COMMUNICATION LAE	BORATORY * 014 *	034	048	1.5 0	10 15	
First Semester SGPA : Total Credit Points: 194.		Earned/To	otal : 22/2	2		

CAAP010790-MCE SOCIETY A	ABEDA INAMDAR <sup>®</sup> S	ENIOR CO PUNE .	DLLEG	-	S,SCIE	NCE A	AND C	COMMERCE AZ	AM CA	MPUS
INT Min 012 Max 030	TH INT 028 006 070 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt		
	0.: 839 NAME:					her -	~~~ SAE			
FUNDAMENTALS OF COMPUTERS BCA-111 * 026 *				092	4	0	10	40		
	GRAMMING 048			074	4	А	8	32		
	036			065	4	А	8	32		
BUSINESS COMMUNICATION BCA-114 * 030 *	· 053			083	4	A+	9	36		
FUNDAMENTALS OF COMPUTERS BCA-115		031		046	1.5	0	10	15		
C PROGRAMMING LABORATORY BCA-116	* 015 *	029		044	1.5	A+	9	13.5		
APPLIED MATHEMATICS LABOR BCA-117		034		049	1.5	0	10	15		
BUSINESS COMMUNICATION LA BCA-118		034		049	1.5	0	10	15		
First Semester SGPA : Total Credit Points: 198		Earned/	'Tota	1 : 22/22	2					
PRN: 1342000652 Seat no	.: 840 NAME:	SHAIKH	SHIF	A RIYAJ	Moth	ier -	SAMI	NA		
FUNDAMENTALS OF COMPUTERS BCA-111 * 028 *				088	4	A+	9	36		
PROBLEM SOLVING AND C PRO BCA-112 * 027 *				075	4	A+	9	36		
APPLIED MATHEMATICS BCA-113 * 028 *				077	4	A+	9	36		
BUSINESS COMMUNICATION BCA-114 * 029 *	050			079	4	A+	9	36		
FUNDAMENTALS OF COMPUTERS BCA-115		033		048	1.5	0	10	15		
C PROGRAMMING LABORATORY BCA-116	* 015 *	035		050	1.5	0	10	15		
APPLIED MATHEMATICS LABOR BCA-117	ATORY * 015 *	030		045	1.5	0	10	15		
BUSINESS COMMUNICATION LA BCA-118	ABORATORY * 014 *	034		048	1.5	0	10	15		
First Semester SGPA : Total Credit Points: 204		Earned/	'Tota	1 : 22/22	2					

СААР010790-МСЕ	SOCIETY	ABEDA 1		ENIOR C	OLLEG	E OF ART	s,sci	ENCE A	ND (	COMMERCE AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Pnt	Pnt	
PRN: 1342000653											
FUNDAMENTALS OF BCA-111						080	4	A+	9	36	
PROBLEM SOLVING BCA-112	AND C PF * 024	ROGRAMMI * 042	ING 			066	4	A	8	32	
APPLIED MATHEMA BCA-113		* 038				065	4	А	8	32	
BUSINESS COMMUNI BCA-114		* 042				071	4	A	8	32	
FUNDAMENTALS OF BCA-115	COMPUTER	RS LABOR		031		046	1.5	0	10	15	
C PROGRAMMING LA BCA-116	ABORATORY		* 015 *	026		041	1.5	A+	9	13.5	
APPLIED MATHEMA BCA-117	FICS LABC		* 014 *	033		047	1.5	0	10	15	
BCA-118	Min       012       028       006       014       000       Pnt       Pnt         Max       030       070       015       030       000       Mother       TALAT         UNDAMENTALS OF COMPUTERS       * 027 * 033          080       4       A+       9       36         ROBLEM SOLVING AND C PROGRAMMING       * 024 * 042         066       4       A       8       32         PPLIED MATHEMATICS       * 027 * 038         071       4       A       8       32         UNDAMENTALS OF COMPUTERS LABORATORY         071       4       A       8       32         UNDAMENTALS OF COMPUTERS LABORATORY         071       4       A       8       32         UNDAMENTALS OF COMPUTERS LABORATORY         071       4       8       32         UNDAMENTALS OF COMPUTERS       LABORATORY         015       10       15         FROGRAMMING LABORATORY         *014 * 033        047       1.5       0       10       15         VUNDAMENTALS OF COMPUTERS										
Total Credit Po	oints: 19	90.5									
											NO
FUNDAMENTALS OF	COMPUTER	RS									ino
PROBLEM SOLVING	AND C PF	ROGRAMMI					-			-	
APPLIED MATHEMA	TICS							-	-	-	
	CATION							-	-	0	
FUNDAMENTALS OF BCA-115				029		043	1.5	A+	9	13.5	
C PROGRAMMING LA BCA-116	ABORATORY		* 014 *	026		040	1.5	A+	9	13.5	
	TICS LABO		* 014 *							15	
BUSINESS COMMUNI BCA-118				030		045	1.5	0	10	15	
			· Credits	Earned,	/Tota	1 : 10/2	2				

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$  $\sim \sim \sim$  $\sim \sim \sim$ ~~~~  $\sim \sim \sim$  $\sim \sim \sim$ PRN: 1342000655 NAME: SHAIKH YUNUS BILAL Seat no.: 846 Mother - UZMA FUNDAMENTALS OF COMPUTERS 055 BCA-111 \* 029 \* \_\_\_ \_ \_ \_ 084 4 A+ 9 36 \_\_\_ PROBLEM SOLVING AND C PROGRAMMING \* 026 \* 056 082 4 9 36 BCA-112 \_ \_ \_ A+ APPLIED MATHEMATICS \* 028 \* 049 4 BCA-113 077 A+ 9 36 \_\_\_ \_ \_ \_ BUSINESS COMMUNICATION \* 028 BCA-114 \* 046 074 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 048 10 \* 015 1.5 15 BCA-115 0 \_\_\_ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 015 \* 032 \_\_\_ 047 1.5 10 15 BCA-116 \_\_\_ \_\_\_ 0 APPLIED MATHEMATICS LABORATORY \* 014 \* 032 15 BCA-117 \_\_\_ \_ \_ \_ 046 1.5 0 10 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- \* 014 \* 031 \_\_\_ 045 1.5 0 10 15 First Semester SGPA : 9.091 Credits Earned/Total : 22/22 Total Credit Points: 200 PRN: 1342000656 Seat no.: 847 NAME: SHAIKH ZAID ZAKIR Mother - SHABANA FUNDAMENTALS OF COMPUTERS \* 028 \* 069 097 10 40 BCA-111 4 0 PROBLEM SOLVING AND C PROGRAMMING BCA-112 \* 023 \* 050 \_ \_ \_ 073 4 А 8 32 APPLIED MATHEMATICS BCA-113 \* 029 \* 055 084 4 A+ 9 36 \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION \* 048 074 4 8 32 BCA-114 \* 026 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 10 15 BCA-115 \_\_\_ \_\_\_ \* 014 \_ \_ \_ 047 1.5 0 C PROGRAMMING LABORATORY \* 014 BCA-116 \_\_\_ \* 020 034 1.5 A 8 12 \_\_\_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 014 \* 031 045 1.5 10 15 BCA-117 \_\_\_ \_\_\_ \_ \_ \_ 0 BUSINESS COMMUNICATION LABORATORY --- \* 015 \* 031 BCA-118 \_\_\_ \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 8.955 Credits Earned/Total : 22/22 Total Credit Points: 197 

CAAP010790-MCE	SOCIETY A			-	OLLEG		TS,SCIE	NCE A	ND C	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot		Grd	Grd Pnt			
PRN: 1342000657							Mother	- ZA	RINA	A		
FUNDAMENTALS OF BCA-111		052				080	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PRO * 023 *		G 			073	4	А	8	32		
APPLIED MATHEMAT BCA-113	FICS * 028 *	035				063	4	А	8	32		
BUSINESS COMMUN BCA-114		043				072	4	А	8	32		
FUNDAMENTALS OF BCA-115	COMPUTERS			031		045	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATORY	*	012 *	023		035	1.5	А	8	12		
APPLIED MATHEMAT BCA-117	FICS LABOR		014 *	030		044	1.5	A+	9	13.5		
BUSINESS COMMUN BCA-118	CATION LA		Y 015 *	034		049	1.5	0	10	15		
First Semest Total Credit Po			Credits	Earned,	/Tota	1 : 22/2	22					
PRN: 1342000658		.: 850	NAME:	SOLANK	I CHE	TNA KISA	AN MO	ther	- J/	YOTI		
FUNDAMENTALS OF BCA-111	* 027 *					089	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PRO * 024 *		G 			076	4	A+	9	36		
APPLIED MATHEMA BCA-113		036				064	4	А	8	32		
BUSINESS COMMUNI BCA-114		063				091	4	0	10	40		
FUNDAMENTALS OF BCA-115	COMPUTERS			033		048	1.5	0	10	15		
C PROGRAMMING LA BCA-116		*	014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT	FICS LABOR		015 *	022		049	1 5	0	10	15		
BCA-117 BUSINESS COMMUNI			015 * ~	033		048	1.5	0	10	15		
BCA-118			015 *	033		048	1.5	0	10	15		
First Semest Total Credit Po			Credits	Earned,	/Tota	1 : 22/2	22					

.....

### BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Oct-2020)

CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim$ ~~~ ~~~~  $\sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000659 NAME: SUFIYAN SIDDIQUI Mother - NOUSHEEN JAHAN Seat no.: 851 FUNDAMENTALS OF COMPUTERS 048 BCA-111 \* 025 \* \_ \_ \_ \_\_\_ 073 4 A 8 32 \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING \* 052 \* 022 074 4 8 32 BCA-112 А APPLIED MATHEMATICS \* 029 \* 028 4 BCA-113 057 B+ 7 28 \_\_\_ \_ \_ \_ \$ BUSINESS COMMUNICATION \* 029 \* 035 \_\_\_ 064 4 8 32 BCA-114 \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY \* 033 048 1.5 0 10 15 BCA-115 \_ \_ \_ \* 015 \_ \_ \_ C PROGRAMMING LABORATORY \* 029 \* 015 BCA-116 \_ \_ \_ 044 1.5 A+ 9 13.5 ---APPLIED MATHEMATICS LABORATORY \* 014 \* 028 042 1.5 9 13.5 BCA-117 \_ \_ \_ A+\_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION LABORATORY \* 015 \* 032 047 1.5 10 15 \_\_\_ 0 BCA-118 \_ \_ \_ \_\_\_ First Semester SGPA : 8.227 Credits Earned/Total : 22/22 Total Credit Points: 181 \$ 0.1 PRN: 1342000660 Seat no.: 852 NAME: SYEDA FAIZIA FATIMA KALEEM Mother - SHAMSHAD FUNDAMENTALS OF COMPUTERS \* 066 10 096 4 0 40 BCA-111 \* 030 \_ \_ \_ \_\_\_ \_\_\_ PROBLEM SOLVING AND C PROGRAMMING 071 BCA-112 \* 021 \* 050 4 A 8 32 APPLIED MATHEMATICS BCA-113 \* 027 \* 052 079 4 A+ 9 36 BUSINESS COMMUNICATION \* 052 BCA-114 \* 029 081 4 A+ 9 36 FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 \* 014 \* 030 044 1.5 9 13.5 \_\_\_ A+ \_\_\_ \_\_\_ C PROGRAMMING LABORATORY \* 012 \* 026 038 BCA-116 1.5 A+ 9 13.5 \_\_\_ \_ \_ \_ \_\_\_ APPLIED MATHEMATICS LABORATORY \* 014 \* 029 043 9 13.5 BCA-117 \_\_\_ \_\_\_ 1.5 A+ \_\_\_ BUSINESS COMMUNICATION LABORATORY \* 015 \* 032 047 10 BCA-118 \_\_\_ 1.5 0 15 \_ \_ \_ \_ \_ \_ First Semester SGPA : 9.068 Credits Earned/Total : 22/22 Total Credit Points: 199.5 

CAAP010790-MCE	SOCIETY	ABEDA ]	COIIEGE INAMDAR S		COLLEG			ENCE /	AND (		AZAM CA	MPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt			
PRN: 1342000661 TABBASUUM	Seat	no.: 854	NAME:	UMAR	HUSAIN	ISHT	IYAQUE H	USAIN	~~~ MC	other -	FARHEENA	
FUNDAMENTALS OF BCA-111	COMPUTE * 027	-				093	4	0	10	40		
PROBLEM SOLVING BCA-112	AND C P * 025	ROGRAMMI * 036	ING 			061	4	А	8	32		
APPLIED MATHEMAT BCA-113	ICS * 027	* 029				056	4	B+	7	28		
BUSINESS COMMUNI BCA-114	CATION * 029	* 057				086	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABOF		033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATOR	Y	* 014 *	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LAB	ORATORY	* 014 *	033		047	1.5	0	10	15		
BUSINESS COMMUNI BCA-118	CATION	LABORATO	DRY * 014 *	031		045	1.5	0	10	15		
First Semest Total Credit Po			L Credits	Earn	ed/Tota	1:2	2/22					